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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / = 1ts A
5 5 5 5 Junsud 3x? +5x—2={}.—.~.hL-[3-a/l b
3 3 3 'y If a , B are the roots of P e slaatP
3x2 +5x-2=0 , then atP is :
best —_— o2l —‘-r_,.c;T The extent :wifjjz';l‘&{?‘ll;ﬂf{ !
o, Rsiioi M;)de iriagos of variation between two extreme
' & g observations of a data set is measured by :
Lff/(g’;_{unc_.ucur‘;JU"JJéd-f:‘).{i 3
0 0 0 0 Out of e bseemsilS K8,/ 27530° o0
- it 4y % two cqaé%@m arcs of a circle, if one arc
make a cefitral angle of 30°, then the other
arc will subtend the central angle of :
T =3
i ” o N :c.t‘LLp(JJGKJf/LU'IE’EJ{LLJH 4
u’L" S /1" ;_,"[u '?'\E\'\ b2 i 5 g
T . . — "~ The distance of any point of the circle to
angent Chord Diameter Bﬂ.\aﬁxg\ts_’,-_j - ‘s centre i-callod :
-,ff’,\;vhj e o FE5x% =15x 5
(0,3) {(15) (53 ko) y 2
A\ PV Solution set of Sx“=15x is:
AN —p= —cosec 45° = :
2 Jj- ‘JZ_ { tgﬁ;‘s‘ " I‘J:},_ 2
% = = ; 5 .
n 7 = T .;_dmlﬁud__:f;ds/;:ifrb“.__ﬁ 1
2 3 4 6 The measure of the external angle of a
regular octagon is :
w™ o @) w* w=: :
a_% a_y b_x fd g It :.:;.-_.:'..,w—;dg;ﬂa:b=x:yﬁ !
b y b «x a y a . x a: b =x .y, then invertendo property is :
Ut ax? +bhx+e =0 il (Fass 10
4 2 3 l The number of terms in a standard : :..'..:LLJJ
quadratic equation ax® +bhx+c¢ =0 is:
A B ¢ {!ﬁ} {‘:‘_ij_'_f.ﬁﬁB; A';B.rl Il
If AcB ,then A B isequalto:
Sy P S 73 o R PRI o 12
Centre Diameter Radius Chord A circle has only one ---- :
/._‘.,Qlj /-:f'?l-',':; _-;_,L‘L." R 2x +1 14 s 2x+1 13
Proper fraction | Improper fraction | An identity Equation (x+1)(x—1) ‘ T (x+D(x-1)
k 2 : . 2 14
I it = il u=~; i = kv If uocv” | then : Juov: i
s dE¥ Ikl Je | | _ 15
Domain Universal Singleton Empty {¢} is-——--set: edr - {g)}
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =iy A
1 = l mz i) w-mz = ]']
i Lo Ll By e _-,.ijf-fdlfic_h—:;%hlf’ L UiEx ,:'."‘Lf, :
. = Sum of the deviations of the b
Different Same One Zero variable x from its mean is always : i
Wl e Fr- A LU U Fs S e sl 3
75° 45° 60° 30° The length of a chord and Kot wetli$S
the radial segment of a circle are congruent;
the central angle made by the chord will be :
A(ON e bl S s | ¢
360° 270° 180° 90° S e P S i
A ¢'é11:i’1\9‘leié circle is divided into :
Ao 5
: 61 Th t et FH5x? =30x bl
(5,2) (3,2) (2,3) (0,612002° *“fuwz S
.1 () | solution set of equation 5x"=30x is: | °
1-tan® @ 1+cos” @ 1+tan® n,;.gf’f;*}'ﬁ\i 4 sec’ @ =--—-—--: 6
~\ON Lot bW SHELoinl S]]
] 4 2 Q™ ¢ How many common tangents can be i
| AN drawn for two touching circles :
4 7 ‘wv 4 { u.rruju.f. Tx2 —x+4= Oc.i:L—-Braﬁ $
= 4 7 — If @, P are the roots of P e slzaf ¥
7x? —x+4=0 then af is :
= 'IJU;‘."'.!J [j;&: JJ; .:‘:_':'lk{y{,ﬁxiyc*.{j §
Ratio Consequent Antecedent Relation In aratiox :y ,y iscalled :
10
The @ s f¥ax’-16=0=bl-
(2] (£2) {4} (£4} il )
solution set of equation 4x“—16 =0 is:
JB={3,58}sAa={2,3,5} |1
{2,3) {3.,8} {5.8} {3,5) IfA={2,3,5)and :ANnB=——-
B={3,58} thendnB=-——:
: . i B ] b
Uifu’,{ﬂo/ 5L L b F1-104 :'?—Ub/-—--’(’-/"u’uk"-.r' 12
No point at all Single point Twao points Three points A tangent line intersects the circle at ---:
iy i | Aemnd e el I
A aritit : A proper Ani . (x+D(x=1) : (x+1)(x=1)
An identity An equation g by e
xv2=] xuzzk x:krz :c=v2 [fxacvz,lhen: :?xocvzxﬁ i
(9 (g.(a)} | (a) ¢ b aferds | B

Power set of an empty set is :
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question. .
D C B A Questions / =ii» w7
* fony Xy w The eW—AFUBZUmxiyuviw -l
vy . v X fourth proportional wof x:y:v:iwis :
i) =5y e av$s) F | Adatain the :f.,r!lf:_iru‘iuﬁ;dif‘:jdrﬂ 2
Grouped data | Histogram Range Un%rﬁgpm form of frequency distribution is called :
Ufjif‘_-;!-hﬁ,;‘l.{L)k/lr-‘g!bfbuslfju:q..jh_gf 3
o o . . The length of a chord Erasi$ S,
75 60 45 30 and the radial segment of a circle are
congruent, the central angle made by
the chord will be :
A __'J‘ ..'I = g 7 - - o’
Je ¥4 ) L \\- S et ab?&’/‘!é'{u” :
i - Th;(a&g}a how many non-collinear points
Four Three Two One _ (o dar a circle pass :
__(-\_ “\ .;- + -
4 7 A :,@\_) Juns Ll ?.1'2 -x+4= OQIJL—‘[}*‘(}L" ! 5
— — — P b-” If @, P are the roots of D esizap
do -~ 7x° —x+4=0 then af is :
3600 630 360° GV 12000 20°=———: 6
7 JV ._ :?}\ 4 :::'_':Ik-(hfif;.fb 7
Chord Tangent --éé;g&néni Boundary The circumference of a circle is called :
- 1 1 1 1|8
afl aff a f a a  f a p
A 2 ik i ds a Lazbiicid F 9
o oA g R :
Third ; . ) Ina proportiona:b:c¢c:d,aandd
; Extremes | Fourth proportional Means
proportional are called :
2 _ 2: 2+ + o= bx+€=0, 10
ax” =0,a=Q o s B St :a.fg,b_w&:,ht_-d.;m
a#0 a#0 b#0 Standard form of quadratic equation is :
& B 1g = = s e tnitbhe lSi beado | 1)
Place Origin Ratio Value Mean is affected by change in ---- :
J}l? k?‘f: Ijji;‘/:a J’f .g&?;—,ﬂ'--quﬂu‘iTJuig{u!/dr—ﬁL.‘_;U |2
. ) Tangents drawn at the ends of diameter
Parallel Collinear Non parallel Perpendicular | of a circle are --- to each other -
. 3
{ ¢.1a}} {a) { P} @ Z?f’ﬂ;—f_’;lkfﬁ.—fdb 13
Power set of an empty set is :
rood Wi ondl L F 2560 A S| 14
ol ¢ i B : B
- =V =il /rh.-"-" A fraction in which the .l;.dlkr ¥l
ﬁ_p t‘pc Identity Equation Proper fraction | degree of the numerator is greater or equal
uesn to the degree of denominator is called :
i ¢ B A etnpzA N BinacB /1| P

If AcB then AN Bisequalto:
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =iy 7
m_,ﬁac:b::a:h=b:c..._zb:'d')/ I+l
Means Fourth Third Second In continued proportiona:b=b:c,
ac=b> bis said to be --- proportional
between a andc:
; s " 2
23k u}lifdiff S5 ksl ; ‘F’%MKJ*"’C{[”J{
Di . The spread or scatterness of observations
Mode Central tendency ispersion Average in a data set is called :
Lﬁf/f/@,ﬂw‘éfc_400~shd) |3
80° 60° 40° 20° aégsménds a central (e Lsoeee st
£40° then the currespomfmg chord
Wct ubtend a central angle of :
e L,f 2 o Of N\ ) : C-L'Jlrc_bﬁ'UL’f/é’u/h 4
- = (CrY Through how many non-collinear points,
Four Three Two Ofe.—~ can a circle pass :
a'xl +hx+e= 0‘ axz | bx" ( r ‘Qi(}c 0 LLFL;JL"‘J '.'QL"L;.-‘”J 5
=0,a= 0 o
a=0 a#0 ~\¢ NP %0 Standard form of quadratic equation is :
cosd ac? a2 2 + — = e
e | I8 el 1+sind  1_sind
~/ "é IPEJNJPZLU!;:TJL.HL//!J 7
4 3 2 1 H-aw many common tangents can be
drawn for two touching circles :
u=vk u=wk u = vk’ u=wk> Tf—=——f( then : Jnt=Y =k Ji 8
vV _w vV w
B0 F-7 [t x¥y | 4N ab | esddwirab=xip |’
i Y b ¥ 2 7 Eity a:b=x:y ,then alternendo property is :
i . 10
S 2 l-_l mj—wz . lgw,'_(ﬂz Ea 1 e .w.fﬁll-?ﬁ ok 1
Lo Cube roots of — 1 are :
£ e\ IE = =d e bl i SR bl [ 1]
Place Origin Ratio Value Mean is affected by change in - :
Ul o Y i =LY L e Bheleinfi | 12
o Two tangents drawn to a circle [ fd-#——
Iriple Double Equal Half from a point outside it are of---- in length :
e oSl erm L {1,2,3} |13
9 8 6 4 The number of elements in power set of
£1,2,3 1} is :
; S 3 3 3 14
At [ e | e | g | P Pa
Anf ImpeopCr A constant term | Anidentity | A proper fraction | (x—1)(x+ 2) l T (x-D(x+2)
raction
v 11 Il I 4 et (—1,4) 5| 15
Point (— 1, 4 ) lies in the quadrant :
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =y Rr
W ,m?‘ l.—@ l,@ {.=1 E;ﬁd‘/ui.gnﬁdﬂ -]
Two square roots of unity are :
}r/ p 73 35&5 :.t'r------gﬁa.ﬂn...sﬂfd_.fhuﬁ 2
Centre Diameter Chord Secant A circle has only one - °
Lesidle -] eSSy bl ek bzlalily 4k
: . _ Central The spread or scatterness of observations
Mean Dispersion tendency Average in a data set is called :
" < : I\ y 3 {12 s (1] 4
P ﬁ? 3 7 Thu_v;:?dr; ,}f,lf;bbg!j{_;i skl
Diameter Sector Segment Chord Mcfrg{é?;g;doa: ;gclfcaif‘éﬁ;ecn te Ul e
(x+8).11(x+T7) (x—8)(x-7) (x=8)l(x+7) |  (x+8)ust(x=T) ;;\f fﬁ Gos ,_f, ,‘:: x° =15x + 56 5
Gy (et | e-Dakx-8) [Gex-8)| NaEH Ig \ﬁo linear factors of x” —15x+56 are :
A_B é B q ,rf'\\ ’ etwsAUBInAcB /|6
\ S If ACB ,then AU B is equal to :
i . . Line segment joining any point of the
Perimeter Circumference Dlametl@ﬁé.\ \th ial segment | circle to the centre is calied :
)
S B (@ I wr b el btazbiic:d s 8
Fourth Third S l;-;:;;%n:emes M;ans' Ina proportion a:b::c:d, b and
proportional proportional | 1 ¢ are called :
L) ; e LSS f e F st ik | 9
2 gt S J The arcs opposite to 01 Y .
Perpendicular Parallel Incongruent Congruent incongruent central angles of a circle
are always :
| i ={00,2),(2,3),(3,3),(3,4) }.fi | 10
t0,2,3) 10.2,4] 12,3,41 L0340 Thedomamot r_anomRir
={(0,2).(2,3),03,3),(3,4) }is:
umfs,u!:x —x-1=0=isl» [3:(1/"* 1l
-4 4 2 -2 Ifa,p etwe L b8 2Bs2a)
are the roots of x* - x~1 =0, then
product of the roots 2o and 2 is :
v =k yr=o = ek et e dnylat Sif T
x x X X
fu Cso G ¥, L die ok Sy | 1B
Triangles Circles Rectangles Squares A histogram is a set of adlacent s
3 51 1 0 e PSP LS |
Product of cube roots of unity is :
155" 150° 30° 115° TR- radians = : = f & _?%r_ B
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / = Ui P
3
x”+1 -]
:,r E:r" & f ; :"C"'"""'"":I
) . /.-e—?"/-:’ Sty (x—1)(x+2)
Agonghnt An identity AR IMpIUger | o proper fraction x> +1
term fraction P . S i S SR
(x=1)(x+2)
secant §_/i» | tangentfe_si» | cosine ¥e/h gt % :L,Eé{uﬁ_,‘/;}‘ﬂ.a}nib—&p.ﬁhﬁfﬁ_g ;
2
Secant of a Tangent of a Cosine of a Sine of a.ci A line which has two points in common with
circle circle circle ine of a circle acircle is called :
) Lfsl-_ﬁ:'ff ilees sl :%%*JULT;/TUEJL#‘;}F?AU‘I 3
Mean Harmonic mean Median Mode Elzﬁggf}s - ;":Jlt:mm"mg observation:in a
Ao’ - —— = :
L_r’z Lf‘l Lf3 Lf‘4 0‘3 i\\&dﬁﬁi& f'u«f.d...zhdlrji_;/ﬁ’ﬁcﬁ.ﬂ;..&:! 4
_ _ _ 250 The length of the diameter of a circle s
2 times 1 time 3 times 4 time§7~ | how many times the radius of the circle :
. _,;;@\\‘vhj UEE;.)LL)’JP:(.:J:LJ&;JJJ 3
4 A . {i‘.‘:j""’ﬂ The number of methods to solve a
AN quadratic equation is :
7 f\';"-\\‘x - =
> e QoIS l e L {1,2,3 4|9
9 8 ‘&Té; 4 The number of elements in power set
AW §1.2,3}is :
e B4 02 w s Through how '.c.‘f_LTJ} ;-_J,L:i?ub /_-f:':fa}b L
Four Three Twa Ohe many non-collinear points can a circle pass:
11 3 ¥ L2 el x5 15 §
4 3 4 Find x in proportiond :x::5:15 :
. :c;_t'ﬁ__u:fsiid?’/ﬂf...iﬁ"é:d._;b ?
360° 270° 180° 90 3 .
The semi circumference and the diameter of a
circle both subtend a central angle of :
{ s ebnss ANB ?ﬁAgBﬁ 10
(¢} ? B A ' g
If A< B,then ANB isequalto :
" ) 1
®.0° 1,-o |, Y=l G el g6 | 1
g Two square roots of unity are :
1 2k 2 1 -G 1 12
'].'2 :k'\.‘s }‘,223’2 }:2 :—{ yh=-w—j- Ify ':C"'—J' ‘thel'] . ,,iﬂ-}f 0’.:—3 /rl
x x X X
sl KU 1) KU . ; ﬁq..-&f.’ij}o)( 13
Data Circles Rectangles Squares A histogram is a set of adjacent :
2 N — L —1,~ m:—mz Zg:t'.?—ﬁf.fig£ ~1|H
L-o-o L=a,2 e Cube roots of — 1 are .
] -1 0 tand cosec’@—cot® @ = — ———: 13
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
wo or more circles will result in_zero mark in that question.
D ¢ B A Questions / =i F 74
0 29 2cos? @ 25ec? WS, S H
cos s* 2 2sec” : A e e
e il b 1+sin@ 1-sin@
) u v “d ¥
u=vk u=wk u=wk? u=vk" If —=—=k  then : /== —=¢% f' .
VW v__w
!’u;'ﬁ' FL,.'i;{J 'fw&f"’ h“uﬁf : .la".?..;;?'_f-‘JK j
Triangles Circles Rectangles Squares A histogram is a set of adjacent :
7 P " P lﬂgwﬁﬁﬁ;;%sijdjﬁéﬂw.g i
.6 :I 2 5 Th;;-{f\“ﬁ‘;ﬁa’re‘ of the external angle of a
regular hexagon is :
b ..:,.,_l"n; ._*.:'_'._gb __0_.:"3; < {:\? \@t\bénllecﬁon i ?.;MJJ{K&?ISU 5
Set Power set Proper set Subset~ . > | of well defined objects is called :
A~ o Lo
’ : ,-i\\i/&/ L{Ié,}é&z_f(ffc.uv&uu 6
4 . - féjﬂ The number of methods to solve a
AN, quadralic equation is :
secant¥e_/1s | tangent ¥/ | cosine @3 'sint: K2, EnSPBLordLe k|
Secant of a Tangentofa | Cosingofa : . % A line which has only one point in W
circle circle f-C?Em:Ie Stne of a circle common with a circle is calllfd :
J
(x+8)4(x+7) (x—8)si(x~T) ~8)(x+T7) (x+8)l(x-T7) qu/’._ai;‘,,_{,,L xz ~15x + 56 8
(X+7) & (x+8) (-N&(x-8) | (D& KB D&+ Twao linear factors of x2 — 15x+56 are :
& > - - -~
=k A2l =hiles ff—.-"-r’.f:' S IR 2 ?
Identity A proper fraction | An equation' | AT Improper (x+1)(x-1) (x+1)(x=1)
2 : o 10
TN -l-a.0° | .~ -l,~-m-o .4_;?-.-:‘1'“?4_ -1
L-w-o ) il Cube roots of — 1 are :
\ : 1l
AU(BUC) | ArBIAARC) | A (BAC) | (AuByaue) g-brlL AU(BNC)
( )|« A ) BTG | Au(BNC)isequalto :
, . |t et T
gz i g J A pair of chords of a LYt
Parallel Overlapping Incongruent Congruent circile subtending two congruent central
angles is :
=k HE t.'r'a’t-":f/’ b sl : g_ﬂk(s'il_f{bf:.-u[_ﬂﬁrf i
o _—— Central _ The spread or scattering of observations
Median Dispersion tendency Average in a data set is called :
- AFE ey e Wl e btaib:iic:d | B
Third Fourth Fxtre’m‘-; M; 4 Ina proportion a:b::c:d, b and
proportional proportional ; 5 S c are called :
O 1 i o : eobd s Spfa | 1

The symbol for a triangle is denoted by :

273-020-1-(Objective Type)- 25000 (7193)




LHR-lo-GL-20

(el eaB Ay Y e emremmeirirmmererwemmef U
V) FL

(2018-2020 ¢ 2016-2018 ¥ & )
MATHEMATICS (SCIENCE)
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(Maximum Marks : 15) PAPER CODE = 7192 15 :ﬁ"f

i
R

Z..,r:r:fi:c,;_,':‘_r,}ni?._.:&viwr;¢Q{Qii_££a:: DusCe B s A.-:-i,lﬁ.'-ﬁ,igﬁdlr_.r
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / = v i7
; 2 1-1
[ — = .'_",l
+9 (421 (43 (£4) I'he §.....:'J’b/4x 21.6 0= tsls
solution set of equation 4x° —16 =0 is:
- G 2
4 " 4 1 FUnS il Tx? - x+ 4= G..'.«FJL»‘B-(I/rl B
- = = s [f o, P are the roots of D esraf
1 4 7 7 2 e
7x” = x+4 =0 then af is :
o l.—w 1 @ i =il ’ . Zu?d’/ibﬁgudcg’ﬁll 3
['wo squafe roots of unity are :
TON=D 1
12 3 - i NE P x5 15 |
4 3 4 Hingd X in proportion 4 :x::5:15 :
. ]II - =
h_y a+h L. E"_z_!iﬁ(\ﬁ(g 2% | S r-_..:.-r’u"gﬂﬁa ch=x:v S}
- P A ; : "
a x b a=b x-y EAYT " [ a:b =x:y, then invertendo property is :
P 3
RN x +1 ﬁ
- = - . — 'd'pf;o -
AL Szl &y S Lyt ympe——
: il =L d _"*'?l'/f : Q\x At (x=1)(x+2)
consant An identity AR llmp:_'np\@) “A proper fraction x? 41 ;
term ﬁa&@/ : g
PN, (.\"‘"])LX"‘E]
i “‘.‘ )- 1 !
o S e &yiE\;l»_,_.u‘? LS S s et {xixeW Ax<10] K
Finite set Null set Subset Infinite set The set {x|xeW Ax<101} is :
iborsiz A UB Jusmar (7> 7 BoAS1 |8
BuA ¢ B A If Aand B are disjoint sets, then A U B
1S equal 10 :
KU sl &'u.!’:"’:"‘ s s : yi‘-;fﬁd# 9
Triangles Circles Rectangles Squares A histogram is a set of adjacent :
0% e o fua o Jdd The extent :V_?.fffu")é.;.ugjl?l;;ﬂrf 10
: Quartile . of variation between two extreme
Domain Range Average observations of a data set is measured by :
36° 150° 135° 115° i radians = =L ks x 1
4 " 4
d’gg b P Sl 2?W{;JUIJ;_;JJ‘;. .'f/'[_r‘_.;h 12
Secant Circumference Diameter Radius tl::!grfs Eﬁf‘:ﬁg:‘hmu% Feocntre ofa
secant ¥<./i» | tangent §< 1 | cosine K /s i, &, iﬂ-‘ﬁ"ﬂ-ﬁdﬂivim}m’uﬁﬁ.ﬁ 13
Secant of a Tangent of a Cosine of a : . A line which has only one point in W
b circle circle PRI GERe: | omman with a circle is called : -
S5 iz u;‘:;_/!‘ J*LF‘ u‘r;fajwaj_c.usx':uozé.ﬂ}d'fréJ Ly | 14
o ey A pair of chords of a circle Ure
Parallel Overlapping Incongruent Congruent subtending two congruent central angles i -
z od i T te st Lo Fis | 15
5 4 3 2 Angle inscribed in a semicircle is :
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(Maximum Marks : 15) PAPER CODE = 7191 15 A

L.fif&-‘::c.a_):u:;f?f:fd_.J.";‘.L-Ldlrﬁ.aéfé'ﬁuwi'@_.J DusCe B « A&'}'ﬁ.’ﬁdkﬂid’fﬁ Ly
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.
D C B A Questions / =iy i7
2 » | I-
L— C!J,—(Hz == i, = &J,fvz - i, - ﬂ‘)..—wz - l’m’_w .ﬁ,f'-'fﬂla‘jfi ‘~ 1 I
Cube roots of *-1” are :
4 1 2 | @%}ZﬁL[J[&I}PGJJM -
) The number of methods to solve a
quadratic equation is :
. o % I e e 3
b* —dac -b% +4ac b? +4ac ~b*—4ac '+rﬁ'Ju/{m * bzx litas i
The discriminant of ax” +bx+¢=0 is :
I 0 \'. -
uv” =l uv? =k u=kv? u=v* Iffa(\'%\?é? then : Fue v 1|4
; ol
a-b_x-y a+b x+y o ﬂ=ﬁb_;\,-ﬁ‘ﬁ?—/ ‘L.:a-:-}df*l?a:b=x:y;l 5
X y b b x s P J .
» y C}%ﬁ‘\a ‘a:b=x:y, then alternando property is :
e - L 6
p e i }ﬁ%#*f : (‘_-_2 Li(x+3)2 = x2 +6x+9
Fraction Aniidentity | An equation [>) ﬂu‘a':f{j; (x+3)"=x"+6x+9 is
N I 11&{5\) 1 e enfBA-1,4) |
{\’SW Point (— 1, 4) lies in ---- quadrant :
QW eSSl e £{1,2,3) |
’ 8 6 4 The number of elements in a power set
0,2, 3 }is ¢
1 &r ! iy S SI—— ) 27 (Y-
Circle Square Rectangle. | Closed figure | A fiequency polygon is a many sided :
O ify 7 _ 10
30“ 600 450 gou . — " tdng — \[5)1
if tan@ = /3 then 0 is equal to :
sin@ 1 1 " 1
— ' secd cotf=——- :
cosf sin 8 cos il
- e % . i ] #, ]2
ey sl A o | e LB L
An arc A chord Diameter Radius T'he distance of any point of the circle to
its centre is called :
Sy - 7 e T (R Py Pl R
Centre Diameter Chord Secant A circle has only one ---- :
. u":’Ta:..L,_’}’-?-__r_'_u:.:supﬂé.ﬂ}d?//gfbbu 14
S > J J‘V-‘/f A pair of chords of a D B
Parallel Overlapping Congruent Incongruent | circle subtending two congruent central
angles is :
) ; BE L by S L il s | 15
4 ? o I How many common tangents can be
drawn for two disjoint circles :
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Q.Paper : 11 (Objective Type ) (U¥45)-019 GAS 7 ) iz gy
(Time Allowed : 20 Minutes) (oS 10 ) w220 1 =3
(Maximum Marks : 15) PAPER CODE = 7192 15 #F

Z.u_.lﬁ-:.-ruc_;_,ﬁwfbiiz,,:&:.bcCJlr',-:,;;éb’L_iiE-mé':.’c.:: DusCe B« A&b’i&?}kﬁdfﬁ 2
*If:’.';r‘-’.1-13-.,.-!ﬂu;.i.u!:_-u‘dfd'../(‘;):bﬂ_i.ff..;fu:flm'!):;. -g-ﬁ:ﬂ;@gfd:ﬂfﬁ.‘.i@&ﬁf
Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / =y 7
LEE})ZI&:L/L,P:{;J:L-‘L;;HJ -l
4 3 = ! The number of methods to solve a
guadratic equation is :
3 - 1 0 KA L6 | 2
Sum of cube roots of unity is :
o .0° l,-w 1. @ 1,-1 : u?d/"d?”&df' 3
Twao square roots of unity are :
— S0 ¢ S S : rr.l»’/a Sabed|!
Proportion Consequent Antecedent Relation In am@ﬁa b, a is called :
2 / P
X_:_ »* x2y? ¥ e ,1\@ q_..rwf' Kyt Jslx 5
X x? x% o 4% \3\111: third proportional of x* and y’is:
: LN bS8t 8GR S S5 | 6
Al ¢ A { i;li : Sabieli il T/
’ =t . b A fraction in which the :.:;..d Y e
X piager Anidentity | A" IMPrOPEr b {e cquation | degree of th tor is less than th
oction fraction , q gree of the numerator is less than the
; “/ degree of the denominator is called ---- :
. ’ 5, |F
f{a ?\}’ ¢ re b spfer i
t#) té.1a}} é‘rﬁ Power set of an empty set is :
te oy A UB JusmerS 3 4 BsAS1 |8
BUA ¢ B A If Aand B are disjoint sets, then A U B
is equal to :
fur fusis o U L e ok |9
Triangles Circles Rectangles Squares A histogram is a set of adjacent :
| 1 10
2 Z 3 ant + 3
cosd sec” @ 2cos“ @ 2sec” 0 i Aesing
3z |1l
30° 150" 135° FI5° if— radians = : P, i
@ 1L A y : q.ywé_.fgf,qw{ﬂ 12
The symbol for a triangle is denoted by :
S p 71 oL l g btemman Sl #¥e b L B
Centre Diameter Chord Secant A circle has only one —-— :
e Zed B s NMES U P e ikl | 14
The length of a chord :b':f..--,sljd,'f/
75° 60° 45° 30° and the radial segment of a circle are
congruent, then the central angle made by the
chord will be ----- :
i.clg:'_t:u’b’-r,‘f-*"gd:w;!u’_ﬂi_jru’u I3
4 3 2 ] How many common tangents can be JJ

drawn for two touching circles :
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:.:-eﬂﬁtﬁﬂ:ﬂi’ﬂbﬁylﬂwm;ﬁuﬁwlfﬁdir,fﬂéfdu -ALE MC B rA:aLM?L[J’fA /-_*U!r
bbb radb b eSS S pimlienti k|

D C B A Questions / =i -
B-A ¢ B A ‘e tnssA-Bie ASB fi| 1
If Ac B,then A—B is equal to:
{9} {$,(@} ¢ {a} ‘e-trrlberdl| 2
Power set of any empty set is:
Wl st | At | A |

gkl (x-D(x+2)

Constant term Identity Improper fraction| Proper fraction --——’-‘Z'L— :
(x — l}f}t + 2] 15 ﬂ-BII:

a-b_x-y a:b=x+y a_x a_b [::#:-j; i :if..q'ijf,&lpﬂa;bzx-_yﬁ 4
X -! i . ,‘T \‘\.
y Y % ¥ 5 2 If a: bfr%_,x:-;ﬂtﬁqnﬁzdltemando property is:
b_y atb _x+y a___X a_b - \r‘-’) ic,:-:*‘iff?:fa:b=x-y)’! 5
a x b y a-b x-y Xy LSS ; ’ . '
lﬁ:‘f =x.: ¥, then invertendo property is:
- .:_‘- \ --’! E;
1 1 A ;_/'j'] :_,.;;.T.;'." : i | uz + Bz
a+p (@+B)? -2a = a?-pS, o -4l 6
Bl 7g i %} | o + fRicqual to:
SO o ;
3 =3 ! N L] ALK AL G| 7
F;‘..f;_ A Product of cube roots of unity is:
ff\x}’ :;F.;fﬁJu:Egﬂ ax2 +bx+c=0 ehlefileG| 8
4 3 AN/ g 1 The number of terms in a standard quadratic

equation ax? +bx +¢ =0 is:

U E I VE e B Lo | 9
1 4 3 2 How many tangents can be drawn from a point
outside the circle?

e b ST K 3L S1oe 40° S TPE L | 10

60° 40° 20° 8¢ An arc subtends a central angle of 40° then the
| corresponding chord will subtend a central angle of:
sine be_ 7y tangent ¥ 7h | cosine ¥ 7b | secant ¥ /b W z tUﬂJ}"IvE:ni Ve ml skl 11

. . ) | A line which has two points in common with a
Sine of a circle | Tangent of a circle | Cosine of a circle | Secant of a circle | circle is called:

e defed o f | e nfls Il e gLi| 12
Double of the Halfofany |Radii of a circle are:
All equal All unequal diameter chord
NE) ! 1 1 cosecdse = 13
& 2 22 2 2
4 e = = et LSS bie| 14
Place Origin Ratio Value Mean is affected by change in:
=d 3l ek 4 et e LSS Laidle| 15
| Value Rate Scale Place Mean is affected by change in:

1011-X123-80000 pA



pA¢

W
A

1%

L

15

s (Fp) ”u"u

"‘-JJV

Objective Paper
Code

L2420 1= 7195

S

e BB IS AL 7 2rne ML s Ly Q6317 B ELEsD 41 C B A= By

A
I
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D _C _, B A : o Questlons / _.;Ulr JJF"/:
:vn_-‘ETrf byl _t ol Zlbos .:‘_t'll‘r._.udbnj&frf.qw 1
Harmonic I ] The measure which determines the middle most . :

|__mean Mean | Mode Median Iobservation in a data set is called: |

] :
| had 2] S ikl e b K oS /...us'jum-w/,, 2 |
| h'he union of two non-collinear rays, which have common .
; Aosdun | Aouee | Aomws | Assese ..]EEE’_BQ!ELIEEEHE‘! e e o i i |
i cos 6 sec2® | 2c0s28 2sec?f | I L. 3
R R P -'-"I Iismﬁ Irsmﬂ i

| ;- - - [—rr——— ;

i T e + P S LFWPB(—J‘//&J“EJL&/" 4
_Anare | Achord — Diameter |  Radius  The distance of any point of the circle to its center is calted

o = . -

: i ~ | 7 d’ﬁ'b 1 C\ e T R Y 7 T L

| Center Diameter Chord |  Secant A circle has only ng?\?/

' t | A=)

| l fd/su’ﬂ @fv’fgﬁ’-ﬁfﬁy".}r’fu}'bﬁn{gﬂ:_ﬂ'

! L] ! L] o -] O

: 60 i 43 30 . 15 {Out o igruent arcs of a circle, if one .c:._rﬂ._.sbd/}

I ' i a central angle of 30° then the other arc will

b 41 o d the central angle of: .

r , gndthe ¢ - T S

| i ‘ 3 ) “a.d.va’rLH_ ’JJ—(../'JJL"J,ELL- .fh.fl 7

! , The length of‘the diameter of a circle is how many times

| ! i " /thggadiusofthecircle? = =~ = . |

93 | (z3) | Y wii-| 8
P _ JThe solution wlofccll.ig_uiq x? -9=0is: _! -

A | 0l AT =5x +2=02 s,*..—-; 9

... el f“ Rational _ | Imaginary | ‘dryational [Rootsofithe cquation ““2_ 5"_ 2=0@re: ]

I ! SUCEE P S

| a+f @+PP-20f | —5+tay | al=p? al+p2=: 10

| | a® B | |

E w'-'*i I‘ J.*'J | ":; 2 ! b ULP’JJ{_ ¢clasac= b2 . a:b=b: C....-‘ivJy

| Extremes | Means f Fourth Third n continued proportiona:b=b:c, s bt |

o ooy lac=b2,bissaidtobe proportional betweenaandc. |
[ - i
| \_x:'{ I Xyv ! vy | Xy | e w_-f{:-ti?g'x:)'::v:wi 12
L X | v | The fourth proportional w ofx yuiviwis |
At . Py S RS T P, c_d[L,J;f[rc_df ujﬁ,ﬁj}: u—fk'uff/
A proper o ’ An improper A fraction in which the degree of numerator is less than the |
|__fraction | Anidentity | fraction ' Ancquation | degree of the denominator is called: Jr
| el e e
i | w2l sl G
CSuperset | Set | Power set _i__jl:l_lj_‘glj | A collection of weli defined objects is Li“!‘.‘d I .
tor | totan |ty | e oreaberds 1
E. |

| Power set of an empty set is: )

- R
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bAoA Lt e LI st WL g gV < JEL4sD 4l C B 'ﬁﬁ"a“-'ﬁkmfﬁ\/:}dv
M il R 2 SLSES e\ nhent - 1
D I B A Questions / =y ..ri’/
y bt bl b dse - s b2 /b? - dac A e drdidomn| 1
2 2 The quadratic formula is:
b Vb7 + dac b v/b? —dac i
i= e i D x= 7 B |
§ % p L e B Run AL 1l - xsa=0maBia i 2
] 1 7 B ] If ¢ B are roots of equation 7x2 —x+4 =0
then 'IIB is:
\ 3 -1 1 0 :;..;sflf'.,-q,i_-ﬁ;jl" 3
Sum of cube roots of unity is:
5 n > \ \I "
\ =t Fsﬁﬂ fa&: J" /»\/\‘6':}” :.r_rdf alfa:bes’| 4 }
Ralo Consequent Antecedent Relation In & ratio 3\:‘;&) a is called: J
12 3 L] i O@) g{ﬁxt,ﬁiizx::S:lSwF[ 5 P
4 3 " Nz @xinmpurﬁm#:x::i:l&:
- i . x4l
joA , B |Ax4B_C A B |, M@@C 'U-"d"'-qp———“;"'mr (x +1¥x~1) .
R T R AT R x 41
ﬁj ,Mﬂhﬂim:&m are of the form:
e or S SN AL LA
Empty set Set Powersét Sub set A collection of well defined objects is called:
U ¢ B A e tcANB I AcB fi| 3
llif AcB then AMB isequal to:
e &;ﬁuvz‘iﬁf ;E’[w iy e tiueduisnS | o
Histogram m {ﬁm Data A proupad frequency table is called:
—F 3t . = O cebie L StE _ wade| 10
Proportion Origin _ Ratio Value Mean is affected by change in:
I-tan?0 14cos’ 8 1+tan’ @ 1-sin? 0 sec’B= 1n
-e.};:-:a:?ﬁs’ da el vf»sfh 40 avnleing L n
M"‘" All unequal D““I.H‘ ' All equal Radii of a circle are:
P2 e 7 Ciws b Lo Ll 13
Center Diameter Chord Secant A circle has only one:
3 . Vil b e Fheadli¥ 60° {}Ef?ﬂ'ﬂjt_ﬂ"r 4.0 14
? ' A dcm long chord subtands acentral
angle of 60° the radial segment of this circle is:
ol i - A etk 7 15
Radius Boundary Segment Chord The circumference of circle is called:
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D C B A Questions / o Uy 7
ak bl wa_f:Tﬁ Ll %-Jﬂﬂidfu.bﬁ:iu:. ..,.-—'L).‘.')';’Jr 1
. y The most frequently occurring observation in a data
Mode Mean Harmonic mean Median set is called:
¥ LS 3 < e b2t o Ko fle bl QLK X Fd
) Sum of deviations of the variable X from its mean is
Different Same Zero One always:
30° 135° 150° 115* 3—;-radians = 3
13b ks s P Z+bM ) ﬂlsL;Jfa.-?:/ﬁ.{._}b 4
b ) A chord passing through the center of a circle is
Secant Circumférence Radius Diameter called: AN
oLk o ;
tangent b 7» | secant ¥ 7b | cosine ke Zb sine ¥ b e E‘.‘I.If(:- '@(W.Q.in Wl ML s Ll 5
Tangent of a Secant of a Cosine of a ) ) A line whi h hias only one point in common with a
circle circle circle Sine of a circle cing]@::{.’cﬁ.ﬁed:
, | i oA Bk s bl 60° Irnsdrati| 6
! + 3 3 1A 4om long chord subtends a central angle of 60°.
~ /509 |The radial segment of this circle is:
BNy . :
T R k3 gk 5 i bl ¥be S| 7
6 2 4 p [ G Angle inscribed in a semi-circle is:
PR Vo b E
; fj‘*f" 4 - :4.1I#|_fur’4_ﬁ ax? +bx+¢ =0 bl Bi| 8
4 3 20 1.~ [The number of terms in a standard quadratic equation
ax’+bxc=0 i .
T ]
3 -1 1 0 ' :‘;.;rf b’._.,:a ijgd:JKI 9
- Sum of cube roots of unity is:
. 1 . 2.0
2 2.8 | e e zlz 0 +P
a+B)° -2 o’ - - + a+p ‘ 10
@+P) P P o p? a? + B isequal to:
2_.2 | 3 2_k it 1) ol Lol @l o
y=x' | y=k y =30 Foog I T then: Y <3
15 12 4 3 , !g‘,{.‘r}""xgﬂtirx::s:l:i-,#h: 12
4 3 4 Find x in proportion 4 : x :: 5+ 15
3
G g X" +1
3 : —_——— | 13
P by A At et D +2)
3
Constant term Identity Proper fraction | Improper fraction Eﬁh is a/an:
Lk et % g e bbb e | 14
Super set Singleton set Subset Empty set A set with no element is called:
I AXB i 42 B el 3 L SbIA & 1| 15
) R 3 ? If number of elements inset Ais 3 and ‘¢ Sl J
in set B is 4. The number of elements in AxB is:
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A

er‘m,.mmﬁhtwa.f.p&fw;fwﬁ.&k._ﬂ A

— : - I =
D | C | B fk _ _gmlinns f_ ._:dllr ..-F/,"
F Leadd | s o ) Wi | 1

Rectangle an‘g-w ! Emﬁ | Drasa A grouped ﬁuqumw}rlahlc is also calbed: 1

g — . _—q——‘ -1 | ————— e ———*—

b i A1 ! ﬂ.-.f' i e bl ¥ .m"}"f,.«.ﬁnfwwﬁ'ﬁjuf 2 !

o ik A minue | A - Anngle: x n:lz{:;l“n;m nan-collisear rays, which have common emd i__ 4I

| ad | e | el | - A gl

| Half of #my M:rl:l;-ﬂ! | .*:1 r Dﬂﬂz:::flﬂ'll Ir ufh-.ﬂhﬂ J’*!L}.{: 3 +1

,_ﬁd""d. 4 el , diameter "_lhdnnhclrciew ,

imnt!’;.ﬂ: tamguni Fe— #U | cosine K 75 . sinz B b i r_.l"q“"::r.f M..J,f‘#‘kﬁ.:.mh’fli_ﬂ 4 |

- Secatof's | Tangent of o | Cosine of a Jiltmwhidthuurﬂyoﬁc i comann with a circle is ]

_ cirgle ' cercle F elrcle ,‘mu.ufaml: called: | I
2 ! - “T"—'_ B e ——— e — e e S Y _'__‘l
s . ; | s .r_.m,m'ﬁa' Spamdra i s

dem | km | km ' lem A qem long ds & central angle of 60°, the radial ‘ J
o ) - _segmand :
. : o N | —
My Fol .ul" I qu P i cj\P ‘:? ‘;I‘Mﬁl‘gdﬂ_}bi
e i iy oo s J
i | - [ o e e e
" —;- E : ..g'ﬁ l 1 N "'{::\ -t E_l‘:rt.ﬂ.u.r"itr... Faid
].__ = i . " : QMMIH!SHTII circle s |
i e - 1
|' 4 : 3 r 2 | I \"1 TT %Jlﬁ“{uﬁd“ +b“°"u-'"l"'l54'-vx.i'w m 8
i ’ hs: mlm of terms in a standard quadratic eguation | |

e — i PR— E ___,_H_.imc t bt_*- =0 is s g S [_ .y

E “i;' % | % | ""]r' L;“ﬂlmu%.-..-.'; *:+4»{+..I,L.-l5 o [ v

[ PRI L. _Jr_ A R\ Y N I_ﬂ‘tﬁf_uﬂh:mﬂ&qrhi_“_ql . then SB s [

2l | T !

g -, -mz.«l.—m,qu2;~i (] —sz—[._..m h yvanlﬂ;qi =1 T

I_____ SRR | Iﬂuhcrml.'mf'*l are: ‘

| i - -- : '_'_'-"T __'-':‘-- '—_-. - ———————— s e __-7__‘___ r

| "',f;i:,f ""ni:;," | _"’i"l' ) | ...r.?.ur"mnucn biicidet! 11

[;mgntmml - propestional | hm‘f‘_fmi* M'm"f llﬂaprﬁpﬂmmn biseid, anmidnrwallad !

3 4 | T I P A e

F i1 = s LR

'_ | % R A T Sﬁr’i"’ RIS E | 12 |

T T T T T Lt e it 2]

I v W Wi sl x «OxedP =207 dbx 6 fie| 13 |

Licio ':im M!WL“ | lw"""_" m‘;:" i"l'l'lr.‘ulmuf!r‘ {5x+4]= Iixi-r-d-{h-dﬁ 18 true for aof x. J ‘

o el S b re
-q'_l‘&.nf (AR ﬁ: 14
b Buper s I 5« [ Power sel Sub:o:t A:nllm.tmn of well defined _o_bieclsm;:ajlﬁt ¥ B |
JUSTR I NUERY ' (3.2,45 | {1.2.4 e deld R R=10(1, 32,42.2).(3.1). (4, 14 18 |

- e —

IR ={€1,3),(2.2),03,1),(4.4)}, therangeof R is;|

5 1 1-X118-62000
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Mathematics (Science Group)  Paper: II (tfs IT S (LEE) 1A 223 . v) 11 2¢ Gl

Time: 20 Minutes . Group: II Code: 7198 .'.-sfl,w < 20
Marks: 15 &y -2-23 Objective (%> 15:¢

fﬁh#&bﬁvm:ﬁ;r_uﬁuﬁb i{.a&l.—ﬁdlrg{(éi’dw-qi{.andc- Be Al sCufe Ly : 2
-&ﬂﬂﬂu&gﬁ#&”ﬁféf&-’_f.sz}'bupa.-.g Y P )

1- 1-1f A< B then AN B is equal to &tz AMB I AcB 1 _4
A" (D) ? © A (B) - B @
2-, Mean is affected by change in e dnact 2L 3 S, Srl S 2
number . (D) rate ..gf'blﬁ (C) scale fl_;;g ( place & (A)

3- Radii of a circle are S L e b5 fi 3

all unequal 2l #eU (A)

uble of the diameter /= 5 (C)
G- bl ¥ 60° ¢ Jr Sl ma i La

Kot s K2ty

2¢m (B) 1em (A)
e b g od 5S 5

data A (A)

frequency distribution r':" i) (C)

all equal £LzrV (B)
half of any chord  &.,Te 75" (D)
A 4cm long chord subtends a centeral angle of 0°.

E.N
i

The radial segment of this circle is
4cm (D) 3cm (C)

A grouped frequency table is also called
rectangle J-*;‘ {B)
frequency polygone L0269 (D)
B cosec’6— cot’0 =7

(4]
]

%N 2 2
CN cosec’@-cot“0=7 _g

1 (D) 0 ( o) T1B) tand (A)
7- A tangent line touches the circle at el et emupvs g7
no point 7y i’ (D) three points ¢t (C) ﬁn‘}ﬁamts ¢+ (B) single point ;L5 (1 (A)
8- The portion of a circle between two radii ang an arc‘L;—J] | e £ sl n ot g9 L1722 K 2 I _8
is called #\Jf}ﬁ\j\’ : < tion
diameter & (D) ,.E‘{"-?{(Efiﬁ‘;-’;’ (C)  segment & (B) sector £ (A)
9- The quadratic formula is A « Ul G -0
b+ Vb’ +4ac Illti!2+4ac bxvb%- 4ac ~btVb%-4ac
X= *—-——23 (D) x=% oY C) x= -————-—2a (B) = = (A)
10- If @, are the roots of x?—x—[ =0 then product 2B i 20 Fegn L X2 —x=1=0 b a,p S -10
of 2a and 2B is Py "] 1
+4 (D) -4 (C) -2 (B) 2 (A)
11- In proportion a:b::c:d, aapd d are called Jl dastagt abiied b =11
extremes %} (D) consequent (S (C) means o (B) third proportional 14 (A)
12- The set having only one element is called < b uf L1l L 12
sub set m?' (D) power set <xwi (C) singleton set -...-rCE‘ (B) null set Zxi6 (A)
13- Cube roots of -1' are ot P L1 <13
: S P (>) -l,~o,0° (C) l,-o,-a> (B) -l,0,-0° (A)
14 If y oc v2 . then Inueay? fi-14
w?=k (D) u=kv? (C) w’ =1 (B) u=v? (A)
18- 2x+1 & ’ | 2x+1 15
(x+1)(x=1) T ke x=1)
an equation =il (B) a proper fraction ~ /_als (A)

an identity =L’ (D) ,; an improper fraction _/_z1,# (C)
111-(IV)-15tA 223-86000



_Mathematics (Science c‘;-‘mp} Paper: 11 tfﬁ:u'ﬂ»"e II ..e.-.aw:-‘;'(}.;i*?) 22-(IV) LS (_%.U{ﬁ.{l Ls‘d'y
Time: 20 Riinutes Group: 1 Code: 7187 g?-}/q:!iﬁ" Lo 201 &
Warks: 18 Qbjective Lid 16 1 9L

O Lot e e 2 usth Lés et Ldv 4 LR et LD HIC B Al o6 Nl oy
B ? LR il A ._,.:r‘d/d_f.;; Souk VEiL LS s vkl e L - A e pl S oo s
- 1-Inaratio x:y, y is called GUT -4’-7_.]'“ _?rlkfy Un xty e 1 1

none of these u‘?’{j:‘/ (D) consequent r';d/u (C) antecedent r';(_,{ﬁ-’ (B) relation ul" (A)
2- A grouped frequency table is also called ~-§-—Ui'rdur wa’{)"vr -2
frequercyyistribution— f"'%T-"_(Bj - data sl (A)
none of these -.I.?'df.-_'-wul (D) frequency polygon LU= (C)
3- If u o v2 . then Inuo vl fig
w?=1 (D uw? =k (© u=kv? (B) u=v: (A
4- The set having only one element is called ~G- b e u( SN A A
subset ._'.a*u? (D) signleton set ...,riif {é} powersel il (B) null set  sxJ06 (A)
5- If &, B are the roots gt OB Fun UL 3x2 L 5% 2 = 0 el a,P S5
of 3x% +5%x-2 = 0. then a+f isequal to
-2 _ -5 . 3 g .
3 0y - 3 (€) g .FB) 3 (A)
6- The circumference of a circle is called | hv, ) -q_tﬂrfk_{ Ke 2y .6
diameter & (D) segment & (C) chfc.tr\ 73 (B) boundary =, (A)
7- 20°= - x\\ =20" .7
288 -
3600' (D) 360' {c (9 630' (B) ’1200' (A)
8- A 4 cm long chrod subtends a central angle of 60,( \Q\ W’ =l o ¥ 60° ¢ S 25 QU 74 T e
The radial segment of this circle is ‘“’"‘ \L 7 U K el
F4cm (D) \ji‘)g’cm (©) ~2cm (B) Flem (A)
9- A function of the form f(x)-- g@’) \w}th D(x)#0 Lt (‘ f(x) = EEK,}}
D(x) # 0 where N(x) and D(x) are polynomials in x is called —UtU & D) o N(x) -
none of these UA/e- 2wl (D) a fraction A (C)  anequation =hl- (B) an identity «Jtir (A)
10- Radii of a circle are ' Ut Ul L2 (5 L -10
double of the diameter o & (B) all equal x!xrl? (A)
half of any chord &)= 73" (D) all unequal 420 (C)
11- Standard form of quadratic equation is ) ,q.lﬁ slas bl G s 14
ax2+bx+c=0, a0 (B) bx+c =0, b20 (4
ax?':i], az0 (D) axzsz, a0 (C)
12- A collection of well-defined objects s called et A B 12
none of these ui"s(_;f:_.u'.'ui (D) set JL» fC} power set ""‘-‘-'”E (B) subsel -_'arJ; (A)
13- Roots of the equation 4,(3 -5x+2=0 are .,u_?uju!l.q x 2 —5x42=0 =bl—s <13
none of these (8" (D rational Pt (C)  imaginary (54 (8)  imrational Pté (A)
14- Aline which has two points in common with a circle is called  -c_tlkc Un SF b6 n A Le L i3 L 14
cosine ofacircle  cosine ¥e_ /i (B) " sineofacircle sine ¥/ (A)
secantofacircle  secant K~y (D) tangentof acircle  tangent k.7, (C)
15- A cumulative frequancy table is also called -{_t'ﬂ;f d!)f (o2 Lt)f ~15
data s (B) frequency distribution (“" Wl (A)-

frequency polygen (=2 54° (D) less than cumulative frequancy distribution IS ()
110-(IV)-222-100000



Mathematics (Science Greup) Paper: II (Ao e IT drf b k) 22241TT) I .2¢ Coen Y (5
Time: 20 kithules Group: 11 Code: 7196 L@*}j f;.«*.u e 20 1y
Marks: 16 Objective {fu’_‘ 15 : u{;t

Jlbs é:uf.l e e U U & r.’fé..: &l £:_}h"; £ (élﬁ}ff -ufdri.; D CiBe Al .ﬁxb .:':.Jfr‘_,- DLy
Bor ¥ Ll - ol o HJ!JL(LI.; k ‘{_./r.; Jl"uj_fh 1% c..uf (.f.-; A fl S .l(l/"J Jirt o

A

superset Le (D) singleton sef ._'.rif (C)

1- A setwith no element is called

2- Third proportional of x* and y° is
2 4
L o L ©
x* x?

3- A data in the form of frequency distribution is called

v7-4

[ 3- T

empty set el (B)

_.—I.:.,Nh-'/rﬂ.:-ui‘.:dfu: Ve o1 1
subsel 2x (A)
B LFE g2l %% 2

2

X:,-'z

(8)
- J‘*J r"" s -3

5 A

denominator &4 (D) histogram SH¥ (C) ungroupeddata si($sSé (B) groupeddata siviss” (A)

4- The distance of any point of the circle to iis centre is called
an arc L)‘J’u..{l (D) achord 7icll (C)
§- Mean is affected by change in
place £ (D)
6- Angle inscribed in a semi-circle is

2 D)

7- If b—4ac>0 but not perfect square

origin U (C)

WA

(C)

then roots of axz +bx+c=0 are
none of these u"éf (D)

e Wb ¥ E S L8 L 4

diameter & (B) radius (T (A)
-t Wil Sl S} w2 kot -5
ratio <+’ (B) value =4 (A)

. et e S i 6
T 7t
4 (B) E (A)
ﬂ@fdxdﬁj‘g b2—dac> 0 A -7

(_) U‘“u’uéax +bx+c=0 =hl-

irrational  (Pt4 (C) Ok\’?r&k‘unal J% (B) imaginary N 24 (A)

8- The quadratic formula is L'/ 9 _ ~Usb G 2 2B
N
bt Vb-4dac, )\ — bt Vb?—4ac -
= (PABY -
2a o)~ 2a
b e Fac ~ bt Vb2 +4ac
=—=I1 (D) L (C)
A 2a . 2a
AT
9 (x+3)2 =x2+6x+9 is Ay L8 e x+3)2 =x%46x+9 -9
anequation «hl- (B) alinear equation =hlegnf (A)
none ofthese e Lt (D) anidentity «fr (C)
10- An arc subtends a central angle of 40°, then the K 75 a2 - 40° s,ug’)} fu}.{i =10
corresponding chord will subtend a central angle of ~&-bst il d}fr
80° (D) 60° (C) 40° (B) 20° (A)
11- Sum of cube roots of unity is _,&._,_.f h’.,»ﬂl;.:g cﬁ{jk’r 11
3 (D) -1 (0) 1 (B) 0 (A)
12- The domain of R ={(0,2),(2,3).(3,3).(3,4)} is e (v Dom. R 7% R ={(0,2),(2,3),(3.3).(3.4)) /1 -12
{234} (D) (0,24} (C) {0,2,3} (B) {0,3,4} (A)
1
13- % cosec45° = ) cosec 45° = _13
/i i 1
= O V2 (© H® N
14- If a:b=x :y, then alternando property is cezlul Py atb=x vy N .14
a-b b _Xx-y a+b:x+y a_x . E=E-A
" y (D) b y (C) by (B) X 7 (A)
15- A circle has only one ~ebn Ukl Ke o i 15
centre 7 (D) diameter & (C) chord 75 (B) secant &%k (A) .

111-(111)-222-87000



Roll No. y
Mathematics (Science Group) Paper: II (o I m;d;d:ﬁ?) 221+(I1) Iz (D)
Time: 20 Minutes Group: I Oblective 5> .rjll,; & 20 : =y
Marks: 15 Code: 7183 § y 7_6 (=21 15 :
I Lz en e J b T U 1 ¢ eIz SLEDACB. A MY 4 .-F;k Clirp s
Bt s 4l -l e A ..'.*.J:*"JE../,E, Sak LS4 st b ekl s e ofl S S S
- 1- A cgmp!ate circle is divided into -Fbl Lf(j i .:./’IJJ“' .
270° (D) 380° (C) 180° (B) 90° (A)
2- A grouped frequency table is also called - g S (15 r.ﬁ:/ <¥
frequency distribution ;‘-:" :j'w" (B) data i (A)

frequency polygon {ue 2§y (C)
bt i o Fy il _3
T

6
_ﬂ(x+3)2=x2+ﬁx+9_4

range =~ (D)
3- Angle inscribed in a semi circle is
T

2
4- (x+3°=x2+6x+90 is

EC
7 ©

n
4

(D) (B) (A)

-

an equation =L+ (B)
third degree equation =hi-gut (D)
5- The arcs opposite to incongruent central angles of

a lifear equation =lhl~fnsf (A)
anidentity <=4l” (C)
Lﬂﬁu;_'ﬂ}d};* JL:'."‘/;;U Kbkl 5

a circle are always
incongruent Jl=# (D)

8- The number of terms in a standard

quadratic equation ax? + bx + ¢ =

4 (D)

7- Sum of the cube roots of unity is

3 (D)

B- Tangents drawn at the ends of diameter 3@, 2k

circle are ‘to each other.

parallel (1 (D) not-parallel 57 (C)
9- The domain of R = {(0, 2), (2, 3), 3, 3),(3, 4)} is

{2,3,4 (D)
10- ¢ u e vz.then
uwv? =1 (D)

11- If b2 - 4ac < 0, then the roots
of ax?+bx+c=0 are
natural = (3,3 (D)
12- Point (-1, 4) lies in the quadrant
IV (D)
13- Mean is affected by change in
none of these & /2ui (D)

u v
14-1f —=—=k then
v W

u=v2k (D)
15- % cosec 45° =

1

2 ©

110-(11)-221-100,000

AN - Usr AR ¥ <t ’ Ul
congruent f i (C) perpendi Iar\J)ﬂ’(B] parallel (i (A)
_cl*...ri.i:-‘- Ju_ gfﬁlxz +bx+c=0 ahi Gl .6
AR
0 is WD)

3 e © 2 @® 1A
M e i L0 L7

<& e 1 (8) 0 (A
- SLARTurdL g{ LBl 7 8

M \

o _ collinear 17 (B) perpendicular »f (A)
~-Us DomR 75 R={(0,2),(2,3),(3,3), (3,4} / -9

{0, 2, 4} (C) 10,2, 3} (B) {0, 3, 4} (A)
I u o vl fi-10
w? =k (C) U= kv? (B) u=vZ (A)

SEA 1 x4 bx+ €= 0 hls I b? - dac <0 S 11

imaginary 354 (C) rational (*t (B) irrational (Pt (A)

—ebt LB (-1,4) B .12

11 (c) I (B) I (A)
bt e LSS kil 13
origin sUE" (C) rato < (B) value =f (A)
T AN N
vV W
u=w?k (C) u=vk? (B) u=wk? (A)
1 cosec 45° = _15
2
1 3
>5 © 5 ® V2 @



Roll No. " /,‘,
Mathematics (Science Group) Paper: II (o M&M) 221(11) O 'r"/Ux'f) lf'&f

Time: 20 Minutes Group: II Objective (3> w2/ L s 20 : =5
Marks: 15 G,UT..G 2.2 Code:7ise 15: /0
A EiZ sy = o s é{.u‘ilrcf. ' P Qrdm _;,fé{..: DsCeBr A=liz j;k Llvg s

e s s | .;ﬁ&w;fé_fjfél’j,i_f‘éfum: HLJ:.'.-...Q -&Jﬁ&g&k A\ fl.?b,.ﬂl""

1-* 1- A fraction in which the degree of numerator is greater = JE«)’- dﬂ;ﬂﬁ’;ﬁ; S 1A
or equal to the degree of denominator is called - di o Aok
an improper fraction /_zi4 (B) an equation =his (A)
an identty £l (D) a proper fraction /L2l (C)
2- If number of elements in a set A is 3 and in In2 2 Ber w3 S St Acs Sl 2
set Bis 2. Then number of binary relations in AxB is -l Sy JE Z AxB
22 (D) 2 (© 2 (@ 2 @
S 2 20°= .3
3600' (D) 1200" (c) 630 (B) 360" (A)
4- Aline which has only one point in common with a circle is called  _ &7 S35 LA L ¥ w4
cosine of acircle  cosine ¥’ (B) sine of acircle  sine ¥/ (A)
secantofacircle  secant ¥ jly (D) tangent of acircle  tangent ¥’ (C)
5- Aline Intersecting a circle is called ..,-..ru( B -5
sector £ (D) chord 75 (C) secant Fis (B)  tangent Ui (A)
8- The number of terms in a standard - f u;f:;,{;\aihbx +c=0 ehbs il fun -6
quadratic equation ax?+bx+c=0 is 0 &..\;‘.\ {-:73-",/.
4 (D) 3 RO 2 (B) 1 (A)
- I & 2 1
) o — e i M
7-1f Y 3  then J\\’/’ 7y o:x3 A7
__L'::"\"" ) g 1 2 _k
v =kx® (@ PR e e =3 ® =3 @
8- The nature of roots of equation axz-’.‘ix§r+ c=0 b Ve U A L ax? + bx+e=0 bl 8
is deterntined by QM
product of roots w4 e v (B) sum of roots 2K (A)
discriminant .0/ (D) synthetic division ("‘"ut-f- (C)
8- The length of a chord and radial segment of a circle are ~Utee ORI S Ul 35 2 2 o1 9
congruerit, the central angle made by the chord will be K ST E 3
75" (D) 80" (©) 45" (B) 30° (A)
10- Inaratio x:y, y is called _ --rtw/yptx:y_-.r'..m
proportion £ (D)  consequent u$m (C)  antecedent [ (B) relation ¥ (A)
11- The different number of ways to describe a set are el SURBP L L S far 11
4 (D) 3 (C) 2 (B) 1 (A
12- if @, arethe roots of equation 7x2-x+4=0 u:ué: TXP-x+420 bl B,a Ji2
then aff is etz af Fun
-4 T 4 -1
7 (D) 3 (&) 7 (. ) 7 (A)
13- A frequency polygon is a many sided e ik § s 13
triangle &4 (D) square &/ (C) rectangle J?"" (B) closed figure (A)
14- A complete circle is divided into 4t U e 14
360° (D) 270° () 180" (B) 90° (A)
15- The meagure which determines the middiemost observation -.g.rlk( Pt J Ir s 15 )

in a dataiset is called f
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Mathematics (Science Group) Paper: II ((-‘;mﬂnmgdﬁnbi'é) 220-(111) I 44 (.,,J,_;‘*L) s

Time: 20 Minutes Group: I Code: 7185 /g &2 20 1 =Dy
Marks: 15 Objective f3* 15: O

1-

b Lotz emma St L& Lz g J602 LD AC B Aciz o Ly 1 L5
B 7 i e .'.T-IJ“J:.'_.;‘Q’ Sk L d_l(é fu:fb ki c....ﬁ <& e fL A r(r}h.'ilﬁ'

1- The domain of R={(0, 2), (2,3), (3, 3), (3, 4)} s JR 7% R={02),(23), (33), (3,4) /1 -1 -1

¢ st (Dom) g2
{2.3,4} (D) {0, 2,4} (C) {0.2,3} (B) {0,3,4) (A)

2-inaratio a:b, a iscalled <t a £ aib o 2
proportional —F (D) consequent ﬁdﬂ: (C) antecedent f:&: (B) relation J‘i {A)

3- A complete circle is divided into -l l,f‘f..jf e £ .3
360° (D) 270° (C) 180° (B) 90° (A)

4- A frequency polygon is a many sided % g Ui L?/ Likeul /:ff Kb 4
circle 75 (D) square &/ (C) rectangle *° (B) closed figure & (A)

5- The portion of a circle between two radii n Gen Lurty vl g3 L2 2§ 5 L .5
and an arc is called -« t!.lf
circumference &% (D) chord 73 (C) segment 5 (B) sector A& (A)

6- Aline which has two points in common with a circle is called -2« Un J3 48 » A Lo 60 £ Pois LI -6
cosine of acircle cosine k.7 (B) sine of acircle  sine K71 (A)

secantof acircle  secant ¥/ (D) tangent = #» (C)

1 1

1 1
7- —+— s equalto -eds —+— <7
a B

[
o+ o
—uﬁﬁ (D) '&'E fQ&ng | a p ® i (A)
8- The number of terms in a standard quadratic (,‘C{I’ﬁ f?rf\q/_ P S ud 2 ax+bx+c=0 oiks Yk Gss v B
equation ax?+bx+c=0 is ~\ O
RO
4 (D) P 3. (C) 2 (B) 1 (A)
8- A fraction in which the degre xg}{ﬂ]‘niemtoris less than = u‘/'? Je yd dfi st LS /’ -9
the degree of denominator is called _Q.Jli:{ —_—— &
an improper fration - “_zt:# (B) aproper fraction -2l (A)
anidentty =L{1# (D) anequation =hi~ (C)
10- A pair of chords of a circle subtending two LART w22 e lin ¢f P (5.?} iﬂ.? » <10
congruent central angles is Loun
parallel /17 (D) overlapping -/1> (C) incongruent JU=# (B) congruent Jfi= (A)
11- Roots of the equation 4x2~5x+2=0 are A L ax2-Bx+2=0 ol 11
none of these & (3 = 2! (D) rational 7t (C) imaginary (24 (B) irrational Jt# (A)
12- The third proportional of x2 and y* s b YR xR 12
YZ de 2.2 }'2
o (D) o (C) X"y" (B) " (A)
13- The spread or scatterness of observations in a data set is called e e WAL K =l L i -13
mode & (D) central tendency u{?’-sd}f«- (C) dispersion =1 (B) average L~ (A)
14-1f A B, then A~ B isequalto -ctridi A-B Fx ACB Ji14
B-A (D) ¢ (© B (B) A (A)
15- -I—- cosec 45° = ic{)sec 45° = _15
2 — > S
e i 1 Y
5 © V2 (©) 7 ® 2 @

111-(111)-220-84000



frlathematics (Science Group) Paper; II (Pt [T LA $22L) 22041T) Tz ()L,
Time: 20 Minutes , Group: II Code: 7194 .‘.r:f 1 a2 20 1 =y
Marks: 15 &y"/ﬁ" G2-30 onecive i 15: /%

Jb c':.rfj!‘ Sa e R s ié.: <l &J’r’;; { Qfﬁé’.ﬂ' -pj’lfé-: DsACeBe Az A-F.J‘b_ vy oy
K 0% 4l w2l L oS SeX L LS Sy whd ekl <& £ ool JA S o S
1- 1~ The portion of a circle between two radii ..{..I".Ei'-:“,ufuyn.ﬁurlu palJI L2 oK S ki 1 1

and an arc is called
none of these e 2l (D)
2- Tangents drawn at the ends of diameter of a circle
are to each other.
perpendicular i»f (D) collinear &% (C)
3- A cumulative frequency table is also called
data s+ (B)
noneof these e e (D)
4-If AC B then ANB isequalto
none of these (& 2ol (D) ¢ (C)
5- The nature of the roots of equation axz +bx+c=0
is determined by

product of roots .._.,PJ’ bb’.;,"]u (B)
synthetic division <& (D)

6- Through how many non-collinear points, a circle can pass?

none of these e 2yl (D) 3 (C)
7- An equation of the type 3* 4+ 32-X L g = isa/an
reciprocal equation ..-.!:’.-u:" (B)

8- A pair of chords of a circle subtending two

chord 75 (C)

non parallel ($ii## (B)

S 47 ege’“ & ¢

AN
()

inequation =il-# @yl

704

sector /’é (B) segment ¥ (A)
Slx LAETUVELE U EBLn 2

parallel (i (A)
et S A 3
frequency distribution =255 (A)

less than cumulative frequency distribution fﬂf;ﬂﬂrf /‘(’ (C)

-etrse ANB I ACB /i 4
B (B) A (A)

- 2
- Fltlg LU u’lﬁ.»i ax“+bx+c=0 =il -5

sum of roots =7 K% (A)

_ discriminant +50/ (C)
ﬂ?':r_i,n\a ?+E52f&$§f/ig¢jil -6

OLE 1.(A)
432X 4 6=0 bl -7

“ exponential equation < lsledliz i (A)

radical equation =i~ (C)
g,':g':Tu -V.‘:"‘é'_.;- Uriin w;'eﬂ.?d.'f;'ff;'ﬂ -8

.

congruent central angles is L)
A\ C}“\{/ ” .
parallel J/i7 (D) overlapping! Z/7> (C) incongruent Jfi=2 (8) congruent  fl (A)

8-Inaratio x:y, y is called PN

¢ . f\ -
none of these g:»";}:f;;ﬁwl,.{g):}x conseguent dﬂﬁ,,m (C)

10- If number of elements in set Ais 3 andinset B is 2 then
nember of binary relationsin Ax B is
2% (D) 2% ()
11- The discriminantof ax2+bx+c¢c=01s
b2 - 4ac (D)
12- Mean is affected by change in
noneofthese &=L (D)

-b%-4ac (C)

origin BUE (C)

a ¢
13- If —= -d- then componendo property is

b

ih sd 3 &
b d (D) be )

" _ _ X+2

Partial fractions of + l)(xz +2) are of the form
AL By AuB C

x+1 x2.2 @ x2+2 ©

15- %coscus”: e
3;-?1 (D) V2 (©

112-(I1)-220-76000

gt ydxiyad 9
antecedent As (B)  relation * (A)
FA2 LB Lr 3kt AssS 10
-.c:_;:t.ﬁ Py Jh'iuél':‘ﬁ AxB

2 (8) 2 (A)
e/ F a4+ bx+c=0 .11
-b%+4ac (B) b? + 4ac (A)
etk M i S a bl .12
ratio = (8) value =7 (A)
-q..‘:.-r:._..r,-,’/}}x %*% 513
B = .
a-b c~- ®) a+b c+d @)
% X+2
edn S Phaf —————— -14
» KEU ks Lr(:'-£+1)h(x2+2)
A | Bx+C B, B
x+1 x242 & x4 x2yg W
l cosec 450 = 15
2 ——-
1 1
5z ® 22 A
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Marks: 15
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-

(h'-"j-;br..’tfl - ‘
L2201 =3y

1S:u‘:|,

J b ...’:..,-IJZ s e Jo i) iﬂ_‘é_:&lrcf_Jlr,«f 4 QE/L}IJ’: -L{!.&.(.FTJD »C B . A :.l,l:!;ﬁxi: f.dlr';.' 2 b

Byt -l i 'V -.T-JJ"JLI.{, Soy LL;}I, fu:.?b whia L1 2

la

1 - An equation which remains unchanged when x is replaced = d L
1. ;
by - iscalleda/an equation,
X
linear (£, " (D) radical ({,i (C)

2 - Product of cube roots of unity is.
3(D) -1(C)
3-1f «, aretheroots of x2 — x —| = () , then

the product of the roots 2¢ and 2f3 is

-4 (D) 4(C)
1 - The third proportional of x2 and y2 is
2 4 {\ﬂ
Y b N\
~— (D) —. (@)
x* X t@/\/
~\ O s /
u v N /
5 If —=—=k then FQ\" /
v W ) "3“"' /
A
u=vik O Y yawik ©
Partial fractions of X 41 /
G ial fractions of ————— /
' (x+1)x~=1) /
are of form,
B, L@ 12 ASpay
x+1 x-1 x+1/ x-1
7-1f Ac B then A —B is equalto
B-A(® A(C)

8 - If number of elements in a setAis 3 and in setB is 2,

then number of binary relations in Ax B is.
22 (D) 28 ()
9 - Sum of the deviations of the variable X from its mean

is always equal to.

two 5 (D) same L« i (C)

s A bl LS i 3
‘JJ%.,;JIU:U‘?;A’LJIJ-I -1

= U‘:(..:a-'sl.-*______,..g ‘N2 J_’Jf

reciprocal / 5% (B) exponential (i =7 (A)

. A S ¥ Pl 0 -2
/+ 1(B)

0(A)

Sunun L xz--x—1=0 =hisB,a Ji-3

/- rﬂf@T— s’ J‘b 5’2[3 s 20
@\ 2(B) —2(A)
AR e) B
fé@j}; - b U’}‘a sl x2 -4
°
2.2 }'2
X°y® (B) = (A
X
;”—E:i=k /r] '5
v w
u=vk? (B u=wk? A&
2
X°+1
I . S-S
() o 7 J(x+lXx—l)
st ind
Qrat fBx+C (g, R By
x+1 x—1 x+1 x-1

etrasl ______A-BJinAcB Ji-7

B(B) ¢ (A
 In2 LB a3l Sk LA Si-8
P ad i € £ AxB
26 (B) 23 (A)
A b YL ¥ X 2 -9
= by by £ 24
one (i (B) zero j# (A)
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Mathematics (Science Group) Paper: 11 (r“hu’(f Il 2l dﬁd}ﬁ_‘:’)ﬂﬁ -(ID 11 24 (lerpr.:lf) L
Time: 20 Minutes (Group: I1) Objective Lf'i/" (q.;-.vrl/):) L2220 1 =
Marks: 15 Code: 7196 15: S

O A U} R RS- 1) a’..g_.a e Lrsy Q¥ iz -u:rif__:D #MC B Azl Ly oy
= v "

Pon ol iy i (o - f’: ¢ ” . _ @
=X ¥ b iR ra D oo ...;A; f-.'..vﬁ L d..,fa; fu:/b uL}:..fu{i_ﬁJ/f:..ij fdl-fa;'bﬂ-;"

I- 1~ The number of elements in the power set of {1,2,3} is: - FIey Jd{,: L. oY Z{123)-1 .1
9(D) 8(C) 6(B) 4 (A)
<~ Inaproportiona:b:c:d, "a' and "d" "d" a" L {:b:c:d -t -2
are called g W
extreme .2 b (B) mean 2} (A)
fourth proportional — iz (D) third proportional 31, (C)
4+ Locus of a pointin a plane equidistant from a Ust g bl g1y = J:"';r 2 ¥ b ra[_ g -3
fixed paint 1s called - t‘ﬂf(
circumference s (D) diameter & (C) radius % s (B) circle 71, (A)
ey 55% B
X2 {, (x— ]XI +2)
proper fraction ./ =213 (B) %g{?f Jf improper fraction _,/ 2l / (A)
equaticn _-.?‘/\E}; 'J identity {1’ (C)
H - Aline intersecting a circle is called. QD@ rJr s g b3 st t’fd"fd_}u 2
boundary - (D) ; { ! Std” 3 (C) secant & 4 (B) tangent iz (A)
G- The disatnce between the cent St o congruent  _lej b’??f& Usrs Uals iy L.)’u).; 2 G;,_v:. Tl
louching circles externally is: i \ -r.;_t‘.rr sz L
the radius of each circle i ¥ i ( E) the diameter of each cirlce A ¥ 21 (A)
twice the diameter of each circle ¢/, ¢ 5.2 _Ji, (D) of zero length Jx_,J #(C)
7 - The discniminant of the equation ;;m2 +bx+c=01is" _c b u.'-'fJ) ¥ ax2 +bx+c=0 onle -7
Jb° - 4ac (D) Ju2 PRIeES b’ +4ac (B) b? — dac (A)
8- Thefactors of x- — 15X + 56 are: - .___.J/'-.G'J: x2 —15x +56 -8
(x+7Xx+8) () (x-7Yx-8) ey (x+7)x-8)@) (x-7)x+8)A)
Y - The semi circumference and the diameter of a circle e ] 15){;' Khead Ll o -9
both subtend a central angle of. _ - b
360° (D) 270° (C) 180° (B) 90° (A)
10 - The terminal side of angle 235° liesin ______quadrant. ~ bt o Gt G ¥235° - 10
v (n) 11 (C) 11 (B) 1 (N)
11 - Two square roots of unty are. il B £ JK‘ >
hi? (D) 1,-o (C) l,w (B) =1 (A)



bl e g 1 ST
Number: 3197 | SSC PART-I (10" Class)
M.?;'IR'HEOUI;}I:A}TICS (SCIENCE GROUP)  PAPER-II vt r Vv-24 Gyt JAV) P
TIME ALLOWED: 20 Minutes @ 20 = Dy
MAXIMUM MARKS: 15 OBJECTIVES 15 =4S
ki Ll s A ifi\ A S 3 Jbe Lizernelund ez Ly ,f.gqr;j-zﬂng&__:n AMCBAME N LIrs | 1 Ay
You have four choices for each objective type question as A, B, Cand D. ¥rsdibiizns. L SLS Skl S QNo.1
The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker ’
or pen to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question,
R . C B A QUESTIONS /=ity Sr.No.
If @, [ are the roots of 1
1 4 7 .. 7% ~x~4=0 then @ff is:
7 4 7 LI —x—4=0eils B @ /i
sl af ?u.nu) wr
If 2 _l_, then 2
Pk Y=z a1 ¥ =kx yeEg
xs s < 33 “Pn g2 m;’.}.ﬁ
. The fourth proportional of 15, 6, 5 3
6 2 "z 3 5 is:
t _:;.h..-'b;l.;gl' 15 65
: £+l s 4
A constant term An identity . An improper A proper fraction | (x-1)(x+2)
Fnf= wlyy Ty, Traston St 4 2+l
8 R T A Ey) T (x=1) (x+2)
{4} {¢.{a}} {a} | i],";ﬁ\ﬁer set of an empty set is: 5
i A f'\fa\f e
(ANBUAUB) | (AUBNMUNCY | (ANBUNB) (AUﬁ;f}WEj AUBNC)= g2 AU(BNC) 6
Constant Grouped data Histogram Unlgrobiped data | A data in form of frequency
J I ¢ s ¢ %\Q\, ar ) d distribution is called:
) ot LLEE B8
180° 150° 3 115° 3% pad = edagfys 3= |8
AN @ Line segment joining any point of 9
Perimeter Radial segmev ‘Diamefer Circumference | the circle to the centre is called:
el AR ",H e _4.rufuhi_u;" ﬁyc;-.h"ﬁdr el
A line which has only one point in 10
tangent of circle | secant of circle cosine of circle sine of circle common with a circle is called:
Tangentfe /i secant¥e./ix cosingyes sine¥e_Ji o B LS e L KoL
2
The length of chord and radial 11
segment of circle are congruent the
15° 45° 30° 60° central angle made by the chord
will be:
e il aa SO U P e H L
Kot ali s Byt
The length of the diameter of a 12
circle is how many times the radius
4 3 2 1 of the circle?
b"zﬁJIJJLL.}UJE,JJﬁL‘_}b_ﬁ
'u"'.i'_,J_n'
The number of methods to solve a 13
4 3 2 1 quadratic equation is:
-LE&—)LL-/J{:—-IJPL;AUH
{ ] } 1 1 1 The solution set of 25x* ~1=0 is: 14
e I 1 i
% 5 5 5 e f¥255% =1=0
Product of cube roots of unity is: 15
3 -1 1 0 e AL A i L

30(0bi (T R YT 37)-2024(1%-A)-60000 (MULTAN)




Faper Code &LV |1 =iy
Number: 3198 SSC PART-II (10" Class)
MATHEMATICS (SCIENCE GROUP) P g
PAPER-II GROI{JP-II l yugsd | l-ed l Geled v
TIME ALLOWED: 20 Minutes e 20 = &
MAXIMUM MARKS: 15 OBJECTIVEY y» » 15 = A4S
Usitmikie £ -5 Aol /A fus 3 b Literne i ez Lir f4d¥2-8 &0 MCBAARE Ly s | 1 Ay
You have four choices for each objective type question as A, B, Cand D. -¥ il i p e S S LS ML T QNo.l
The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cuiting or filling two or more bubbles will result in zero mark in that question.
D C B A QUESTIONS /=it Sr.No.
u= kv’ v’ =k w® =1 u=v If u e v?,then: I
SGuwxvi A
1 2
If yoc-; and y=8, when x=4 then value
40 36 34 32 i
Anedlkinx=4_2y=8 u:ycc%,rr
Inequation Fraction Identity Equation (x+3)" =x* +6x+9 is a/an: 3T
sk = el =il e Li(x+3)? . N
The different number of ways to describe a 4
4 3 2 1 set are:
s .q_.!!.;ﬂdl}ﬁ)._ﬂ? Lo Setdor
’ If X={a,b,c q\‘\'ﬂ':é@ﬁumbcr of elements 5
16 14 12 10 in X x Xard0)Y
e e
P38 %’\;é}q%mzx x XiX={a,bc}/
Triangle Square Rectangle | Closed figure .ﬁ%&qﬁﬁﬁcy polygon is a many sided: 6
Ll Cr e SN E:,»\“‘/ e duskdten F6S
sin @ 1 1, sinéé{’('_@ﬂ' secOcotf=__ - 7
cos@ cosé sind A\ é\\" -¢szsect cotf
L A o SQ)\’ o The symbol for a triangle is denoted by: 8
‘ % S et ot
Centre Chord Diameter | Radius A circle has only one: 9
}'(f 71 A % i 7 LF..-_GJ}'(L..?’:..Q
A 4cm long chord subtends a central angle of 10
60° . The radial segment of this circle is:
T “a s ol K e bt K 60° 4 S sa2s s dura L
M
Parallel Overlapping Equal Unequal The lengths of two transverse tangents to a 11
S w5 T Az pair of circles are:
ATV T A g Fan
4 {+4} {+2} +2 The solution set of equation 4x* —16 =0 12
is: curS¥4x’ 16 =0 =hin
{1, 4} {1, -4} {1, —4} {-1, 4} The solution set of equation 13
x?=3x-4=0 is:
_cl,...:.;-J'r x*=3x-4=0zn
If @, f are the roots of: 3x”* +5x-2=0 14
= 2 _2 3 then a+fi=__
3 3 ? F 3x2+5x~2=0.:.maum_f".uﬂ-a)’r
a+Bh=___
Real ‘mf [rr:tiona]l Imaginary Realand | The nature of roots of 3x” + 7x—13=0 are: 15
unequa and equa > 5 equal s f 3 2
i@ | e ;w. &4 j.rj“ e ISPl 3%+ Tx—13= 0l

32(0bj)(Tr T I)-2024(1-A)-55000 (MULTAN)




Paper Code 2023 (17-A) AU
Number: 3195  SSC PART-II (10" Class) .
MATHEMATICS (SCIENCE GROUP) GROUP-I it/ G/ D P
TIME ALLOWED: 20 Minutes ~ ~ 7A/— [ —2.8 s 20 = by
VIAXIMUM MARKS: 15 OBJECTIVE (5*1 15 =45

e I3 Lprae e et L aqlfiyn -l aiDaCB A ayp bl Ldirn —bd

..g{f,.‘.d’.'f';!pmrwwfgj _lefiJgﬁ;/r;JfJMﬂJLf;.{fuﬁu _f.n'.!r';hlhf#ﬂufi ..,l':.-.u-JL.f;f.brL.L.f.{, Sl ekl
Jote: You have four choices fof each objective type question as A, B, Cand D. The chojos which you think is correct,

31l that bubble in front of that question number, on bubble sh 730 marker or pen to fill the bubbles, Cutting or
illing two or more bubbles willresult i zcro mark in that questior. No credit wil be awarded in case BUBBLES are

1ot filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

2Ne.1 LA
T o+ , 2 +1

m G-pG+D is a: S e (e 3} {1].
(A) An identity wf17 (B) A constant term N o
() An imprope;fractlnﬁ it (D) A proper fraction -1

2 Therangsof R={(L3)%(22)(3.1)(44)} i R={(1,3%(22), (3D (44N @

-¢-0n (Range) R i

Ay L 2.4} @) 13,2, 4} © (1,34} @) {1,234}
(3) The number of elements in a pgwer set {1,2,3} is: _q..gm,,:brwm,gqﬂh;{h 2.3} 3)
(A) (B) 4 < 2 D) 1

6
(4) A histogram is a set of adjacent; gt Sy )

(A) Squares fu#y  (8) Rectingles WA () Triangles ru{?;} (D) Circles  ¥usit 5
(5)

(5) Mean js affected by change in: _ .:9@ )r j.‘.",L i bl
(A Value 4 (8) Ratlo =+’ (c) (Orighy w/8 @ Place F ;
W NS
(6) If tanf = A3, then § is equalfo: s \r_,], ?9- __intanf = J3 A (6)
(A 90° ®) 45 AN ® 60° .
(7N The symbol for a trianglp is denoted by: (1,!-%;,;-‘@; gL Lifan )

B Loy @ L o ©

A A R© _
e cirdent! ¥ fomuing ®

(8) ' Atangentline intmentslth Ry
A ]

(A) Single point ¥ l{f‘;:';.{“ﬁi Twa points LhE (¢) Three points 4»5;4 (p) Four points th:hk
9) The length of & chord an the radial segment of a circle are m,;},;.z‘u-_:.».iwﬁ'.a'lfu".-.wl}.f‘..p-,,g (9)

congruent, the central angle made by the ?hord will be: T e
(A) 30° (B) 45° () 60° D) 75° i
(10) A line intersecting & circle is called: .¢.Iru{'ur T e ts {
(A) Tange;nt v (B) Secant dup (¢) Chord 7 (D) Radius J/ "
l 2 (1
(11)  Two lihear factors of x? = 15x + 56 are: | .4_5:)9,,';»..9,& x? = 15x + 56
(A) (x=7) hnd (x +8) (B (x+7)and (X- 8)
€ (x-7)end (x-8) @) (x+7)and (x+8)
oy - . (12)
(12)  'if o, B arethe roots of ¢t +5x72=0, p"uLBx’ +5x=23=0sif cf.fr
then a + B Is: ; P as:+ﬂ FUn
) =5
(A) % B 7 © 3 ®» 3
: ' (13)
(13)  Product of cube roots of unity is: ,ﬁ_}, g}d‘;r.:fr,ka_‘,dri
(A) 1 i (B ~1 3 a4
(14) Inarato a:b, @ i!l;ualled: ” .q-t'lk(d;ﬁa' h-s-r':
(A) Anﬁac&dem f;ﬂ" (m) Consequent rﬁd,m (c) Relation af‘ (p) Proportion ,_,E.
- LAY A x (19

(15)  The third propprtional of x” and y? is:

2 1’4 y::
(A) %— ® T © =7 ) £y
3b(scaiENCE GROUP)Ob)( 4 ¥ ¥7)-2023(1%-A)«65000 (MULTAN)



!-’ul:re: Code "ﬁi 2023 ( A) Al

! Number: 3196 | SSC PART-II (10™ Class)
MATHEMATICS (SCIENCE GROUP) GROUP-II o mngrt Ca D P
TIME ALLOWED: 20 Mjnutes ) % 7/V it 4 au 20 = h._-:
MAXIMUM MARKS: 15 N 15 =/~

-G A el S 308 Lo hit e O N LD A I ALl DACB A wh 2 TR LS
2y fol Dt g g i drat Lo S A Lo LT -ﬁaﬂﬂﬁﬁuﬂuﬁmﬂgfbf,‘f*lﬂ_f 3 et

Note: You have four cholces for each objective type question ad A, B, C and D, The cholce which you think is corre
Fill that bubble in front of that question number, on bubble sheet. Use marker or pen to fill the bubbjim Cutﬂi::or ﬂflt'ing two or
more bubbles wil] result i zsro mark In that question. No credit will be awarded in cass BUBBLES ere not filled. Do not solve

questions on this sheet of OBJECTIVE PAPER. :
Q.No.1 RV
I v u 1
(1 If —=—=k then: ) ==—=k/ m
vVow : , VoW
L) u=wkt (8) v = vk (©) u=wk () u=vik
(2)  The third proportional of x* and »? LAY X @
2 ; . 4 2
A ®) x 0’ (©) ljy o %
x x X
2 2
x w1 x“+1 (3
iaj ' f . = A —————
(3) Partial fraction ——-——-r—-—-(,x D= pre of the form Hond” ,1__.-/15136(:: DG -1
W A2 ®14+- 4B+ (o4 A A2+5 . .C
x+1 x-1 t+1 x-1 X+ x=1 (x+10 =x-1
(4) (A R is equal to: A r;i' \ wetbnas (AU B)VC (4)
(A) Au(BUC ®) 4N@FwC) (€ (Aumhf:v @ An(BNO)
(5) [f A and B are disjoint sets then 4 U B is equal 10 A *\f;..;.r,-c.al AU BlunerS? 48 Aali (®

(B) B (C) f&\; D BwA

(A) A .
AEAILaadpSars @)

The extent of variation between extreme obsowjﬁopu ofa fhn

(6)
set is measured by: \ o~ E[
(A) Average bl (8) Dispersion 9-7°(C) Range &> (D) Quartiles g
(7) A deviation is defined as a diffmncgﬁf {my(ralue of _.o“jr B ATy AP TR
the variable from & P — o -
t.o.:r Constant A8 «(aﬁ I-fsmgram Ay () Sum ¢ (D) Product .~
(8)  sec?® & ; —esizsec? 8 (8
(A} 1-sin’@ :B) | +1tan® @ (C) 1+ cos*é (D) 1-tan®@
(%) The symbol for a triangle is denoted by: Wl Ll mles (9
A) < ' B) A (C) 41 (@D ©
(10) A tangent line intersects the circle at; -0 fls...?'u.,'b’.iﬁbfl (10)
(A) Three points 4mwf () No point at all u?d"'.;.w’
(¢) Two points 400 (D) Single point Py MY 1
(11)  The semi circumference and the diameter of a circle both ks ST Wb LT (11)
subitend a central angle of |
(A) -90° (B) 180° B; 270° ® 360°
(12)  The measure of the external anglc of a regular hexagon ia _ﬁaﬂjﬁgﬁ_,ugmwﬂ_g. (12)
, r
(A) -;5 (B) T (D) 7 -
(a»n The number of methods to solve 2 quadrapo equation is: sl pELL [V aiedon (13)
(A) 3 B’ 2 © 1 ®) 4
1y fF (0
(14) g4 p? isequaltor : . | IPIVIE SR M
) a?- A (B) L+ () (a+pR42af (D) e+ P
’ {Jf! ﬁi ; ]
(15 l -+ :-3’?' is equnl to: .4.,;‘!,{‘—; + E “5‘)
24
2 @ L-L (©) &= oy 18
. o a p af ap

32(SCTENCE GROUP)(Obj)( % % 2)2023(1"A)-60000 (MULTAN)
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(THEMATICS (SCIENCE GROUP) GROUP-| by -t (of J) S
IME ALLOWED: 20 Minutes OBJECTIVE (3 220 =

MAXIMUM MARKS: 15 MTN "4! 15= A

-
Ao L Jfonse bl R erne Ut Uf.:“';ié-}'i.lf&d'fﬁ.;lér.'ﬁ SELEHD HCB A ..-..-I,Lﬂ..'-f;gf.dlfﬁ —d
sz 4L _fLIgLJVG};':’EJfL,ﬂ.:.-;!‘u"LJ}.é .1':);?': -h'r:;rjﬁ...ﬂ:’:u:ﬁui;-u"dfi.zq Lk L L.J:éfujﬁlm'l,}a__g &
Note: you have four choices for each objective type question as A, B, C and D. The choice -L{,QJ’J’}.:-UI:-'
which you think is torrect, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbies will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The number of terms in a standard quadratic equation -3 wdSud s ax +bx +¢=0 OANL Y1 eV 95T (1)
ax*+ bx +¢=0 is:
(A) 1 (B) 2 (C)3 (D) 4
(2) f @, B arethe roots of ez af Jun L Tt -x+4=0bls @ <P @
T¢'— x +4 =0 then off is:
A -~ ® 2 © - fo)
1§, ¢ 7 : L 11
(3) + - is equal to: it —+— (3)
o | N & —p e a P
(A) — (B) — == (C) —— (D)
o a P o af
(4) Inaproportion @:buc:d . a and d are called: -;,'_?LI.L:"/ d A a & abuc:id -t (4)
(A) Means Wt (B) Extremes a"j) (C) Fourth proportional ..,-' _L?,g;f"x'@jf"lﬂone of these AUde Ui
(O
(5) If y7 o —I_—‘ then & .-\,5:.%1{;— Syl l} S @)
2 s K | ,(\\L\—é S 5 2 3 *
Ay Y= 5 (B) ¥y = 3 (‘-..:"i'Jf}EG) Cy=x D) y = Kx
(6) A fraction in which the degree of O nadetie sl fabilRASS 6)
the numerator is greater or equal to the degreep_,pfﬁ@ip}iﬁ%inator is called: (A) A proper fraction /.,.ah
(B) An improper fraction /.._..zfsﬁf > \r\\f@ " (C) An equation =L~ (D) Algebraic relation j;d,_-{f
a A\ a
(7) Aset Q={E|ﬂ-b’53 ;\bat{};,kﬁ}&ﬁaﬁedasetof: _c_:..t'Lk-'/-'-: Q={E}-|a,be zAab :0} (7)
(A) Whole numbers MEJI\ o (B) Natural numbers ;La:!;bj
(C) Irrational number sl L Z (D) Rational numbers sl
(8) Power set of an empty set is: s bl berdl (8)
(A) o (B) {a € {¢.fal} D) {¢ }
(9) A histogram is a set of adjacent: ..:J-""q..;rfﬁd ¥ (9)
(A) Squares Uiy (B) Rectangles ¥u&*" (C) Circles Ui/l (D) Triangles ¥
(10) In a cumulative frequency polygon frequencies de bbby Bl Seb L FodsE  (10)
are plotted against (A) Midpoints  b&te
(B) Upper class boundaries Jurfﬂ?.JUL (C) Class limits etz (D) Lower class boundaries :mfftzu:;;
(1) secO cot® = secOcotD = (11)
A 1 ] sin®
5 vin ®) ost ) 508 O} oo
(12) A chord passing through the centre of a circle is called: - t'].laf.r-'.iwh;_-,‘:fd-;{:’éﬁ-jb (12)
(A) Radius J/1u (B) Diameter p (C) Circumference »¢ (D) Secant C‘.’G‘jp'
(13) A line which has only one point in common with a circle is called: -& b onS; }*‘i‘ﬁbﬁdﬂﬁvﬁgﬁub’fﬁ-g (13)
(A) Sine of acircle  Sine ¥/ (B) Cosine of a circle Cosine § 71>
(C) Tangent of a circle Tangent ¥ 70 (D) Secant of a circle  Secant £ 71
(14) The length of a chord and -Ex AL pE i eSS S e Kl (14)
the radial segment of a circie are congruent, the central angle made by the chord will be:
(A) 307 (B) 45" (C) 60" (D) 75"
(15) A line intersecting a circle is called: e bt (18)
(A) Secant 3 Gl (B) Tangent JV (C) Chord 7 (D) Diameter e

AniARi ST 80921 AY-E0000 (MULTAN)



NUNIDER: QO 1 J [ l Fea .
MATHEMATICS (SCIENCE GROUP) GROUP-I by - _.Jf (..__..J S Gl
TIME ALLOWED: 20 Minutes OBJECTIVE (. w20 = =

MAXIMUM MARKS: 15 M7Tn-6) -2 15= AF
/c.ff L /(L;/!JJLVJWJ:--[?MJJLUC u:fhcfc_}c'_bﬁ,)!rfzgé?dfi u"éé..: DusCB-A ..,W..,szﬂuir; Ly
L2401 ch_bL:f/dbeH;:‘Jd.):u; }:J:fh -fmr"".hﬂ..rlhx);u"...ur‘Jd../Q Jo¥ ! d.,&.r(uuhul.;c_..f &
Note: you have four choices for each objective type question as A, B, C and D. The choice -uf J/':»-._«u!r
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled, Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) A4cm long chord subtends a central angle of 60° e S e bl 607 (i 4 (1)
The radial segment of this circle is:
(A) 1em ¢ 1 (B) 2em (2 (C) 3em ¢ 3 (B{'acrn 4
(2) The circumference of a circle is called: . e t‘li:'/hf K 21y (2)
(A) Chord J (B) Segment =+ (C) Boundary (D) Tangent
(3) Standard form of quadratic equation is: _g.fdJ_LvJ.—,bL-‘&uu (3)
(A) bx+c=0, b=0 8) ax2+bx+c=0,a#{)
(C) ax*=bx, a0 0) ax*=0, a#0
(4) If o, P arethe roots of s oo+ P ?uxujudi 3x2 + 5x - 2 0 =i p « /i (4)
3x? +5x-2=0 thena +p is: x--,,
" 2 @ = © = “\ o =
3 5 \1' &
(5) The discriminant of ax> +bx +c=0 is: /‘\'\_) ) ,..c.l:'npfu}(ax + bx +¢=0 bl (5)
(A) 5% - dac (B) b2+ dac /1 Q@ 5% 4 Aa (D) —b%— 4ac
(6) In continued proportion ..c.l.“Llf...er 'h' uwf. 1:;'\;‘ W 'a' A oac=b> . a: b =bh:c b (6)
a:bh=b:c ac=5h*. 'b' issaidtobe pr a! between 'a' and 'c¢'.
(A) Third 1~ (8) Foudh (C) Means k- (D) Second |/
(7) Find '.x in propoﬂlon 4:x5:15 \j N iérs‘-’" X' R 4ixn5:15 b (7)
() 2 <-~'i-;;f':?é‘i’?:4- (c) = (D) 12
4 A 5 4
(8) The identity (Sx+4)% = 25x% +40x+16 is true for; cemnd & L o (5x+4)2 =257 +40x+16 = (8)
(A) One value of X .;,.E_._Gd/ X (B) Two values of x u{f.'nJ x
(C) All values of x uj'-'.srﬁg; x (DY Three values of ¥ ui;fufJ x
(9) A collection of well-defined objects is called: e tlede Bl @)
(A) Subset .'-wG? (B) Power set Zrut  (C) Set cr ) (D) Improper set 2re2l
(10) The number of elements in power setof {1, 2, 3 }is: ' ce Gl s & {1,2,3} (10
(A) 4 (B) 6 (C) 8 {D) 8
(11) A grouped frequency table is also called: i EUe S5 s/ (1)
(A) Data st (BY Fraquency distribution (‘” ) (C) Frequency polygon Z..usm/d,.w (D Histogram __.:J ¥
{(12) The most frequent occurring observation in a data set is called: -:’-dll"/»d'rd- Termbiceroily (12)
(A) Mode asb (B) Harmonic mean b:i..f;l'(" (C) Median &~y (D) Geometric maan La;lL,ﬁ_J!
3n . _ .y 3
(13) i Radians = =fhs T (13)
(A) 1157 (B) 1357 (C) 150° (D) 30°
(14) Radii of a circle are: sl gl (14)
(AYAll equal lzplF (B) All unequal <z Z
(C) Double of the diameter e & (D) Half of any chord &7 nd" u’r
(15) A line which has two points in common with a circle is called: & unS Pl LS (15)
(A) sine of a circle sine K 71 (B) cosine of a circle  cosine K /i
(C) tangent of acircle  tangent e 7 (D) secantof acircle ~ secant ¥e_ #;

' A A A



MATHEMATICS (SCIENCE GROUFP) GROUF-I YN -l Nt U VIV

TIME ALLOWED: 20 Minutes OBJECTIVE (5% N e 20 = =
MAXIMUM MARKS: 15 Min =622 | 15= A

S i L 3o el e gt sz e v d607 LD 4 C B A 2Ly
VEIE V] -fﬁ.bl J/J.r[fuu‘&’...u.g .J:J:/JJ iﬂ'rxx“huﬂF?s:[aLﬁ_.;ﬂJLi4 Jo¥ L F_.f.p(u:/imh.:_..ﬁ i
Note: you have four choices for each objective type question as A, B, C and D. The choice -Jf d'/fh...ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Two linear factors of x> — 15x + 56 are; LGl x> —15x + 56 (1
(A) (x=T7)(x-8) (B)(x+7)(x-8) (C)x-7)(x+8) (D) (x+7),(x+8)
(2) Product of cube roots of unity is: _;_?MBFMI;@LJKF (2)
(A) 0 (B) 1 ©) -1 (D) 3
(3) o 2 4 [3lj is equal to: : il o’ + {32 (3)
" o - p? (B)J—fﬁg ©) (w+p)2-2ap (D) a+p
e
(4) Inaratio x:y,'y' iscalled: ’ _.c..irl.lrr 'y Xy o (4)
(A) Relation u"' (B) Antecedent ﬁad{f (C) Consequent (JJLE,-‘» (D) Proportion _.4:
(5) The third proportional of x* and y2 is: , ?kﬁ“‘v _.;-.....;L-wb’ y A x2 (5)
4 2
A 2 B x°y? © > { :)\ 0 %
:5}' i S ?\Ni\\ -,;_3 X0+ ] (6)
(r—i){r+2) f\_/) (x-1)(x+2)
(A) A proper fraction /=1 _gB)ﬁn?dentlty el
(C) An improper fraction ~_zls ‘"’”,ID”)Aconstantterm rL
(7) The set having only one element is called; -y %‘i,<’ k- -c..t'Uf crd’_ﬂ._:ﬂut'f_.v ()
(A) Null set (b @Sﬁwer set wril (C) Singleton set _.r!} (D) Subset h.,n—;_,f?
(8) If A and B are disjoint sets, tt@m&JB is equal to: byl AUB dunir f// B o A J (8)
(A) 4 (B) B (C) ¢ (D) BUA
(9) Adata in the form of frequency distribution is called: = Ay Jr‘”’ U (9)
(A) Grouped data :ifu'uf (B) Histogram .)J § (C) Ungrouped data :ir'dw';-' (D) Polygon { U= /
(10) The measures that are used to determine the degree or extent ce bl S Fit wlyrseld  (10)
of variation in a data set are called measures of:
(A) Dispersion s (B) Average L~ (C) Central tendency J&577 (D) Domain ¢fss
(11) secO cot® = =secO cotf (1)
) 1 sinf
(A) sinf (B) m € —5 (D) e
(12) Line segment joining any point of the circle to the centre is called: et e Wihe BsLe sy (12)
(A) Circumference k5 (B) Diameter £ (C) Radial segment =#*§T (D) Perimeter b/
(13) Atangent line intersects the circle at: e B myws Ll (13)
(A) Three points ,;w?gf (B) Two points {Ltﬁu (C) Single point z,bﬁ...f (D) No point at alluf’o"x_&ﬂu/
(14) The semi circumference and the diameter of a circle - bty sud)}(ufu)wsrb»‘._wr..f_. 7y (14)
both subtend a central angle of.
(A) 20° (B) 180° (C) 270° (D) 360°
(15) The measure of the external angle of a regular octagon is: il Srtinl, u,-'sljds,d:f ﬁ’ £ (15)
™ % ® % © % © 12

32(0bj)( < )-2021(A)-40000 (MULTAN)



NUMBER: 3197 ‘ SSC PART-ll (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-| by -/ (f SO S
TIME ALLOWED: 20 Minutes OBJECTIVE Q:‘:y“‘,.ﬂ? w20 = 2y
MAXIMUM MARKS: 15 MIN-10-Cy- 210 15= AF

feih | MBI QWL r e f WML E s L g 632 w1 LE s D 4 C B A ARl i
/..:»/.Jiru'l f(..kLJu';f’prf_-a:‘U’d.L.; !{}J/I? -fmr"]kb..f.r"uﬁgf_xﬂfz..z.; s 4 -.'../Q,':JJ/JJDLK_.J iJ
Note: you have four choices for each objective type question as A, B, C and D. The choice ../ 20 J’.);-...,ﬂr.v
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(M L=k | then e BaZaj A (1)
v W v w
(A) u=wk> (B) u = vk? () u = wk (D) u =vk

(2) The third proportional of x* and 2 is: p PR A o)
W % ®) x*y? © 2 0 =

(3) Afraction in which the degree of numerator is less than * -r._dlif m(c.dz‘:ﬂ i«/d)’id' LS, L/ (3)

the degree of the denominator is called: (A) An equation =ls»

(B) An improper fraction iy (C) An identity =51/ \H{Bam proper fraction ~/1s

(4) If 4 c B then A— B isequalto: \,Lzlmu A-B  AcB /i (@4
(A) 4 (B) B () ¢ m\? 2\ o) B -4

(5) AU(BNC) isequal to; -<trsz AU(BNC) (5)
(A) (AUB)N(AUC) __iB{L"'i;th(BﬂC)
(C)(4NB) U(4NC) orausuc) )

(6) The spread or scalterness of observation in apg\gmé called: & rii:"?ll:f Ko lalary (6)
(A) Average b~ (B) Dlspersuﬁﬁ y?-‘"? (C) Central tendency ulhdf,—* (D) Percentile .~

(7) Ahistogram is a set of adjacent. . ’1 } = Jﬂ‘:.;f..#—"'u} (1 (7)
{A) Squares ¥U», (E}«R@:}tangles KU (C) Circles KUsih (D) Triangles b’u:””

(8) cosec?® - cot?0 = —————— cosecd — cot2h = —————- (8)
(A) -1 (8) 1 (C)0 (D) tan® N

(9) A complete circle is divided into: ...;‘;.rtgl_ff:"si.,‘vbf (9)
(A) 90° (B) 1807 (C) 2707 (D) 360°

(10) Acircle has only one: —e b Ll e g (10)
(A) Secant G (B) Chord 7 (C) Diameter # (D) Centre /7

(11) A4 cm long chord subtends a central angle of 60° .  —¥n b b - thasli€ 60° ,;}’}}ﬁlbé.u{" a..f (1)

The radial segment of this circle is:

(A) lem (B) 2em (C) 3em (D) 4em . "

(12) The measure of the external angles of a regular octagon is: -q.dmui'Jugledr,géf (g" < (12)

n = n n

(A) 3 (B) 5 (C) Y (D}

(13) The number of methods to solve a quadratic equation are: SR SLL S g (13)
(A)1 (B) 2 {C) 3 (D) 4

(14) Product of cube roots of unity is: -{,..,.A“H’.,A%@LJFF (14)
(A) 0 (B) 1 (C) -1 ()3

(15) If a, B arethe e s¥ 2B 20 Tl g s quar=0 S Boa i (15

roots of px® + gx + r = 0, then sum of the roots 2a and 2P is:

) =24 0 --L

) 2 ®
p p p 2p



NUMBER: 3194 l SSC PART-II (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-II </ (o ) Fu
TIME ALLOWED: 20 Minutes OBJECTIVE Q:’sf"’,-a?' w20 = =
MAXIMUM MARKS: 15 M TN -10-G3 - 20 15= AF

A b IAhise el nerna Wi ésie v E v g J60n J&"L; D s C B A=l vy .oi

«'-y',’{-;“"b” —f&b‘-?bﬁf‘.\jiuﬁ-—rlﬂ&d-/—i )':,Juh -b’mﬂﬁ-u i20ads JHJJ‘J.{_.J":; Sy L.fyu:/'.!nl.h:‘_--— = id]
Mote: you have four cholces for each objective type question as A, B, C and D. Thn choice -2V ,J:-._.mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded In case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A ANy
(1) Theset{x/ x € wAax=<101}is -¢.tliv-/{ x/xewaxsl0l}or (1)
(A) Subset ...g-[j” (B) Empty set 2~ (C) Infinite set 2§34 (D) Finite set Lo(its
(2) If number of elements in QeI Su088 Ax B ix 2 £ B 2o 3 05SKAA A )
set Ais3andinset B is2 then number of binary relationin 4 x B is:
(A) 23 (8) 2 © 2* o 27
(3} Ahistogram is a set of adjacent: I---*c...u""..-'dJ ¥ (3)
(A) Rectangles U+ (B) Squares ¥U»l, (C) Circles §Us 71 (D) Triangies bu?j"’
{4) The extent of variation between two extreme observations - db JJ’ n;uuf.ﬁ._'udl.? L};Irff; :._5'( (4)
of a data set is measured by:
(A) Average L~ (B) Quartiles 47 (C) Range = (D} Percentiles .« s}
(8) cos 00415" = « \j - sls ;cosec‘lso (5)
® ® 55 © fm\xﬁ’; —3
(6) Locus of a point in a plane equidistant from a fixed -.r.,gllf g“ﬁ\ un..".";bﬂ.cc..&# :‘..r A (6)
point is called:
(A) Radius 1y (B) Circle »70 (Oi,ﬁs\”rdﬁfjnference £ (D) Diameter #
(7) Aline which has only one point in common with a m@g\&ta!ted -2 n PN AL KB )
(A)Sineofacircle sine ¥—n . L0 l‘{éu) Cosineof a mrcie Cosine ¥’
(C) Tangent of a circle  Tangent &’,.ﬁm@ " (D)Secantofacircle Secant ¥ Ji:
(8) A4 cm long chord subtends a central B L e e bl 60° .;,C»,,w,duf 4 L (8)
of 607 . The radial segmenthﬁQ-circle is:
(A) lem (B)-Zem (€) 3em (D) 4em
(9) The measure of the external angle of a regular hexagon is: _a.u Jfﬂ’bufligdggihf#}/ i (9)
A %4 ®) 4 © Vs o %
(10) Standard form of quadratic equalion is: ..r‘_ur’ ;,F:Lvd'-.“-«F:LJ'Juu (10)
Abx+c=0,bz20 (B)ax’+bite=0.a%0 (C;c.u =hbx,a®0 (D) ax*=0, cz#{}
(1) ¥ o, [5 are the ¥ 2B 20 e {routs)wn;..pr Fgx+r=02b p oo & A
roots of px tgx+r=0, then sum of the roots 2 and 23 is:
= —2¢ -4
(A) — (B) = (C) » ) 5 2p
(12) The nature of the roots of equation -v;z_zr:"’c_ )’rL—"i,-,j;_. Wl ax® +bx+c=0 el (12)
ax® +bx+c¢ =0 s determined by:
(A) Sum of roots «»¢ E’JL (B) Product of the roots o A} ¥
(C) Synthetic division (“ ._£' y, (D) Discriminant ,;‘-"J)
(13) Find X in proportion 4+ x::5:15. L X L 4ixnS5005 «F (13)
(A) E ® = ©3 ) 1%
3 4
(14) If wo v’ | then: 2 ouevi /S (14)
B) u=1v2 (B) u = kv® ©) uv? =k (D) uv® =1 :
(15) i+ s: s b k1. (15)
(x=1)(x+2) ST T (x=D(x+2)

(A) A proper fraction ~—z2ls (B) An improper fractlon /...-:f:,-*

Ty A 2ud membile s IJ'l » MYt B s s il R n



PAPER CODE 2019(A) M /\{ | 96 /fi}w

NUMBER: 31 95 SSC PART-lI (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP- b - (f SO

TIME ALLOWED: 20 Minutes OBJECTIVE (&2 2220 = h

MAXIMUM MARKS: 15 15= AF
S ch b SAh ISl 2 B AL s WL ra g §W7 L&D 4 C B A =2 S i

saedrn KBt e S g sty Ens zsdd S8 S Sk | LS nimsie L) -
Note: You have four choices for each objective type question as A, B, C and D. The choice ../ S =ty
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Line segment joining any point of the circle to the centre is called:- ...;.-_rll:‘iﬂ.-b"w;i. uf}‘}c_.ﬁdr Le it (1)
(A) Circumference L (B) Diameter & (C) Perimeter bb! (D) Radial segment b1,

(2) Aline which has only one point in common with a circle is called:- & S FEILLGA AL K/ Bk ()

(A)Sineofacircle  sine b 70 (B) Secant of a circle secant e /s
(C) Cosine of acircle  Cosine ¥ /i (D) Tangent of a circle Tangem b 1
(3) A pair of chords of a circle subtending two Lur LA E e Ui nf.fdf,-'g. L (3)
congruent central angles is:-
(A) Congruent fu (B) Incongruent Ji=# (C) Over lapping @ (D) Parallel (17
(4) The measure of the external angle of a reguiar octagon is:- xé.-m.wuuy.adw!. J‘?’ e (4)

(A) = (Bl (2 (D} B
{5) The number of terms ina fﬂ@ﬁ\%@;.ﬁ ax® + bx +c= 0 el Sibas S (5)

standard quadratic equation ax? +bx+c=0 is-

") 1 ® 2 \(} © 3 © 4
6 If b% ~dac <0 é%f’,_ﬂm.m +hr+c=0 opdt b2—4dac <0 S (6
then the roots of ax> +bx+c¢=0 a .f'\‘\‘
(A) Imaginary :?,é al Jt (C) Irational u"t/ (D) Natural numbers P

MK a.p ﬁ\&ﬁfm,i}‘ub’ 2B w20 :wa.-[_' 2 —x—-1=0 ztls P ca A (7)
are the roolsof B e —%‘-’then product of the roots 20t and 2P is:-

(A) = (B) — )4 (D) 2

(8) If a:b=x:y thenalternando property is'- Ayl aih=x: yA (8)
I XY @2 @ 2=2 @ 2=

X y b 4y x % b y
(9) Inaproportion a:b:c:d, a andd ..ulekrd soap a:buc:d € (9)
are called:-

(A)Means 23  (B)Extremes o2  (C) Third proportional €14 (D) Fourth proportional w5,

(10) The identity e ( Sx +4)2 =25x7 + 40x + 16 =L (10)

(5x+ 4)2 =25x% + 40x + 16 is ture for:- _

(A) Onevalueof x L Ll=d (il * (B) All values of x d_z.ur’ oS x
(C) Two values of x LLuitnf x (D) Three values of X .d.r..._;r’uﬁf X

(1) f 4 B then A - B is equal to- tnde A-B A BS (1)
(A) B (B) 4 (C) ¢ (D) B-4

(12) (AUBUC isequal to:- e bz (AUBUC  (12)
(A) AN(BUC) (8) (4UBNC (€) AN(BNC) (D) AUBUC)

(13) The most frequent occurring observation in a data set is called:- -.;.JLHZ&I:L.T.E;»LJG...,.»UC::M (13)
(A) Mode ok (8) Median _t-s (C) Harmonic mean b-+#£74 (D) Mean kil

(14) If tan@ = 3 ,then @ is equal to:- B=__ 3 am@=v3 S (14
(A) 90° (8) 30° (C) 45° (D) 60°

(15) sec?® = sec20 = (15)
(A) 1-sin0 (B) 1 + cos’® (©) 1 +1an’0 (D) 1 - tan®0

30(0bj)( I I Y7 )-2019(A)-58000 (MULTAN)



PAPER CODE 2019 (A) MN-AeE )

NUMBER: 3196 SSC PART-lI (10th CLASS) \
MATHEMATICS (SCIENCE GROUP) GROUP-II ey (o) F) &
TIME ALLOWED: 20 Minutes OBJECTIVE g"‘if’,n? w20 = =
MAXIMUM MARKS: 15 15= AF
S b L SN IS I L R s S P s LS JEIR gL Es D sl C B A M2l e

2aq-drut Kbl LA 2 a S Lo Kty MnmPi i life i §ESL Sa¥ | L nimie Ll -2
Note: You have four choices for each objective type question as A, B, C and D. The choice -] So et
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) fa:b=x:y thenaiternando property is:- e uiin azb=x:y AW
we=2 ® == @b xty =P X2)
x y by b ¥ x v
(2) if a:b=x:y  theninvertendo property is:- -{...:»_-’Lfgin a:b=x:y A (2)
wa=2 §t=t 2tb. 2ty 2.l
Y LA A - S
(3) Partial fraction of e T are of the form:- e (1 :{}j‘%d b2 e e D) 3)
WA, B ®-Ax , B oy -4+ BxTL;;},{m Ax+B _C
=1 x+2 x=1 x+2 x-1 \i: x=1 x+2
0O
(4) Point (~1, 4 ) lies in the quadrant 1 n cmpl (-1,4) B @)
(A) 1 ®m N (D) 1V
(5) Ifnumberofelementsinset 4 - sl AxB w2 2B era 3050002 4 2/ ()
is3andinset B is 2, then number ofbin?q tishs in A x B is-
(A) 2° e 28 qg\gj ) 2° (D) 2
(8) Mean is affected by change in:- K¢ \jv *q_t'ﬂ;ﬂ'c_a:_./d_f bl (6)
(A) Value =F (B)Rafio =’ (C) Origin &7 (D) Proportion o
(7) The union of two non collinear rays, which have common et ol e P P N e T )
end pointis called-  (A)Anangle .« (B)Adegree dﬁ (C)Aminute =+ (D)Aradian ¢/ 4
(8) sec’® = sec20 = (8)
(A) 1-sin’0 (B) 1+ tan"0 (C) 1 + cos20 (D) 1 - tan”®
(9) Locus of point in a plane equidistant from a __Lrﬂ-;f ___,w.;JwE.rI;;,J;bm’;u.g—ﬂérm'.dP (9)

fixed point is called:-  (A) Radius i, (B) Circle +/6 (C) Circumference & (D) Diameter y
(10) A line which has only one point in common with @ circle is called:- < bl e SEELSAA L Sl (10)

(A) Sine of acircle  Sine b 71 (B) Cosine of acircle  Cosine ¥ /1
(C) Tangent of acircle  Tangent K /s (D) Secantof acircle  Secant §e 71
(11) A pair of chords of a circle substending two congruent L pAwpEe u;E;,-:u’-g.:i.:Jf/J‘U-'u (11)
central angles is-- (A) Congruent J&  (B) Incongruent J+¢  (C) Over lapping /1> (D) Parallel (717
(12) The length of the diameter of a circle is how many times the Yg..ljﬁi:-’i:":d:u"'u.f.g. wdEBLmdl  (12)
radius of the circle? (A) Onetime {i (B)Twotimes 3 (C)Threetimes bf (D)Fourtimes &
(13) An equation, which remains unchanged e et iStn Vo BE x Blebw  (13)
when x is replaced by /, iscalledalan-  (A) Exponential equation =ii-(iAs?
(B) Reciprocal equation ;m-‘;,r.-f"’ (C) Radical equation =\i+J.% (D) Quadratic equation =l
(14) Product of cube roots of a unity is:- e ALK Sl (19
A) 0 (B) -1 (€) 1 (D) 3
as) L1 _ entel us
e B o B
WL e (gt o) &2 B
o o P B

o
32(0bj)( ¥ T I)-2019(A)-36000 (MULTAN)



MATHEMATICS (SCIENCE GROUP) (/0 Cu

GROUP-I gt
TIME ALLOWED: 20 Minutes OBJECTIVE L’.”/“““? 20 ==y
MIAXIMUM MARKS: 15 15=4F

LB A S M3 I L e ne fusmd bsib C v ,q..;Qfdi.ﬂ_wé&._-:DnlCrB-A.:-ym;f;kﬁd*r,:-ub)

-;,{f-.‘rurfﬂubL'“'F-(.aga;.gl'fd{-fi.HJJ/JIJ@J!‘JLf;.ﬁfu:fl;-fxaraw?lﬂnfiJa;ﬂJLf.{/él‘LL/{fwﬁmLJ

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct; fill that bubble in

front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbies will result in

zero mark in that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER .

Q.No.!1 AU

(1) A fraction in which the degree of numerator is less -« i wledSe s 8RS D

than the degree of the denominator is called:

(A) Anequation =i~ (]'3) An improper fraction /215 ¢
(C) Anidentity =SV L#B7 A proper fraction A als
(2) The number of elements in power set { 1, 2, 3} is . -adx:lﬂtfu"ﬂa’-:v-*‘»lﬁ{ 1,2,3} @
(A) 4 (B) 6 ) 8 D) 9

®) 1 ©) IV o)
(4) A grouped frequency table is also called: [«B/ q.rlhfdmd;ﬂw»f 4
(A) Data iy Frequency distribution et

(C) Frequency polygon ({uweun2»# (D) Cumulative ﬁ'equency distribution 2GS

(3) Mamt (-1, 4) lies in the quadrant: -etnflA-1,9) B (3)

(5)  The union of two non-collinear rays, which et g(m.f LUt A Fn  (5)
common end point is called: N
X) An angle . (B) Adegree (/3 (C) 4 rfjli'nﬁe 2 (D) Aradian 4.
(6) The symbol for a triangle is denoted by: ARV e Lb S blat  (6)
(A) < (B L1 Y ) A
(7) A line which has two points in common mﬂQ g _) BLunS e Lol Skl (D
circle is called: NS
(A) ~Sine of acircle  sine¥ 71 («‘,L\'"\'f{f?f” (B) Cosineofacircle cosine¥e /i
Secantof acircle  SecantfeJix) A (D) Tangentofacircle Tangentées

(8) - A pair of chords of a circle subt two -Lus_ RATepZauimd eSS pJ e (8)

congguent central angles is: (1)
ongruent S @ Incongruent Ji 2 (C) Over Lapping /1> (D)Parallel (i
(9) The length of the diameterof a circlé i is_ el LumlemdddBlem i (9

times the radius of the circle: )
(A) One [ (B) Two » (C) Three £ (D) Four

(10) The tangent and radius of circle at the point of e LS s Wi (10)
contact are: }ﬂ/ =
(A) Parallel s> L (B) Not Perpendicular (a4 ¢ (OrPerpendicular 2:5f; (D) Collinear il
(11) Anequation, whlch remains unchanged when e WAL el f&”l Lo L fathrns D
“x” is replaced by — is called a/an: > %

(A) Exponential Equaunn el t‘B’) Reciprocal Equation =tleys®
(C) Radical Equation -_-I.!I..Jljur (D) Quadratic Equation = I:L-dm:

(12) Roots of the equation 4x* — 5x + 2= 0 are: Bl A - 5x+2=0as  (12)
(A) Irmational  Jt2 imaginary &4 (© Rational (Pt (D) Natural (.9
(13) Prodact of cube roots of unity is: e S L8 (13)

1 ,B) 0 © -1 (D) 3
(14) The thlrd proportional of x* and y* ;5'5 e VLAY six (14)
(A) (B) x }( 4 D) 42/
J" x" A A / x4
(15 1f % = % , then componendo property is: e }'?x% = % Si Qs
(A) a-b_c-d ® _4_ __¢ © ad p o
b d a-b c¢-d be a+b c+d

MUTN- 192 1= §  3000b)(% % )-2018(A)-5000 (MULTAN)



PAPER CODE 2018(A) | %0222 < ¥ \

| NUMBER: 3194 SSC PART-II (10® CLASS)

MATHEMATICS (SCIENCE GROUP) (/0 Fu
GROUP-II I /u..rd/(
TIME ALLOWED: 20 Minutes OBJECTIVE (1 220 =23
MAXIMUM MARKS: 15 15=4F

ekl ,!a_pjgf ;LJ';.?IJJWJW&.._.-Lr!.:—n:c:.gﬂuu'bié_.:a.luf.dlr A Qﬁ}m.gi&._.mmcam.—.-@m ¥ A;Ldlr ,-.-.._*.u’

L) ,—..:.ulr,;.e,;.glr._,r!.(appgﬁ’ AN Lam Sz pf p P W el i fmnr §e S LS S i ik

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct; fill that bubble in

front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in

zero mark in that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 Ay
(1)  The fourth proportional w of x:y:: viw is ew gLy viw (1)
(A) » ® W (©) xyv ™ X
v X vy

(2) A fraction in which the degree of numerator is less .. 3,/ eSS i S S D
than the degree of the denominator is called: o (= / -3

(A) Anequation =l (B)  An improper fraction /214
(C) AnIdentity =fV (D) A Proper fraction ~/_-=s
(3) A set with no element is called: e\ =«f-l-'lh’/:f-‘-cfcdf L e ()
(A) Infinite set ertsZ  (B) Emptyset exde  (C) Singg_c:ﬁe’ sef er(f (D) Superset &xg
(4) TheRange of R = {(1, 3), (2.2), 3,1), (4.4)} is: s RE ((1,3), (2.2), 3.1, @0} (@
MY :;.J:t Range 7
A) {1,2,4) B) {3,2,4) 3 A12,3,4) ®) {1,3,4)
(5) The spread or scatterness of observations in a data "~ PRI A2 g’ ()
set is called: NS~
(A) Average b (B) Dispersion 45 w’&,‘\.@j Central tendency w#.57, (D) Median sb-s
(6) ., The union of two non-collinear rays, whi s -q.rlhf oL S P LR UIEBA s (6)
have common end point is called: (F-2 7
(A) Anangle . (B) A degrep s/f3 (C) A minute o> (D) A radian o4
(7) The symbol for a triangle {gﬁ&féﬁoteﬂ by: :q..:/mf LS efa (D
(A) < B) O () L ) A
(8) A chord passing through a centre of a circle is called: :q..rmf i Sef Ll (8)

(A) Secant oA BT (B) Circumference L (C) Diameter & (D) Radius 1
(9) A pair of chords of a circle subtending Lousn LB gZ s ei§7 ;J e (9)
two congruent central angles is:

(A) Congruent S (B) Incongruent Sz (¢) Over lapping /1> (D) Parallel J##
(10) Angle inscribed in a semi-circle is: ekt fesnid  (10)
(A) = (B) 7 © = (D) =
4 3 2 6
(11) tangent/tangents can be drawn from a wé&g’f{—ﬁ??ﬁfvc-ﬁ—&?ﬁﬁﬂé-ﬂ: (1)
point outside the circle. )
(A)One Ji (B) Four J (C) Three & (R) Two »
(12) An equation of the type 3"+ 3** +6=0 isa/an Lield 343 +6=0 cule (12
(A) Exponential equation ehlodiad (B) Radical equation =hl-J.i
(C) Reciprocal equation =lssy/5 (D) Quadratic equation =tslsGu
(13) Two square roots of unity are: a8 el e (13)
(A) 1,-1 ® 1, © 1,-w ® o,
(14) If @,p are the roots of x? —x — 1 = 0 then product ?umfu[. X-x-1=0ci a,f A a8
of the roots 2a and 2 3 is: e tre NN 20 2a
(A) -2 (B) 2 € 4 (D) -4
(15) In Continued Proportion a:b = b:c, ac = b’, b is said JLoac=bl vatb=bc ..,/I:TJ’V (15)
to be proportional between a and ¢: -t b usLlcna

(A) Third 14 (B) Fourth 3 (€) Means b (D) Second 1,1



Mathematics B 13- Paper Code No. 7193 s

Paper : II (Objective) 1** A. Exam. 2024 Group I g |  ( ogsm) II .
Time : 20 Minutes SSC (Part — II) a 20 Ay
Mavks : 15 Session (2020-22) To (2022-24) 15 ol yutd
Beop1-24
JufLLL!W..ta-.-_t,:uuué;._«:.p&wum;gﬁ (3o .h.m.,,Tf...n;;,ﬁ ALeD CB ALl rs ¢ S

Ky .I-U__»-I:?uf Al J i/ {)’ -...-l‘!.,r..f 4:( UJJJJuLJc_u{I PLY -l =

mark in that question.

Note : Four choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on
the Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero

Tangents drawn at the end points of the diameter of a circle are : Py U LB 7 14U
(4 Perpendicular 5" (B) Intersecting /6 (C) Now-Parallel (174 (D) Pasallel 17 ()

: .-_-_B':f_...-..,:t.:df 7 !-'Lf..eﬂéif__fl: 2
The Senn Circumference and the Diameter of a circle both Subtends a central angleof
W % ® 18" @ 20 ® 3"
A tangent line intersects the circleat @ : l;f#b’____,ft_}l;uwﬁ_g &)
(A) Single point 5L (B) Two points 4B
(C) Threepoints blicE (D) Nopointatall uﬁ’}d‘/,&df
Radiiofacircleare  : O Lguw.uiaxﬁml:gﬁhﬂ @
(A) Allequal izl (B) All unequal ,/mzrﬁ
(C) Double of the diameter Lﬁ:_%./l"" (D) Half uf an)ﬁehpﬁi .L:l;,ﬁd" Lf( N
Scczﬂ=_ 3 f‘\\f - _=Sm‘.2 6 &)
(W) 1-sin®0 (B 1+’ (O génﬁ" 6 (D)1-tan®@
The most frequent occurring observation W%t is called : q.dW/ p dlsi..f...- /o:l...r:.uf@'-' :lfo'r (6)
(A) Arithmetic Mean  b-si(}L> & () (B) Median .- |
(C) Harmonic Mean sl STA<\)- (@) Mode we I [
Point (=5, =7) lies in the Quadrant : Lt—nuccb (-5 -T)Jw] (7
@ 1 ® 1 © m @ 1 N
The different number of ways to describe a setare : - q.Jmu.JJ RS LS S Wk forl (8
W 1 ® 2 © 3. @ 4 o
(x+3)2=x%+6x+9is : q_...f'l(x+3)2"x +6x+9| @
(A) Linear Equation w=tsbs(fnf (B) Identity =l
Dbl g . DDl Bae o ~ .
The Mean Pruportional of 4m? n* and plis : {_.,_.’-I,;Jr L}Jml{ p .ul 4 m? (1 0)
(a) £+ 2m np®  (B) + 2mm?%p° (© +2m®n®p® O F+4am®n?py®*
If y? ocx—athen: :?ﬂyzocx%fl An
Wy =3 ®)y 2= 3 @y = Oy =k
TheDiscnmlmtnfx +Ex+16 Ois : {..l.kfg.’/'rx +Ex+16 0 (12)
W 1 ® s © 1 ©® o0 . .
Sum of the Cube roots of unity is : {...vr" F'Jlfyf.{jh’i 13
W o ® 1 © 1 ©® 3
The number of metlmds to solve a Qua.drattc Equation is * u?é[-) df J:-L; J’ f --vUL-‘L;JJ » (14}

Ay 1 @M 2 () q (D) 4
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Pper : II (Objective) 1** A. Exam. 2024 Group IT |  ( gogm) II :
TLme : 20 Minutes SSC (Part - II) o 20
Marks : 15 Session (2020-22) To (2022-24) i5

© Lup-2-2y

Jﬁ}_fa‘oﬂ/’l:iiﬁh-_.pﬁuﬁbig:&bidlr{jli;ﬁw TP e MR B L D CB A Yz Ly ¢ g

KA A2 f 3 L ST SMES I i\ Lo A il

Note : Four,choices A, B, C, D to each question are glven. Which choice is correct, fill that circle in front of that guestion number on the

Objective Bubble Sheet. Use marker or r pen to fill the circles. Cutting or filling two or more circles will result In zero mark in that question.
-

H a'lrm

The measure of the external angle of a Regular Octagon is : q_Jleﬁd’.L_qus,gﬁu‘bf".le’U"’
w § ® 7 @ 7 o ;] L

q..hf......_..nbd/ 68 79230° ,..sud)' re? _L/,; :.-..u.'.'u:'} J I.r‘;.-&z_xh..ﬁ (2)
Out of two congruent arcs of a circle, if one arc makes a central angle of 30°, then the other arc will subtend

thecemmalangleof : (W) 90° @) &° (@ 30° @ 4° |
Acirclehasonlyone .{_.I:'.rf..__-iﬁ.f KLl (3D
(A) Chord 75  (B) Radius (s (C) Diameter S (D) Centre J, |
Radii of acircleare : Ul gLl (@)
(A) Allunequal iV (B) Allequal 414V
(C) Equal to diameter 1L 49 _ (D) Greater than diameter &-2ed? |
Sec?f=_ (glf‘“"” i =Sec? 6| (B
() 1-5in"0 (B) 1+0°@ (C) 1+c0s*0 (D) 1-tan@\ & X
The spread or scatterness of obsenratmns in a data set is culled.;fﬂﬁ\j : q-t'llf( I Sy 210 UJ (6)
(A) Dispersion A% (B) Mean k-l (C} ﬁ{gd{ vl (D) Median -y
The number of elementsmpowersct of {1,2,3 }ig Q> L.Jml..w{fu!-’.aléuﬂul.ﬁ { 1 2,3} M
a) 8 ® 7  (© aN &{D} A
IfASB,thenA-B=..... : L\?V tA-B=..... jacB/fi| ® ]
w 2 ® o @ (o) ® B

Do cond £ Exdsx+ 42 =253+ 40x + 162L1| (@
The identity ( 5x +4 )% = 25x + 40x + 16 i true for the ofx !

(A) OneValue =dfi (B) Two Values U725 (C) SomeValues U 4 (D) All Values U5 o2

If a:b=x:y then alternando property is : P ezl Inatb=x: y; (10)
W atbzcrd ® =2 (@ 5:5 @ o=z

InProportion7:4 :: P:8,P=.. ... : NS C P e ulida D 8| A
N 84 (B 56 © 28 (D) 14 o |
Twosqua:emutsofum“l;a;t:_- o Y : u!dl/uipu’:dﬂ (12)
@ -1, ® 1,3 @ 1-w @O 1,w,w

Roots of ax +b; :'_c:_ H_v:rﬂl be equal if : B m:“ﬁjﬁu,m:l/.ujuﬁ axz-l*hx*.-::.; 0 (;3}
(A) b*>4a0  (B) b <dac () bP=-4ac (D) b%=4ac .
i towOixiasgtion: : e cblof bxtc=0| (14
(A) Quadratic Equation elsisf..s5s (B) Exponential Equation =ls+(lfes

(C) Linear Equation = llrfust (D) Radical Equation —J!L-‘L_fJf_____ 5 m am i
Sum of all possible values of x in 5x%=15x is ¢ ﬁ-_;:"fur"u:'gfxgﬁ Sx = ISx (15)

@ 3 ® o © 15 @ 5

P o T i, . . .

L1 o —




b -] LuhaNO. (1 | Paper Code No. 7193 Lﬂ{h_)
Paper Il (Objective) Ist - A - Exam 2023 [ GAE) 1 <
Time Allowed : 20 Minutes SSC ( Part- Il ) oo 20 3:,\

Maximum Marks : 15 Session (2019 -21) to (2021 - 23) 18 ¥

@ Bu){?f 1-23

e NS eI L R s LI s L i g3zl é s D, C , B, A ezl Jivs

_fmrﬁbﬂylﬁnafipﬂay‘;{uy.bﬂ'gﬂf Wribmlie (i

Note : Four possible cholces A,B,C,D to each question are given. Which cholce Is correct , fill that circle In front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark in that question,

JRON

The measure of the External Angle of a Regular Hexagon is : r. O i g sl Ju,g L ;_.&—-*rﬂ" il A
w2 e reol ol o
P J—— SISAP ¥ Spmin 30009 6 ¥ U9 L N ik UrdSF 1 & < £ (2)
Out. of two Congruent Arcs of a circle, if One Arc makes a central angle of 3[]“', then the
other Arc will subtend the central angle of : (A) 30° B 4° (© 60° @) 15°
- L,g-?.'..rr- JJTW£§’{UJ’/£)3£¢.}!; (3)

Tangents drawn at the ends of Diameter of a Circle are ——- to each other :
(A) Collinear %~ (B) Non - Parallel Ji#2 (C) Parallel (5 (D) Perpendicular  »f

Radii of a Circle are : NS, 4% Y SR i e (4)
(A) Half of any Chord Lch.-}JL}{L’f{B:I Double of the Diameter TPy
(C) All Unequal .-:L{/!rlﬁ (D) All Equal xlmlg.“_. A
1 1 S5in© D\
@ 3o ® Twe © Sin® O 55 oY sedCo® = 2 | (8)
A Histogram is a set of adjacent : : 4}3\\5« T L o ..u‘f..‘jd ¥ (6]

(A) Circles ¥ (17l (B) Squares ¥ U#ly {Gjmﬁglgles ¥ & (D) Rows ¥ yul§
The spread or scatterness of observations in E,a%-'g’a;)\eﬁs called : : &~ el g ¥ ol 2 u’r )
(A) Average L»l (B) Dispersion ;I.‘.-Tfl1 j@;f?l{(féntral Tendency uiﬁid}f* (D) Mode  wb
Point (-1,4) lies in the Quadrant .--?«Ef\‘if‘} ' b A O (-1,4) B (g)
(A) @ W (© IV (D) 1

Power Set of any empty set is ;= Vo B

A {a} ® {9 }..,..._...‘C’ {p. {a}} O ¢ !

W — nlesASL N § et | o)
A Fraction in which the Degree of Numerator is less than the degree of the Denominator is called 5

(A) An Equation b~ (B) An Identity =L
(C) An Improper Fraction /.,-a!y! (D) A Proper Fraction /.!..?;h
The Third Proportion of x> and yz is : ety 1 1 y> ol x2 (11)
4
, @ v/ ® & © ¥ o yx
Ina Ratio x 1y, 'y' is called : :q..t'w,'y';ﬂx:y.:.-a;} (12) |

(A) Consequent ﬁd/» (B) Relation Jw (C) Antecedent g:d:‘ (D) Proportion sl
I De b A2 2k I L X x -1 = 0 =i B, S| (13)

If o, B are the roots of the equation xz- x =1 = 0, then product of the roots 2 & and 2B is :
| 4 -2 ® 2 (© 4 (@ -4

Product of Cube Roots of Unity is : ! N ¥ .,.:ﬂlzjf 'y (14)
i (A 0 B 1 (O -1 (D) 3 ;
The number of Methods to solve a Quadratic Equation is : q;a.)ﬂgfd' S ahadn n| (15) |
A) 1 (B 2 (€ 3 (D) 4 ﬁ"




Mathematics m L.K.No. 72 - Pnpnr Goda No. 71986
Paper |l (Objective) Ist - A - Exam 2023 | (.:,Ju-',v) ||

Time Allowed : 20 Minutes . SSC (Part-11) w2 20 =

Maximum Marks : 15 Session (2019 - 21) to (2021 -23) 18 :  AF

@ (Swp~2-23

[ s B S 23 QL R s na LU & sl L v g3zt £4 5 D,C B, A ezl Jiry 1 daed
_fnar‘jbuur{?uﬁgdﬂui‘JLfJuﬂL& S Usreslie i
Note : Four possible choices A,B,C,D to each question are given. Which cholce Is correct, fill that circle Infront of that question
number. Use marker or pento flll the clrcles. Cutting or filling two or more clrcles will result in zero mark In that question.

Sum of the Cube Roots of Unity is : e A ¥ e £ 00 12,

(A) 1 (B) 0 <G -1 (D) 3 (1)
The Discriminant of ax* + bx + c=0 is : f,-._rm.c:@}r ax’ tbhx+ec =0 @i (2)

(A) b® - 4ac (B) b* + dac (C) -b> + dac (D) -b2 - 4ac
The Solution Set of the equation ax? - 16 =0 is : S = -::‘LJ’ ¥ 4x2 =16 = 0 &bl (3)
(a) {24} B {4} © {z2} (O =2
If }'204—13- then :. M jrzvﬂ—%- A1 @
X x
2 1 2 2
Wy =5®7=x @ y2=—1‘5-m} ¥ o=k
The different number of ways to describe a Set are : . e Wuﬂ)ﬁﬁuuk L el 5)
(A) 1 @B 2 (€ 4 (53 \§ -
-2 o -2
Partial Fractions of ——————— are of the form : A\ G iz f —Z2— 1 (6)
(x =1)(x +2) e f:;\\_;a ! (x-1)}x +2)
A B Ax ©R | mec . AxsB . C
. X
(&) "'1+x+2 (B) x-1 x+,;_(cj-v’ X+ 2 (D) x-1+x+2

In a Proportion atb:ic:id, bandt:w,a\mlled: i Ll cabLaibiicid b | (7)
(A) Extremes ,ﬁ) (B) Fuurth Pmportiug\ihwﬂ?g (C)Third Proportional wEl~# (D) Means W]
If AB then AUB is equal fa'}- t b 4t AUB 3 AcB S| (8)

<@ B B A © ¢ O {¢}

@ sine B zas © 3os @ oo SecOCot® =—m? | (9)

D bt —— 2K o I e bl S ' 2| (10)
Sum of the Deviations of the variable 'x' from its Mean is always —— :
(A) Same lxfl (B 0 (O 1 (D) 2

f e O 4 Wl ubic el dr @ | (1)
The most frequent occuring observation in a data set is called :
(A) Arithmatic Mean Lii}l> (B) Median #k-s (C) Harmonic Mean ksl T4 (D) Mode wle

A Complete Circle is divided into : te bl | e L end| a2
(a) 0° ® 180° (© 270° (D) 360°

The measure of the External Angles of a Regular Octagon is : & du & § ugsts dse £ ._-F’,P i (13)
w3telolol

.r D s 6 P blugall ¥ 60° ¢ 2 2 bl Fafl] (1)
A 4cm long chord subtends a Central Angle of 60° the radial segment of this circle is :
(A) 4em (B) 3em (C) 2em (D) 1em

A Circle has only one : P bt e (8 L ¥ I | (15) :
(A) Secant Gk (B) Centre Jr (C) Diameter A (D) Chord
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w200 =3

Time Allowed : 20 Minutes §SC ( Part-11) * 1 F

Maximum Marks : 15 Session (2017 -19) to (2020 - 22) ;

=4

—JJ/L-.J;LJ". ' ui;..-bﬁu"wa-..-I.P...--'.e.u;ufu:ﬂ:f.fénibd:dir‘;{{lrd'?-b"éé" b,C.B, AHF“’"’E""’LJVJ B
st RS ST S i kit
Note : Four possible choices A,B,C,D to each question are given. Which cholce Is correct, fill that circle Infront of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark In that question.

Pl Ul axT rbxde = 0 ehadlads » 14w |

{The number of terms in a Standard Quadratic Equation aC+bxte=0 is : (1) !
! 4 MO 3 (© 2 (B 1 (A
| Cube Roots of "-1" are : ; bg_r,.-fjl_-j!.ﬁ"-l" 2)
- e T. B Wz ('D:l -‘1 W, 1.-\.1'2 (C) -l,wl.m-m'rvz (B) -1,-w,-w2 (A) - |
Two Square Roots of Unity are : Pt G e £ Ijﬂ; @) |
- w, we D) 1,-w (Q 1,w (B) 1,-1 (A)
élnaRaHo::y,"y“sscalled: :.T_.tﬂvr'y“utx:y.-.-i;" (4)
;_ ['ruporﬁun wF (D) Consequent ﬁd/y (C) Antecedent ﬁ{.k: (B) Relation JN [A]
EIf U ﬂ(.‘a' , then : A5, 3\“1 U2 V A (5)
_f 2 =
uwW=1 (0 UV =K (Q U= KV {\‘U=
e sreprserserrrerom e e Lt ‘ \
{ Partial Fraction of _"__‘_“,_Ei__ are of the form : 5 d;r%{wé‘t_tk——-- ez J _x+2T____ (6) '
r (x + 1)(x° +2) S (x +1)(x° +2)
| N
' A Bx + C Ax + B (o] N\ &L Bx A B
i rs o A2, =, ©® : W |
X+ x*+2 X%1  Res ,--{%0\&*'1 2 W s xF+2 !
a'. .................. .
" The different number of ways to descnlﬁ.ﬂs Qel‘ are Dbt J U i eri (7)
4«. ( 3. (@ 2. (B) 1 (A)
It AcB then A-B 1se:15a;:39 ebrdeA-B e AcB S| (8) |
! ~
i B-A fD} B (© ¢ (B) A (A
'EA Frequency Polygon is a many sided S uid & L g (9)
| Closed Figure S (D) Triangle &4 (Q) Rectangle J‘#‘J (B) Square &, (A) i
! ] ILI.‘M 26 sl 2 ekl (10) !
{The measure which determines the middlemost observation in a Data Set is called

| Average byl (D) Mean Laidl> [C) Mode  wh (B) Median ks (A)

ESr-:czB S —_— : Sec’® = o t(11) 4}
? 1-tan’@ (D) 1+ Cos?® (C) 1+ tan’® (B) 1- SinZ0 (A)
'A Chord passing through the Centre of a Circle is called : P b 5 il o Sl (12)

Secant 5.8 (D) Diameter & (C) Circumference 47 (B) Radius (A)
B o PBLS, AeLe ¥ P8 ] (13) |

A Line which has only one point in common with a circle is called :

L e o ra—

Cosine of a Circle Cosine ¥ <7 (B) Sine of a Circle Sine ¥ <7 (A)

} £ Jiu ¥ eib- bl 202§ 60° 4 07 2y sl 4 J (14)
i A dcm long chord subtends a Central Angle of 60°.The Radial Segment of this circle is

!
3
-

i
Tangent of a Circle Tangent ¥ &7 (D) Secant of a Circle  Secant ¥ i (C) %
|

2 (D) 3 (@ 14 (B) 1 (A)
Line lntersectmg a Circle is called : : f_t'ﬂ-{f B TS e (15)
Sector /»c (D) Chord 7 (C) Tangent JV (B) Secant d’ i (A)

------- S o p —




| Sum of the Deviations of the Variable X from its mean is always —== |

Lu:l —— L,tud‘r w S Urh n oS J_JI.«J.«J:I JL-P‘ ni (14)
{|A pair of Chords of a Circle subtending two Congruent Central Angles is -—=— :

Mathematics |I D L.K.No. 113 Hpaéir Coda No. 7187 || Ll )
Srout ¥4

Paper Il (Objective) SSC - A - 2020 mp First | CAS) N :
Time Allowed : 20 Minutes SSC( Part-M) L2420 =
Maximum Marks : 15 Session ( 2015 -17 ) to (2018 - 20) s AF

@ Bwp. /o - q/.-

LA BN S a0 30 uu-L.,..vwm.-..L,tguu..af.'ﬁ,m.u-édrmﬂ;rdw,weif_: D,C,B, A=l lJirs 1 gl
4&11"”5,49-1{1&-_-»1;4.)‘4};-(“_;4 § itelie Ll
Note : Four possible choices #,B,C,D to sach question are given. Which cholce Is correct , fill that circle Infront of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question,

; The Quadratic Formula is : D g U faw 14
|

J| -bi\jbz-l-iac (D) bidh + dac © -ht\lbi.iac (B) bt\[bz-hc (A) (1)

i 2a Za 2a 23

%If UaL,VZ,then ; ; ; Up&.sz (2)
wre1 @ wlek @ veR @ veVioW
[Pmduct nl‘ Cube Roots of Unity is ¢ z q....-/'d"i: ¥ .."ﬁb.n; ﬁ JI’! {3)

§| _c.:fxo(p?uﬂ[_,&..ld:?x-:+4=ﬂ =l ﬂ(..P.; ‘4)

If of, p are the roots of the equation 7x2- x+4=0,then & s

a c a a-b c=-d

a+b.c+d_[r_}] a- =E-d g\}\hﬁ"’ (B} b ’T{M i

. e ’Ff’ O B B A W
If Ac‘_B thenAnB isequa.l to : A\\@ oebt 4l AN B Agnfl (7)

I LE )j 7 S R —
(x+ 3 = xE+6x+9 i a & L dix+3)fexeersl ®

 Negative d" (D) Same w.f © 0 (B 1 (A

A Chnrd passing thruugh the Cenh'e of a Circle 15 calted . : {_I:Llsf nvii < Jr £ e | (10)
Secant d'.l'.l-ﬁ (D) Circumference ¥ (C) Diameter A (B) Radius Vs (A)
ﬁ Lme Inteuemng a Circle is called : : ;l‘l.hf 13 rfd“ f Py (’11}

Dlameter )" (D) Secant (‘fﬂi “:!._ Churd A (B] Tangent ._)'U' {A)

observations is called i

_ Harmomc Mean Jr:l....éﬁ’ [D] Mode uh lC] Median ,,:'.ln--: [B} Geometric Mean leuuqJ.il [A}

to each other :

Parallel $J1# (D) Non-Parallel w,—;; (C) Collinear _ 457 (B) Perpendicular laf (A)

Tangents drawn at the ends of Diameter of a circle are

-

I’Erpendicu]ar lJf (D) Parallel Y Q) lpﬁung'rugp!; ) Jl.r‘f' (B) Congruent Ji (A)

i -1 4
_—  dwmieo5® 7 W
e %=§ . then Componendo Foaityiti \_:1 ,:.f.__,..u 5 mmes S| 6

[If A and B are ¢ Disjoint Sets, then AUB is equal "%.L_;; e tn c AUB Jun xS Ba AN (6)

An Equaﬁnnw =bis (B) A Linear Equation aheGot (A)
 An Exponential Equation _=hi-Jliad (D) An ldentity v ©
c:..t:r A I p;ldu&._,rr ¢ x 2~ L,...s‘ (9)

q..t‘lhf MidL’Uﬁ‘ ¥ JJ“ 4’:- CURT xz,x3,-—-— Xy {12)
II'The value obtained by Reciprocating the Mean of the Recipmcnl of Xy, %y, %3,/ X

BLn—— AT U LE oy LF L] (3)

i

1 - tan B’ {D] 1+ tan 9 (C] 1+ Cus 9 (B} 1 511129 {A)

i Lc: I
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Time Allowed 20 Minutes 8SC (Part-1l) <2 20

15

15 Session ( 2015 -17 ) to (2018 - 20)

© BwA go-G1-10

Maximum Marks

sl

%4

=

A

A I IS IE Nt e S s D g QYR s D,C B A2 Ly ¢ g
| -fx;rjhﬂwlflﬂuﬁuJJ‘Jh/warbd-&f Uf.":uh;:-uf |
I Note : Four possible cham: A,B,C,D to each question are given, Which choice is correct , fill that circle Infront of that question !

number. Use marker or pento fill the circles. Cutting or filling two or more clrcles will result in zero mark In that question. !
I

Two Linear Factors of x* -18x + 56 are Dl .:_,-GJ sk wL x> -15x + 56 1 /-f,_,'p,;

__[_X?}[!_Hl (D) (x+7),(x-8) (O (x+7).(x+8) (B) (x+8).(x-7) (A) L _{1_}

The fourth Proportional w of x:y:iiv:w is : te worbBR L xry it viwl (2)

H 'U‘Y X i

= D 35 © xy=v (B) — (A) ]

Roots of the equation 4x2-4x+ 1=0 are ot UJH £ .h -dx+1 = 'IJ \.-'FJL"' (3) 1'

Imational "t (D) Imaginary d"/ (C) Unegual, Real & ¢ 4zt (B) Equal , Real ..r" < 4t (A) ’

_c,'...z!.:n(-rp?um.)u{: 3:: +5x -2 = 0 =bl of, p /r 4)
!
i If o, B are the roots of the equation 3x +5x-2=0,then o+ P s i
| 2 o B e S s |
| 3 @305 0 W_,,\ |

|J If Yzaﬁ_-l— then C'T.' 7y oL )

. 3 3 i
! X 2 =B 2 x;\,ﬁ
| Pard ) ¥ tcmr=—“\@>k ;

i he number af Elements in iner Sel of { 1,2,3 'Iﬁ‘\:;] c..d.ﬂ s d’ ulﬁl Lol & { 1 2 3 ] (6)
| Lo g
! Q JMR = {(1,3),(2,2),(3.1)(8.4)} A () |
|| The Range of R = {(1,3),(2,2), (%@@ 1)} s
| ALspce} t tg\ 3 %g D) Wi ®) (124} @) o L

- x+2
-I[’ar‘tia.[ Fractions of 2 $ are of the form — i ! LE&KL;? N ] ] {8)
{i (x+1)(x"+2) (x+1)(x +2)
1
Ax+ B C A Bx A B A Bx+ C

i + G A
i X"'l xz+2 ':D} x_|_.l x2+2 (} x+1+:‘2+2 ‘B} K+1+ 2+2 ':j |
1 I
t q...hd-r'/ p. V7 H.uﬂ uﬁ u.r“'ﬂx s { e 2 =kt (9)
| The observations that divide a Data Set into four equal parts are called :
| Median by (D) Percentiles .o (C) Quartiles oflly (B) Deciles 20 (&) | |
| .f..tl.lf un:.l-'l:.szc"_ iﬂfﬁﬁ(bﬁ'l‘ﬂﬁb{’“’ (10) '
‘Locus of a point in a plane equidistant from a fixed point is called -1
: _ Diameter yd (D) Circumference k% (C) Circle o7 (B) Radius v (A) ;
1 : ?.dﬂer&ubJéc_AJJUJﬂif_ﬁJ (11) [
The length of the Diameter of a Circle is how many times the radius of the circle i

| e X B & 2, OL e

_Mean is affected h_',r change in b Js1 2 c.L.fJ..r —-krsIL}L? (12)
! - ~ Place ..;_{_D] Ongm _»Lfﬁ‘ (C) Ratio ..--’ (B) Value .,-_:.'; Ay ,_:

a4 Alemlss gl (13) |

A line which has two points in common with a circle is called '

Cosine of a Circle Cosine § <7 (B) Sine of a Circle Sine ¥ « 7y (A)
| Secant of a Circle Secant b’ 4_zl1 (D) Tangent of a Circle Tangent ¥ «b (C) i ].
'-i L!uf O B ) LL—£ Uyl u'fff e e L):L.jb -..f' (14) I
iThe Arcs opposite to incongruent central angles of a circle are always : . }
| Perpendicular lvf (D) Parallel (/¥ (C) Congruent Hlie (B) Incongruen! J’“‘f’{ﬁi

i Fgs § Sin® i 1 ol : =Wl
| 5ec®Co § CosO (D) sin® (C) Tosd fﬁ} SinG (A) : Sec® Cot® J (15) ]




g‘rdn — LT dh L upl.rd..&' :ﬁ?‘f » L e L (14)

Mathematics E A n L.K.No. 113 . U g
Paper Il (Objective) SSC - A - 2018 |j G N e .
Time Allowed : 20 Minutes SSC ( Part- 11 ) Sl i s 20 =
Maximum Marks : 15 Session (2014 -16 ) to (2017 - 19) 15 AF
£ v .
e B SIS AL R EIE st L S IR L5 0,C B A 2B Ly 1 g 'i
..ﬁr;rjjﬂ.,-{h.u&gﬁ.unﬂf.d_f.;f—ﬂd.f.gfuuhuy:-_ﬁ
Nots : Four possible choices A, B,C, D to each question are given.Which choice is corect , fill that circle in front of thet question
number. Uumurpmmmmemmcmwmmﬁurmmmunmwmmmmmmmm
I : o un',.f n :Q.h.,w;.a._fﬁ.u L8 sobe o8| 1407 |
| An equation which remains unchanged when " x " is replaced by — L caﬂed : (1) ' E
f Reciprocal Equation N {B] Exponential Equnion etiedied (A) i i1
Quadratic Ethcm =l fD] Radical Equation ez () IR
| wu’» u+bx+c- Hhv?x-d/m}r;ﬂb-kcb{}ﬁ (2) !
jlfb-&ubﬂbutnolaperfmsqnm thenmouufuz+bx+c-0are : ’
| fqual , Real (¥ <4k (D) Imational Ptd (C) Rational  Jt(B) Not Real %7 (a) N |
[Cube Roots of * -1 are * : . :u,_,,;zﬂ e
LW @ lew W @ cdoweow @) ctowow @ I
If -g- % , then Componendo Property is ! S I ¥ %-% f; (4) ! -
| i i
a d -d i i
! a+b-¢:d{m aTE-cfd l‘cl"%? [B}_:\ ._J,."cd (A) .- f
| " S o i '-
1f 22l «x , then {«j—’) B wmp ) B 3
| v 5 wa; 2 v W ! l
| u=v’K O u=wk (© u=w® @rlwswd (4 |
s C’ e - !
| Partial Fractions of —————— - . - are of the I’omgﬁjg u'dm}’(: w57 J I 6
| (x +1)(x° +2} x +1)(x2 +2) ! K
! \ ! i
i A Bx {= Bx+C ) A __B (A) | .
x+1+?+2 !*‘1 xz g'\{& 3“'1 ‘2 +2 x + 1 x‘2+2 | :E
| The different number of ways to des A set are : e s uﬂ/‘..i"éz_fuh e o ..f I {7) 1
s SV o o e 1w | E
! The relation {(1,2),(2, .nﬁw:n (3,41} 15 : berBdine §(1,2).(2,3).(3.3),(3,4)) | (8) ¥
Into Function Syt (B) Onto Function JEAT (A) ' . E
A VA Dne One Fum:tion _ .:...Jhu: - (D) l"\l:tt__a‘_f-‘_l._mcﬁun & _g_;ﬂ{,h' (C) ' : E
iA Data in the fnrl:n of I-requancy Distribution is called - : ‘;.ruf .n!r‘ t;fd' (-‘E | {9] i E
{| Froquency Polygon {x0,25ss (D) Histogram 23S¥ (C) Ungrouped Data Jirss./# (8) Grouped Data simss/” (A) |
i B
| |
K3 f ML O e = 30 () 150° (© B (®) WS (A) e w gt 2R 0)
[ 1 {D) 0 [C) tafe fB] -1 (A) i _"Cnaecze- Cot?® = —m “(llfl i
e —uglSasanit LHLl o (12) | i
‘The right bisector of the chord of a circle always passes through the — :
-__._____I?.‘_‘_’f“!_‘ff,_, A (D) Centre /} (C) Circumference bS (B) Radius Vi (A) | : I
i' : q.a’éf Ut 46 5 ilnf;r._.rh L’.JH ..f (13) l
SA line which has only two points in common with a circle is called : f
Cosine of a Circle Cosine ¥ <7l (B) Tangent of a Circle Tangent ¥ /i, (A)
| Secant of a Circle Secant ¥ d...vl': (D) Sine of a Circle Sine ¥ /b (C) i
|
|

‘The Arcs opposite to incongruent central angles of a circle are always - ; |
L Perpendicular s (D) Parallel JJIP‘”_E_(;] Incongruent JL?'/-f (B) Congruent fl.?" (A)

|

Angle Inscribed in a Semi Circle is : _ L gtn i £ o Ihid | (15) |
N JaY IaY i {
e 5 T e L

ﬁﬁyﬁ* ______ LSS I

-
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i . [ i B
FRD” i, i ( For all sessions ) | Paper Code | 7 | 1 ‘J 5 |}
Mathematics (Science Grnup){Objectwe Type) Gmup-ll-..,sf (Lj"’f’)(uu'z}'"l/](jp L.
Marks: 15 R,I.IL@-4 Time: 20 Minutes 2#20:=3s 15/

U iy Wzt Z D, CB A_,u;,ﬁéw_q_}lv;d{ffd s’dam‘ ,"‘J.,,J....Us’ﬁ...,ﬂffrh-' Lf

e LS e LUsLD L CBA 5 sz WL Ay S6din
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

1.1. The solution set of the equationdx” —16=0. . e e fEAx? —16 =02t 1.4
(A) {+4) (8) {4} © {2 (0) +2
2. Sum of cube roots of unity is: —é;-ﬂf Kv’I‘J’Ji?f—rd?‘ 2
(A) O (B) 1 (€) -1 (D) 3
3.1f @, Bare the roots of X* —x—1=0 then product A2 Gy AL X = x~1=021- 8.7 f 3
of roots 2@ and 2P s e bt AL L 2B
(A) -2 (B) 2 (C) 4 (D) -4
4. In a proportion a:b::c:d, b and ¢ are called: _u"z_u-r catbtabicidt 4
(A) means 2% (B) extremes ¢/  (C) fourth proportiort \_j.;rb %2 (D) None X0d
5. The third proportion of x* and ¥ is: (¥ e LA Y sl x? 5
y* 242 R\ y*
(A) " /2 B) X'V ®) ~ /s
x+2 VS o x+2
6. Partial fraction of (x+1)( +2) are of the fomfjoﬁ ' -u}dﬁJﬂ-__J/dsZJ(x+1)(x1+2) 6
AN
4, B 4, BxtCY Ax+B _C A, Bx
A i1 x742 ®) s \%\Pf ©  x+1  x*42 @) xi1 X +2
3 . c‘v
7. A collection of well-defined objects is-Galled: ¢t QAT 7
(A) Subset ..‘.._»-5} (B) <Pmﬁer set. Zrsi (C) Set ox (D) Superset -z
8. (4AUB)UC is equal to: e b (AUB)UC 8
) AN(BUC) 1) (4UB)NC ) AU(BUC) ) AN(BNC)
9. Mean is affected by change in: ‘ e bl é,fJ;_--,wL_!u 9
(A) value =d (B) ratic = (C) origin  #UE (D) rate U/
10. The most frequent occuring observation in a data set is called: _4.{.511:&-(.5':2_. I,.,-/ul..u;.,.‘..mi.‘.':b’d" .10
(A) Mode sk (B) Median _:L&-: (C) Harmonic mean Jw!._f-ff (D) arithmatic mean JIL}L-’
1 1 ] 1
11. — = YT A1
l+sin@ 1-sind l+sin@ 1-siné
(A) 2sec’ @ (B) 2cos’ @ (c) sec’d (D) coséd
12. A complete circle is divided into: ISRV A T
(A) 90° (8) 180° (c) 270° (D) 360°
13. A line which has two points in common with a circle is called: _;;;_':l_lffu::_l/ AL L skl A3
(A) Sine of a circle Sineke_ 7 (B) Cosine of a circle Cosinete— 715
(C) Tangent of a circle Tangent . 71> (D) Secant of a circle Secant b 71
14. The length of a chord and the radial segment of a circle are congruent, :.}:‘ujziquHJJU-'-':’?:u:f-:"J-—L_" 14
the centeral angle made by the chord will be: -b’x_.“_-,:,.-'.il_;’}?m.-é
(A) 30° (B) 45° () 60° (D) 75°
15. The tangent and the radius of a circle at the polnt of contact are: -..;-'-----a_/:.--_f'u"b!-':'u"lfff-J;'-' A3

(A) parallel Ji#L  (B) notperpendicular %% (C) perpendicular 4 (D) not parallel &5l
R ie-10a%-



Roll No.JJUg 6” <Soinet|  ( For all sessions ) PaperCode | 7 | 1 | 9 | 1 l

Group-l—.,;d/ .
Mathematics (Science Group)(Objective Type) Joeo P 41-2/ (u'fsf')(..,..,fu‘"'v)(f (Y,
Time: 20 Minutes &#20:=3 154

Marks: 15
At ey Vo lp o £E9D,.CBAMZL e Sy HdnE el sty isd
U A BLdefl e Mawe SpMLD | CBA szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
gach question with Marker or pen ink on the answer sheet provided.
e Urbian A4

1.1. The quadratic formula is:
~bt+b’ —4ac b+b* —dac —b++/b* +4ac ) _bim

= x= = =
(A) X 2a (B) 74 (€) 2 X 2a

-;F_lefspﬁ;jfﬁdm 2

2. Sum of the cube roots of unity is:

(A) 1 (& -1 ©) o ®) 3
1 1 1 1
3. E+Eisequai to: -.;_zixE+E 3
1 1 @~ K a+
&) ® 5 7 © o5 b p

4. Find x in proportion 4:x::5:15. -é:;ﬂf*:*""‘ﬁfli-’f?‘-ﬁ:w € 4

7 4 3 &

(A) (B) 3 © 3 ﬂ?@.\) (D) 12

5. Ina proportion . 4. -4  @@nd d are calied: fg{'\\hg’_{'z_wfd;,:aud a:bic:d £ 5
(A) means %3 (é]/!;}l ké}\—d’-’)
(C) third proportion e (Q}r;}fc\) F}ai’oportion e VEZ

6. The identity (5x+4)" =25x% +40x+16 is /}(‘y’f;}—‘j § x (5x+4) =25x" +40x +16 L1 6
true for valuefvalues of * . _ c“c:fq’/v ﬁ,;.,.:m:é'_[.uﬁfayf ______
[(} one ki (B) two @&f (€) all v (D) four b

7. Power set of an empty set is: P Nrj“}“ﬁ _.;..L':f.:fJ:E'a’.L;-dl.; i
(k¢ @}“‘;] (© 14} o {¢}

8. Point (-1, 4) lies in the quadrant. e bt i1, 4)5 8
(A) 1 B) 1 (C) I & v

9. A data in the form of freguency distribution is called: *.T.an,-f:r,»-ur:f&:‘fj,,.ﬁ 5

(k{érouped data ﬂnﬁ:f (B) Ungrouped data :i:’ds:f;f

(C) Histogram  S3J¥ (D) Sum =+

10. The most frequent occurring observation in data set is called: _.T_dlir.fmdu'al'..:ﬁ:l;}c...,.r;ﬁ;lrf 10

(A) mean kil (é{- mode wk (C) median b3 (D) average kel
11. cosec’@—cot’ @ =...c..... cosec’d—cot’ @ = ..o 1
(A) -1 [é()‘u () 1 {ﬂf/ tan @

12. Radii of a circle are: LSl S Ll 12
(A) all unequal 4LtV (B) double of the diameter L=
(©) Halfof any chord &7 infls” (B all equal sl

13 A line which has two points in common with a circle is called: *VELMUﬂJF)Lﬁsﬁvﬁc_fbﬁu’fﬁ.ﬁ 13

(A) sine of a circle . sin et (B) secantofacircle , secant b 4l

(@1 tangent of a circle , tangent e 2l
14. A semi circumference and the diameter of a circle

(D) cosine of acircle , cosine b S
-cl..t‘ﬁ.._-_-f.!l.iulj{:‘ Ku;u/":":.’/-c._}f}ufhf._iﬂid:;_}b 14

both subtend a central angle of:

(Af 180° (B) 270° (c) 360° (D) 90°
15. Angle inscribed in a semi-circle is: _‘L_bxf_,,l}}!‘;u_'g_}u_jﬁ'r 15
T

I - n
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Graup—II-u:/
Mathematics (Science Group)(Objective Type) ewP. 61—:,/(;;'/)(.1.,,/u*v)f L,

Marks: 15 Time: 20 Minutes 2420058 15/’2
A gbdirast e Yozt L& 5Ds CB AR bc’:JirqugL&E'diif/"U%JuLlidi._.fuir‘rbf o
JJJ,}';.J,;L,JJL/ Ve Zy3he fUsibED L CBe A szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,.C &D to
each question are given. Which answer you consider correct, fill the corresponding circle A.B,C or D given in front of
each guestion with Marker or pen ink on the answer sheet provided.

1.1. In a proportion a:b::c:d, "a" and "d" are called: _uj‘LMdJ:iauia:b::c:d?rti 141
(A) means o™ (B) extremes A
(C) third proportion w1~ (D) fourth proportion ——F#z
2. The identity (5x+4)2 =25x" +40x+16 s J—’f¢(5x+4] =25x* +40x+16 20 2
true for valuefvalues of . -‘l;..-..mé_.f_'u;—.."’};f_ _____
(A) one L (B) two 1 (C) three & (D) all (¥
3. A collection of well-defined objects is called: e tARIED 3
(A) Subset -‘-J:J? (B) Powerset <rul (C) Set Z» (D) Emptyset 2l
4. The set {x/xewax<101}is called: _.;..\t'Ufr'{xfxEWAI‘:IGI} 4
(A) Infinite set ex 5654  (B) Subset ox(f (C) Empty set. J{Hg (D) Finite set L8
5. Mean of a variable with similar observations say constant k is: -c,'qtv.;;:_dl-’.é{‘ kot P T a5 ..f'li’,w/"‘if’ 5
(A) negative (& (B) Kitself , kifali {C}fg\%\fb“ (D) one Ll
6. The most frequent occuring observation in a data se&t |54an__|'93') -.T_.J].E;&dbé_ T._:,-ul,)c_.._..r-,_;:,srgf 6
(A) Harmonic mean b7 (B) Mean k-l \;ré) Mode bk (D) Median k-
7 —L—cosac%” = ~§\ (“\C\'\L é—cosecﬂiﬁu S
e mW r J3
A 55 ® (C) ~2 @
8. Right bisector of the chord of\a,éifcle always passes through the. et s RS AL e S B
(A) radius v (B) centre Jr (C) circumference b7 (D) diameter &
9. A circle has only one . P R L b sl 9
(A) centre 7 (B) chord (Cyoradius  Jbs (D) diameter &
10. A 4cm long chord subtends a central angle of 60°. The radial segment e bl K600, b LA 10
of this circle is: 7 S s s
(A) 4571 em (8) Xy<20m (€) <=3 em (D) Xé=4cm
11. Circles having three points in common. —unZ B S e 1
(A) overlapping /1 {B) collinear u”’ r" (C) not coincide e (D) different ¥
12. An equation of the form 2x* —3x + 7x* —3x +2 =0 is called: 0o 2x* =32 +Tx? =3x+2 =0 =bl .12
alan equation: S [ SR .
(A) reciprocal 5™ (B) radical (ke (C) exponential (ii=7 (D) None of these Ui Lt
13. Two square roots of unily are: _ug@/h.i.;mf.f}(l A3
(A) 1w (B) 1,-1 (€ -w,—w (D) ww’
14 1 &, B are the roots of 7x* = x+4=0 then afiis equal to: - sls ap ?uﬁl,fjbé: Tl —x+4=0uiu-0.2 /i 14
-1 7 4 )
(A = ® © 3 © =
15 1f a:b=x'y  then alternando property is: -c‘-_—,-;Ul,g.!;'ﬁ aib=x :yﬁ .15
E___b_ a_x a+b _x+y a=-b x-y
A x B p © » oy D p»

19-10-A-Fr ¥ Yo ofe-
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( For all sessions )
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»

Mathematics (Science Group)(Objective Type) (ui',,w)(.r,fu-'-’p)g‘ 'l‘ J
Marks: 15 Time: 20 Minutes 220:3 15,4
A d8dn s aeng TR pLiiD CBANR DL vy 41"‘ S Senl e

i ..{:__'_né,.}’u_ﬁi J':u,(___flgjh?c,bﬁu;flni‘:.{) L CBA e
NOTE: Write answers to the questions on objeclive answer sheet provided. Four possible answers AB.C & D to
each question are given Which answer you consider correct, fill the correspending circle A,B C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

1.1 A collection of well defined objects is called: e f'rllr:nf (1 __l;f s 1.1

(A) Empty set  2rds (B) Powerset (C) Subset .:.;—G‘a (D) Set -=or
2 The number of different ways lo describe a setis: e MISURAIILL Suir 2
(A) 3 (8) 2 (€ 1 (D) 4
3. A grouped frequency table is also called: :{_i'li:;'i.-,-;,,‘.-.u-;&u( 3
(A) data ¥ (B) frequency distribution = s
(C) frequency polygon L (D) square &
4. Mean is affected by change in : e bt e & I¥ bl 4
(A) Value =4 (B) ratio = (©) origin #uE .~ (D) Place i
- (O
T <Q\::,~’ T
5 7 redians=. D% < =iy 5
g e c 190{\"&\¢ D) 30°
(A) 115 (B) 135 ( 1%3\ (0) , )
6. Radgii of a circle are: ; ﬂ ’ Bl Skl B
(A) All equal 2147V “double of the diameter &rc 4
i JZAN L
(C) All unequal 4l Arl »5\@/ (D) Half of any chord &7 2%
7 A line which nas only one point in COMMAT \é{g i TP L AL L T
circle is called of a circle! {\i e 108 ¥
g -
{A) Sine g&/ ne (C) langent (D) secant
\ . .
8 A 4cm long chord subtends acentral angle of 60° The radial (7RG R W 4 60“.;}?}1.1';-\3;#' 4.4 8
segment of this circle is: e S
(A} 1cm (B} 2cm (C) 3cm {D} 4cm
g The circumference of circle is called e Ciasfe s 9
(A) chord 7 (B) segment =+ (C}. boundary = »/ (D) tangent W
10 Standard form of quadratic equation is: e Fedatiogan 10
(A) bx+c=0,h#0 (B) ax’+bx+c=0,a=0 (C) ax’=bx.az0 (D) ax*=0,a%0
11. The roots of equation 4x%-5x+2=0 are :Ug;,%,-.;’.-u? Ex+2=0=l~ 11
(A) Irrational  J&4 (B) Imaginary ¢4 (C) Rational % (D) Real &
I 1 N |
12. ;;"'ﬁ is equal to. kg g 12
| [ a—fi a+p
- B) ——— gy 1)
(A ® "7 (C) o ) aff |
13. In a ratio xy, y is called: ekl yAxyesr 13
(A) Relation J”‘T (B) Antecedent H-JJ:: (C) Consequent Ads: (D) Means o
- 2P
14, th:’T'V?.lhEI“r. AUy s 14
# 'z -
(A) U=V (B) U=KV' (€) UV=K (D) UV'=1
:‘L.{r{x+3}z=x’+ﬁx+9 15

15 (x+3)'=x’+6x+9is.
(A) A linear equation BN 7 4
(C) An identity =L

=l

T
A

(B) An equation
(D) A constant term

17 4n.A_TrveYrir-57000
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Mathematics (Science Group)(Objective Type)
Marks: H Time: 20 Minut

ns) PaperCode | 7 | 1| 9 | 2
N/ s

es L 20:=3

15:4

l?’v’JlJ.éﬁ/{J|flu.- i 'f....f.?._, -._,"cﬁc_JDnI C.B A..:U.r’..f’.:kdiulrf:.‘.d \éfd r‘{_f'/"';f:f:....i.lfé:..—illrr‘w - g
_M:/;.L,ﬁwdyfl.b.fg Msoe 2l DL CBAsz&LL

NOTE: Write answers 1o the guestions on objective answer sheet provided. Four possible answers ABC & D to
each guestion are given.Which answer you consider correct, fill the corresponding circle A.B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

1.1 Standard form of quadratic equation is:
(A) bx+c=0,b =0 (B) ax’+bx+c=0,a« 0
2. If @.F are the roots of 3x*+5x-2=0,then < + [ is.

(€

5 3 -5 =3
(A) 3 (8) 3 € 5 ® 7
3. «° + [ is equal to ¢:-_J;|,;cr" + i
1 |
w @ —F ® o (€ (a+p)~2af o @*+F
4. Inaratio ab, 'a"is called: et atabes’ |
(A) Relation JL'T (B) Antecedent ErJ‘.: (C) Consequent {"1 @/}:l {D) None u"":jf
¢ {(D ; 1N —= ."_. et
5. If — = —  then componendo property is PO, z?r .
h d \;&\ ; g b d”
a _ ¢ au _cC 2uds2) a-b c¢-d
A b f,+d (B) ml-_c—d @L (@) h - r_f
x-2 - \‘ \ 5 -2
6. Partial fraction of{ ¥ I)t’r+j] are of the funn,c\\kq,f ngd/’L ,/Ja.’.j (x— 1)'[ x+2) -
B Ax 8 {; %3 4 Bx+c Ax+B ¢
(A ._I+\+" (€ __i+ x+2 D -1 x+2
7 Asetwith no element is called. { ‘\S :q.rwff.w‘cjfudu’n:.: ;
(A) Subset ox mptysel 2+J6 (C) Siglefenset 2r(t (D) Superset or g
8 Point (-1,4) lies in the quadrant: et LU 48
{A) I (B) Ii (C) 1 oy v
9. A grouped frequency table is also called. e E‘WU»;J:JL,G;,-" ;
(A) Data (B) Freguency distribution ﬂ::"d:ﬁ
(C) Frequency Polygon {,L!#!Ji,?:.ﬁp (D) Histogram ..‘S*J ¢
10. The positive square root of mean of the squared deviation ;ﬁ;ﬁ.ﬁrﬁr_.g_!ui.;.ux:‘{fﬂ.2,.. .n
of Xi(i=1,2,....,n) cbservations from their arithmatic mean is called :ngdfrg.ig:.}i;rslg}uﬁ.
(A) Harmonic Mean LI 574 (B) Range <=
(C) Standard Deviation i1#i/kes (D) Domain ¢fs
1. 20=____ e bwds20°
(A) 360" (B) 630 (C) 1200’ (D) 3600
12. Radii of a circle are: Il e Fisd
(A) Allequal 212717 (B) Double of the diameter /1ic_ b
(C) Allunequal <l Zri (D) Halfofanychord  £.7eifts”
13. A line which has two points in common with a circle is S FPEnd L MmE WL
called___ of a circle: 8 0-4 (A
{A) Sine {B) Cosine (C) tangent (D) secant
14. A 4 cm long chord subtends a central angle of 60°. The Tl 1 IEB0° L rata Ll 4 g
radial segment of this circle is' B b e
(A) 1 cm {B) 2 cm {C) 3cm (D) 4cm
15. The circumference of a circle is called: P A
(A) chord 7+ (B) segment ey (C) boundary -~ (D) tangent U

:;fd;bﬁ&:.hl.—‘dnu 1.1

ax’=bxaz 0 (D) ax*=0,a+0

16.10.A_37-38000

Whale +ﬂc;UN 13X +5x-2=0z 3L ﬂ-a’ /ﬁ 2

w

10

N

A2

A3

4

15
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Mathematics (Science Group)(Objective Type) (u",,v}(.,.,/u*'p)(j' L

Marks: 15 Time: 20 Minutes £#20:3 15:/7

Adrigd AT y,:.;T)’....mu-*.V_-rij_{.snmic,a,a_-fl_.lﬂ.-f,g& .ch,,,-z-éq P Sanl vl s

...UI:,dc..(fl_.-JEELAL:L}':.W"LU’:QJ}ULD L CBiAsz&ELL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers ABC &D fo each
question are given Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

x+2 x+2
1.1, Partial fraction of m are: PR P ot 5 W 14
A B A Bx+C Ax+B C A Bx
W 341 P +2 @t T © xel @e2 O xa Fe2
2 Theset{x/xewn x<101} is et {x/xewa x<101} 2
(A) infinite set Ln$574  (B) subset .».:—J" (C) nullset 2rob (D) finiteset ~rfs
3 |f the number of elements in set Ais 3 and in set B is 4, then SUbI L AXBIna L Bersdid Sl LA/l 3
number of elements in AxB is: = sl
(A) three  oF (B) four s (C) seven =\ D) twelve i
4 A data in the form of frequency distribution is called: TSR i R
(A) range =* (B) Histogram ..‘JJ § (C) ungrouped data ﬂr{,f-:.{:-_"’ (D) grouped data :Ir’.js/"
X ot ©) 3
5. 4 radians is equal to @Q}g WL Vgl
ayaet __(B). 115° (©) 13&“ {\\\\\{; - (D) 150°
6. A complete circle is divided into /r;;}f\}:) DY ’ b flﬁ_ 6
(A) 90° (B) 180° _{Wu“ (D) 360°
7. Acircle has onty oné C\‘/ B ;_s.g’l_}f_{‘__ sl T
(A) centre 77 (B) mn@%&« (C) chord 7 (D) diameter A )
8 A 4cm long chord subtends a central f60° The radial o Hrebhgtt) ¥80% T a0 4’ 8
segment of this circle is: < N _‘:ﬁ ..... JE
(&) four .y @B\Dne o (C) two (D) three of
@ Tangents drawn at the end points of the diameter of a circle are: Bl L Pl 8
(A) parallel  JiI# (B) perpendicular st (C) intersecting A (D) non collinear f I"T/f

> nﬁsrfd‘}'ﬁ_.}u A0

(D) boundary s

10. A line intersecting a circle is called:
(A) tangent UV (B) chord A (C) secant CFE

= r
11 Standard form of quadratic equation is: e Fhrriaiadom M

(A) px+¢c=0,b20 (B) ax’ +bx+c=0,a20 () ax’ =bx ,a#0 D) ac'=0,a#0

12 Product of cube roots of unity is: -._;..,_.,;'\_,!"bf.,.-ab"sig.:i.j(' 12

wo @1 & © - L& 0 3

43 1fb* —4ac <0 then the roots of ax’ +bx+c=0are: -u_:’z-ﬂu'jy;r: axc +bx +c=0zn-dn b —dac <0 PORE
(A) iational ¢/ (B) rational Jt (©) imaginary J-74 (D) natural L8

14 U=V then: o euxv' fi 14
(A) u= v (B) u =kv ) w’=k ) w’ =1

15 Find"x" in proportion 4:x::5:15 -,;,J?,-#".r"h:tl:.r::S:ls__..,:;: 15

75 4 é

(A 3 ®) 3 (€) 12 0 3

17-010-A- X R
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2

AW S ...\._,7

Mathematics (Science Group)(Objective Type) Group-II- -;df (u‘s,-')(.,.:fu’"v)d.' L

Marks: 15 Time: 20 Minutes 2 20:2%

154

A8z eone VR e L4 100,CBA M L s .:.‘quéi'd'r‘d" P helzl ctvrded
-L,p/a.;:-L,JJLfL:L/u,.-h/;.u:uuluf.n | CB A&l
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The quadratic formula is: -e-Vrida 1A
_—hiu‘bl—dﬂt‘ bt b -dac ~b++b* +4ac bim
(A) X= 2a B) X= = (€) X= - D) X=
2a a 2a
2. @ +fis equalto: ema+f 2
y 1
w o' -F B) ZT: 4 © (a+p) -2af o “*F
3 If@ /3 are the roots of x* —x~—1=0then product ¢ 20 .4 2a ;U:ru‘jmf. X -x=-1=0zi-f.a 3
of the roots 2a and 2/ is: et A
(A) -2 B) 2 (C) 4 (D) -4
4. Ifa:b=x:Y then alternando property is: @\ e eduinaib=x1y A4
. % atb_xghv< a-b _#-
(A) X ¥ (8) by Q{\C‘J (D) pe = y
5. In a proportion a:b::c:d, "a" and "d" are called: f\%\ .L_Ur d sla tabicdert 5
(A) means ;,r."'"s (B) extremes ;;l;) ggﬂard proportional -.,-f'vlf’ (D) fourth proportional ¢ e
x+2 /{o/\/ x+2
6. Partial fractions of {x+l}(x + 2) are cf e(ioq;h --.,,:_?Jr:u(j.----.-fJ::ZJ (x+ ])(,r + 2) .
A B A By C Ax+8 C A4 Bx
(A m+.r“+2 ®) _-ek X2 © xe+l +x +2 © i .1'+l x+2
7. If number of elements in set%& and in set "B" is 4, then AAxBIx"4" LB L3 '#Juﬂiﬁ“ﬁu".._v/l 7
number of elements in AxB is: -.a.meJub’ﬂ
(A) 3 (B) 4 (C) 12 (D) 7
8  If number of elements in set "A"is 3 and in set "B'is Z, then l-rndu[_AmeZg: B;:PSJJA-'UJE-I ""A"..—vzi 8
the number of binary relations in AxB is’ -im dmlp‘J
(A) 2° B) 2° (c) 2° o) 2?
9. A frequency polygon is a many sided. PR 15U .,d‘ uom,-".,;,,.-! 8
® dosed figure S (B) rectangle (C) square &y (D) triangle &4
10. 20° is equal to' -..;d.cl,ci‘ﬂo A0
(A) 360 (B) 630 (C) 1200 (D) 3600
11 Locus of a point in a plane equidistant from a fixed point is called: ety i e B R BB UL A
(A) Radius 1 (B) circle »7h (C) circumference &f (D) diameter #
12. Tangents drawn at the ends of diameter of a circle are____to each other. - fl #-wn-- LA ‘d.d_'.'_"{uyﬁ,ﬂif_ s 12
(A) parallel Ji'# (B) non-collinear &/ # (C) collinear &% (D) perpendn:ular »f
13. The length of a chord and the radial segment of a circle are congruent, 4‘.-4:.- 7 2l BN Uduﬂminu«_ hft 13
the central angle made by the chord will be: £ — ST
(a) 30° B) 45° ©) 75° o) 60°
14. How many common tangents can be drawn from two touching circles? w = ng.t,uwz'&: ._J:}uz_:f."_.ff,;‘”}: 14
(A) 1 (8) 2 (C) 4 o) 3
15 How many tangents can be drawn from a point outside the circle? 9._,_*..-.£g.j__ﬁv£;_ﬁ,¢-,aﬁ_;u 15
(A) 1 (B) 4 (C) 3 (D) 2

19-010-A-¥¢
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Mathematics (Science Group)(Objective Type) Group-I- '-r’; (u‘;,r)(.,.,/u-'*’s,)(}" L
Marks: 1§ Time: 20 Minutes 22420:23 15!/.}
,-_”Jrrm{4rqr,z.ﬁ’y;:.fT.f.,.rzu’-ug£r;.snar.c.B,A.=.sz¢£JIy,; a%rqwu%/ﬁ(d:.:.wéwrr—rﬁ:éi

U eSSBS 3 P SIED L C.Bi A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B, & D to each

question are given.Which answer You consider correct, fill the corresponding circie AB,C or D given in front of each
question with Marker or pen ink on fRe answer sheet provided.

1.1. The measure which detemines thg middle most observation in a data set is cailed: - L'LH-’L nndy»uf il 1.9
(A) median s (B) m 31 (C) mean 4l

(D) range o>

2 secfcotf s equal to: -¢-sz5eclcotd 3

sin# cosé —_—
$A) SR (B) (€) sinf © cosé
3. Right bisectors of the chord of a circle alwayg pass through the: SRS B Bkt Sy 3
(A) radius s (B) centre 7, (C) diameter & (D) circumference &

4. Tangents drawn at the ends of diameter of a circle a to each other: -@Ln----b:ﬁfhru{#:uyﬁ ALl e 5y 4

(A) parallel (15 (B) perpendicular »»f (C) non parallel (ii7F (D) collinear ks
5. The semi circumference and the diameter of a circle botP\subtend a central angle of: - Frmali§ :-’}u’kj_in'f.ﬁr..}u 5
(A) 90° (B) 360° c) 270° (D) 180°

6. Angle inscribed in semi circle is: AN et e i 6

A y
(A) 7 ®) — 2

-

Fi g
v (D) E
7. How many common tangents can be drawn for two touching ¢ ,l@g‘\?&?:\fg_rélgr’_&gv_f L i nE S 7
W)

(A) 2 (B) 4 (€) 3 T\7< @) 5
i xf:}) I
8. The number of terms in a standard quadratic equation ﬂxﬁi\i{ c=0): ~estfud g ax” +bx +c = U.:..l;l.—*u’-xm 8
{“‘6;\:'\'9
(A) 1 (B) 2 ~ S (€) 3 D) 4
A
, ~
9. Roots of the equation 4x" = 4x+1 (el AL A Ax . g
(\‘:jv v

(A) real, equal iz (8 (B) real, unequal <L:t(> (C) imaginary (D) irrational Pt

10. 1% 7 are the roots of 75" = x+4=0yhen @7 i et P R A 1K ~x 4420 Ly @B £ 10
1 7 —4

(A) 7 ®) 7 el @

11. Inaproportion a:b::c:d, p and ¢ are calied:

(A) extremes .45 (B) means 25

u v

.
12,08 ==K then:

(A) u=wk’ (B) u=vk’ €) u’ =k

13. A fraction in which the degree of numerator is less than the degree of ....:.JLl‘ﬂ.nf;.d/GJ LA jd’.;ﬂ#‘—&f/ A3
denominator is called:

(A) an equation =bi-  (B) animproper fraction /Lty (C) properfraction ~_2i» (D) an identity =i
14. A set with no element is called:

(A) subset _-:-Ci” (B) empty set .~ {C) singiton set ol (D) supersel -

If number of elements in set A is 3 and in set B is 4. then number Jwt’;l{,}:AxB?mh.}! B..*.:ma»ﬁu};uiuwﬁ 15
of elements in AxB is:

(A) 3 ®) 4 ©) 7 ﬂ © 12
17-010-A-Fr ¥
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Mathematics (Science Group)(Objective Type) Group-II- '-:r"/ (d’fy“)(.f:fu""l.-)d' LJ

Marks: 15 Time: 20 Minutes &2 20:=3 15/
M6 e W2t L 6D C.B A g.iz_-ﬁy,didlr,;a‘%q iz oeinl e irpliied
LA Sl M M 3e L LD | CBeAszeLL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B.C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink o the answer sheet provided.

x'+1 x* +1

11 (x=1)(x+2) i Wi .{rm 14
(A) a proper fraction /.,.a.l: {(B) an improper fraction /.._.-al.yf
(C) anidentity =iV (D) aconstantterm (L

2. Acollection of well-defined distinct objeXts is called: et AT 2
(A) subset ry’ (B) powerse\ wrsl  (C) set o (D) emptyset xyi

3. The different number of ways to describe a\get is: : e OISR SBIL L S for 3
(A) 1 (B) 2 ©) 3 (D) 4

4. A frequency polygon is a of many sides. . KISUsM ST 26s 4
(A) closed figure S (B) rectangle (C) square &y (D) circle 70

5. 20°is equal to: -¢-21220° 5
(A) 360 (B) 630 (C) 1200 (D) 3600

6. Radii of a circle are: e\ JSlngle el 6
(A) all equal  slepl? ) double of giametet e b

(C) all un-equal xl.c,ff(l.? (

half of any chord 2y’
7. Acircle has only one A7)

N - SR Gl e ol 7

(A) secant Gk (B) chord 7 . (G) hameter 55 (D) centre 7

8. A 4cm long chord subtands a central angle of eo“.t% g;lﬁi nt of b‘}._}i:-.;.rh,:!.il’saa{?fr}:uiujy( 4.0 8
this circle is . | qrj‘“ o T S
(A) 1em (B) 2em ¢ m, <V (e) 3em (D) 4cm

9. Acircle passes through the vertices Qr@f)angled A ABC with «mAC =3cm UtABC;.ﬂ-,;l)‘:;}m"-’ 9
mAC =3cm, mBC = 4cm ang.@gé; 90° . radius : LUKLL 2 SimsC =90 4 mBC = 4cm
of the circle is ks > S— Ui Hsthsisfe
(A) 1.5¢cm (B) 2.0cm (C) 2.5¢m (D) 3.5cm

10. The circumference of a circle is called: -q.rufj._..ﬂ’:_}h 10
(A) chord & (B) segment ¥ (C) boundary - (D) secant 8 73

2 -
11. The number of terms in given standard quadratic equation is: X + bx + o 0 afudif el d;i_.v.;_i:m&rdx A1

(A) 1 (8) 2 (€ 3
2. 1f@ B are the roots of equation.then & + f is: 37 +5x-2=0 .cm@+BVunul e Boa fi 12
5 3 -5
(A) 3 B) 3 © 5
3. Sum of cube roots of unity is: -& rf(....uab;_-Z.Ji’r A3
(A) 0 (B) 1 (€ -1
4. Inaratio g:b, ais called: Labed 14
(A) relation J’" (B) antecedent FJL,E: (C\ consequent ﬁdﬂ: '
5. The third proportional of x* and ) is: e BLAK Y X A5
2 4 2
(A) f‘ @ ¥V (€) i_: (D) iT
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B Adui 3o b L e ne P E 2l Lir pWW¥2-BL 4D s A,B,C M2 lielidivs il

Kt sl 20 IR fi S {f Ml 41" UsFoml e Ll 255 Ae

. 1A
A tangent line intersect the circle at Wi Sermpvisg | (D
Single point 449 L1 (D) Twopoints ¢b» (C) Threepoinis ¢buf (B) Nopointatall & ¢ufs” (A)

LUttt BATOlE e Usdsn R iSS pf 2w | @)
A pair of chords of a circle subtending two congruent central angles is
Incongruent f ## (D)  Congruent 1 (C)  Overlapping /1 »(B)  Parallel (317 (A)
Alinc intersecting tho circle is called e twise /Bl | @
Diameter M (D)  Chord 7 (C) Tangent U (B)  Secant &5k (A)
The solution set of equation 8x’ —~32=0 is e ¥ 8x'-32=0 =iile | (4)
y {(+2}(m» {2} ({4}(® {4} @
The quadratic formula is -rhignn | (5) |
AU Gy gl . "”";:‘"’" g 2 0w
Cube roots of unity are S\ \}'—’f’ Bl |
cw,~w,1 () 1?»&{::) Lwew B Lw,w
If @, B arethe roots of equation X' —x—1=0 , then @ + f§ m<'l'.k§.ra+ﬂ JunPul P-x—1=0 atls a,B S| @
“ﬁ/ﬁ“})’ wo O w@ 18 1@
If atb=xiy ,tbcnal:nmmdﬂpruputyinb «va"’ ) e=Uiyin n:b:;:y Al ®
“:__(ﬁ%;%}tn) 22 © jim =2 w
Find x inproportion 4:x 32 3:15 <1 Lo x L 43115 | ()
| 20 (D) 15 (O 1:— ®) fg A
Theidentity (5x+4) =25x"+40x+ 16 is true for coongd Lodd x  (5x+ 4P =258 +a0x+ 16 =L | (10)
Three values of x q,’.ﬁuﬂ’-ufd'x (C) Two values of x g'..ﬁuh’yﬂf: (B) One value of x {_ﬁ.:.-?..{ufx(a)
Allvaluesof x - Lu#7'x (D)
Power sct of an empty set is G- Enraliirde an
{a}(D) @, {a}} © {(p}® 0 W
Ol I Et AXB Fus 28 Bl 34900ILA L Si | (12)
If number of elements in set A is 3 and in set B is 2 , then number of binary relations in AXB is
2?2m 2@ 2f® 2 W
Mean is affected by change in b N L TR oo bl | (13)
Propottion ot (D)  Origin 5(C)  Ratio =/ (B) Value = (A)
000" B = iiisriiins sec’ 0= i | (14)
1-tan’@ (D) 1+cos’@ (C) 1-sin’ @ (B) 1+tan’ 8 (A)
lRighthi:ﬂﬂtﬂtufﬂ:ﬁnhmdnf:nimhﬂwmpum&umghth: el BT BESAGA L L e S | (15)
Ciroumference &# (D)  Diameter & (C) Centre /(B)  Radius s (A)
i |
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i 7, N0 T
LA .ﬂ;ﬂa:&u-nﬁ.,.u.zmc...: s e szl L)y qu,u.wég., DsA,B,C N2 Mlelirs iy
K ﬂ-.,-u!uf i g,)‘-'-'.:muf’J }_.’:gf ...‘.ri’“.../ 4/ UsFmlienfl o He
% [<">."_ 24 lﬁzlJl.r'
Therangeof R={(1,3),(2,2),(3,4)} is e RangeR Iw R={(1,3),2,,G,9} /i |
{1,4} @) {1,2,4} (© {2,3,4} (B {1,2,3) @

Mean of a variable with similar observations , say constant k is e tnbiderd Lxam B et Lie 2| @
Positive =2 (D)  kitself ksFeid(C)  Zewo M (B) Negative * (A)

i i W' seneisisinis | (3
1200’ (O 3600 (©) 630’ (8) 360’ (A)
Locus of # point in a plane equidistant bW eI i s B 2B LR | (@)

Diemeter S (D) Circumforence &f (C)  Radius /1s(B) Circle o7 (A)
.2 2 S &Wﬁé?ﬁiéﬁﬂﬂl}!ﬁé&b—ﬁ ()
Two tangents drawn to a circle from a point outside it , are of .............. in length 1
Bqual Az (D) Trigle ¥ef ()0 \Daubu ¥(B)  Half id (A) |
Lu@ %Q.t\”uﬁuﬂfuwic-uumu’ 2 sSSP | ()
Apmnfuho:ﬂnufamluuhmmstwomgumtmuﬂmglnu
Parallel (47 (D) mulnppmg,fﬁ)?m) ConpumtJ.I?'(B) Incongruent f 1 & (A)

The measure of the external angle nfnml;ul.lroctngunu \ s q..t]ﬂ.dﬂ{fg:ua:ﬂ&:)} rp‘ \..-fl &)
™ i n % X
I ﬁ\;;v o j© [® W
| The solution set of equation 5x”=30x is <\~ i SV 5x'=30x 2l | (g)
Q™
{(-5,30}(» (5,30} ({0,6}(® {0,-6}{A)
Anequationofthetype 3*+37*+6=0 is a/an q.(’lf F+37%46=0 2ble | (9)

Linesr equation =hbrfsf (C)  Radicalequation whl-fsir (B) Reciprocal equation =biay/5 (A)
Exponcntial equation w=dsla(i2ed (D)

Product of cube roofs of unity is PRy % S UL T
3 () 1 © -1® o0 @

| The discriminant of 25* +3x~1=0 is bl JjHax’ +3x~1=0 =i | (11)
-16 (D) 16 (© ~17 (B) 17 (&)

The fourth proportional ‘d” of a:b:: c:d is e d' AVgL atbieid| (12)
Lo ke @ T ® W

If uX vy, then oy S| (3)
w=1 (D) u=kv’ (C) w’'=k (B) a=v (A)

= ool it G4

(x+a) (x—a) 18

anidentity {1/ (D) mnequation =hss (C)  animproper fraction ~2ld (B)  aproperfraction L (A)

If ACB, then ANB is oqual to ebnds ANB Ix ACB /Ji| (15)

| Subset 2o’ (@O  Powerset 2xsy () B@® AW
28 (Obj) - 15t Annual 2024 SEQUENCE - 3 ( PAPER CODE - 7196 )
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l/z“dlr

A circle has only ane G bA i HePol | (D)
' Diameter & (D) Chord Js (C) Seomnt £¥i6 (B) Centro 7 (A)

L0 e T2 LSS pf i F e 0 fi | @

The arcs opposite to incongruent central angles of a circle are always '

Incongruent f * # (D) Congruent J'1* (C) Perpendicular s (B)  Parallel (17 (A)

The circumference of a circle is called bbb | ()
Tengent ¥ (D)  Segment = (C) Boundary s, (B) Chord 75 (A)

Standard form of quadratic equation is e LPllafatbeon | @
bx+c=0,b# 0 (D) a’=0,a#0(C) =x’=bx, a#0 (B) u1+bm+s=a,aa&u (A

2t 7§ equlto ' | &, 44 t5 | ©
e e He ot

Sum of the cube roots of unity is ___;:x' . RV Pl 6
AT 3@ @ a® 1w

Inamtio xiy, y iscalled. """'/,\ -q_?ﬂ!ry Loxiyerd | (D
Consequent H.rdf,u (110' Antecedent FJJ-"(C) Proportion & (B) Relation Jg w

If = =£=k then (@x ;' - --—-k.)' (8)
i &\‘“ ) u=vk (D) w=wk (C) u=vk’ (B) 'rl=w-kz W

Partisl fraction of ———— aroofthe form P P 71 11 m ©)
v Wy SpReP NI — ® W

Power set of an empty set is ' .,-_t-.-re.f,up’.wdl; (10)
P @ {(B}©@ {0,{a}} B {2} W

If A and B are disjoint scts, then AU B is equal to ebnds AUB JumerS7 4 B A S| QD
BUA M 06 (© B (M@ A W

Sum of the deviations of the varisble X from its moan is always b o SRV A bt K X 27| (12
Different ¥ (D)  Same Lr LI(C) One LI(B)  Zero } (A)

The observations that divide & data set into four equal parts are called et e ST L dglarasgld | (13)
Pentile I} (D) Percentile #Yud (C) Quartile #UAg(B) Decile o (A)

cosec’ 0 —cot’ 0 = ..cvuereunecn cosec’ @ —cot’ 0= .....cceeee. | (14)
tan® ® 1 (© -1 B 0 (W

Loous of a pointin a plane , equidistant from s fixedpointiscalled  ¢-bt/ e A4 A2V 2 DS R UBR L $2 | (15)
Circle +# (D)  Circumference k¢ (C) Dismeter M (B)  Radius 1 (A)

26 (Obj) - 15t Annual 2023 SEQUENCE - 4 ( PAPER CODE -7197)
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B I ASI IS Y Ldpana s L ls il & ir po$W2- 2L D 4 A B, C Mo Mhelrp iy
KrP s rf 3 S e LSSl S stmlie i s A e
1 ﬁ’dlr

Find x inproportion 4:x ::5:15 Zeb x L 4ix 515 | )
T j© o Zw
The identity (5x +4)*=25x" + 40x + 16 is true for gerngd L ‘Gx+4) =250 +a0x+16 =L12 | @)

Allvalues of x U2 (Ux (C)  Two values of x U7 »fx (B) Onevalue ofx=dfitf'x (A)

Thmnfnﬂor: il Uz (D)

If AC B then A—B is equal to ¢tndzsA-B in AC B JSi| G
B-AM@ ¢ @ B® AQ@

Point (~1,4) lies in the quadrant ' eEnlBA-1,4) B| @
v m© n® 1M

A froquency polygon is a many kidod . el SUSRO T 255 | (5)
Trisngle & (D)  Square §/(C)  Rectangle ;;J.'!"‘(B) Closed figure 4 (A)

Men is affected by change in \,memhg,.'_f@ il | (8
Scale Pg k(D) m,gff A34C) Value =3(B) Place .Ew

L L — B Jf ' SoosecdS = . | ()
_/;5 flf ® V2 ©@ Zz® 50

A chord passng trough s ooatro ofs il iscalled. _\: ettoml e Splesn | @)
mu(n} Ciroumforence &#(C) Secant &¥4(B) Diameter AI(A)

R BEst s WL SISV L e B gL 2051 | (9)

Nom;uhhum:uhhﬁmumm&mof in length

Triple t/ef (D) Double £(C) RBqual 44(B) Half _id(A)

A pair of chords of a circle subtending two congruent central angles is L B AT lE e i fansd pSf12s | (10)
Congruent f (D)  Overlapping «/1(C) Incongruent 1> #(B) Parallel (§#5*(A)

How many tangents can be drawn from & point outside the circle ? *E gL E e Bl | (1)
' 1M 4@ 3® 2W

The number of methods to solve a quadratic equation are WEALL S S S avlfon | (12)

4 300 2 (8) 1

mmmmofaqmum{--.#‘wﬂuo is detormined by ¢-tlelf ........... frmJJuLn‘wzu:o wdils | (13)
Synthetic division 7€7 (© Productofthorots o U WK 1 (B) Sumofthoroots «sfK i (A)

; a Discriminant 12703/ (D)

.;..u..,ﬁ.,l'w 28 #2ax ?u.«u’uz. x-x~1=0 =blf,a Ji| a9

If a, B erethorootsof x*—x—1=0 then product ofthe roots 2@ and 2 § is
-2 (D) 4 (O 2 (B) -4 (A)

If aitb=x1y &minmﬁ:ndnpmpurtyin q.a-r’u“?x aib=x:y Ji| 19
' b _y ath _ xty A X L
=== (o) e = y(c) e (B) = 0y

1 ) 28 (Obj) - 1%t Annual 2023 SEQUENCE - 2 ( PAPER CODE - 7194 )
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(-‘dfurl.-) L
b : o/

Sy e

fﬂ.ﬁuw&lv.f_‘..,.a.e..-..-m-.u:u,}uéz,;;:,uidnr,.;qrw_wi‘,m #MAB,C Mz Rlrs :eqy
O Strid L eur SLS S oML S S it - 255 Aeibl

Par-4/- 23 t A
If a:b=x:y then invertendo property is ) 1);?.# l!b:::y}l‘ (1
LI n_b=1+y ______ X a b
| | @ T e S e fle
Find x inproportion 4:x::5:15 _ﬁ_'rﬂ" XUR 425015 o | (D)
Fo @ e Zw

The identity (Sx+4)° = 25x” + 40x + 16 is true for

All values of x ui"rt?t,(x(n)mwwmmnfx uF'rnyx(C)'I‘wuvﬂnnofx uft’p(ft(monuvﬂunnfx =i x (W)

If AC B, then A-B is equalto

The set {x|x € W A x < 101} is called

Finite set &258 (D) Nullset dxdé (C) Subset o (B) Infinite set Sz56 & (A)

A grouped frequency table is also called

Frequency polygon t,:um}'usﬂ © mqmcydﬁﬁmﬁdm 65 B) Data sir (A)

Triangle & (D) sm#m}kmu&"’(w Closed figure J*4 (A)

A frequency polygon is a many sided ..
SBE% 0 = i
1-tan® &\(Iﬂ
The symbol foratriangleis demotedby (0%
WS
QM
A tangent line intersects the circle at_........

No point stall (¢4 (D) Sm;hpom: VN () Twupomu 448 (B) Three points (bGcf (A)
The semi~ circumference and the diameter of a circle both subtend a central angle of

The measure of the external angle of a regular hexagon is

The number of methods to solve a quadratic equation are

oy

T s o tnts ragialiin. L Ve s el ik detasiniiall by
Synthetic division (© (&7 (C)  Product ofthe roots bV 5 (B) Sum of the roots ++£ ¥/ (A)

Sum of the cube roots of unity is

26 (Obj)-12022-60000 SEQUENCE -2

q_-fad.ﬁ—__;;;.;'(51+4)’ =25x" +40x + 16 =L | (3)

ctndsA-B Inac i | @
B-AMD 0@ B® AW
et {x|x EWAX < 101} 2 | (5)

;;.I.'Uf d:*&ﬁt,ﬁf (6)

cm?!.awﬁeqmdimm Codtfo |
REY  Eon s Sk ten e | O

J‘

b

"'7(“/ sec? 0= ... |(8)
1+tan® 6 (C) 1-+.'cdsz 8 B) 1-sin*6 (W
csrted LL S pbdats | (9)
OO 1L© A® <®W

PN A— Y V" S AN 1))

b g adle s | (11

360° (D) 270° (C) 180° (B) 90" (A
e dnd o sl glosae i | (12)
= () 2 © > @ XN

P& LLSS fabiofon | (13)
4 300 20 1
H P e SIS L 4 bxte=0 =il | (16)

Discriminant +45J/ (D)

et Aupld| as
3im -1 @ 1 ® oW

(PAPER CODE - 7193)
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w2 20= (/) P

15=AF Fre DQk~-Gl-2) g 2 wpr/

f.rui}h;ii-'«'&Ilv..C.,.-w.:.»m.-..utu;;t,.{:::.:&:v&dlfMQbi}m.wig.J DusA,B,C czblelrs =iy

Crrs b zed d s S oMl S s iioic Ll S fe i |

1 A

Mean is affected by change in PRV A - m—l F N C)
Ratio =+ (D) Rate 4% (C)  Scale ks B)  Place £ (A

Sec0.Cot@= ... SecﬂCatEi‘:__. .......... )
M O G ® o

Radii of a circle are Sl snsLl | 3)

Double of the diameter U= (C)  Allunequal <10 e (B)  All equal clep? (A)
Half of any chord &.,7<./sffy M)

%, (A ERRREIRY - | Lfi.f_f;;u,/ﬁ)?ﬁ(_;u

Tangents drawn at the ends of diameter of a circle are .............. to each other
perpendicular » (D)  non-parallel (i (C)  collinear g[‘i (B) parallel ya> (A
Angle inscribed in a semi-circle is \U e Englisn® e S
rrf4 C{Q‘*- /3 (©) w2 B) m (A)
W0 /} : ) Tt LS pf o daie it

The arcs opposite to incongruent central angles of a circlé¢' q;v‘always
Perpendicular »* (D)  Parallel dﬁ? ({,‘.’Q(’”}’ wt Ji=7 (B) Congruent S W
. IISUA L ax +bx +e=0 ehiaiuEom
equatmn ax’ +bx+c=0 is

The number of terms in a standard quadra
SN 4D 30 2® 1 (A
Cube roots of -1 are | B d-1
w,-w M -1,w,-w © 1,w,w (B -1, w,w (A
£-+% is equal to il i.,.:?
| % (D) ‘g’ © % ® W
The third proportional of x* and y* is 12K Y X
. S 0) Bl () Vi (B) y'ie (A
If uxv? ,then Inuxcv? /i
w’ =1 (D) w’ =k (O u=k’ B) u=v (A
Partial fractions of ﬁ are of the form f.Jnd?: S (17 E?f:—_l)
T THgr O il cote 0
If ASB, then A-B is equal to ctng/A-B InACB /i

p MM BE A®B B-A W

The domain of R={(0,2),(2,3),3,3,3,8} is «dnetsd R={0,2,2,3,3,3,3,4}
{2,3,3} ™  {0,2,3,4} (©  {0,2,3} B {2,3,4 W

A frequency polygon is a many sided ......... ‘ - UG 2 0s
triangle &.%(D) square 8, (C) rectangle " (B) closed figure P4 (A)

@

(5

6)

N

(8)

®

(1m;

an

(12)

(13)

(14

(15)
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Q. No. 2 Write Six short answers to the following 2x6 =12 L err P Latirge L)ln 2/=‘J1r

Define radical equation and give an example. EnJo iy i | 1
Write the quadratic equation in standard form H_xli4=0 2 2 P b d B | 2
Solve the quadratic equation by using quadratic formula S -9x-2=0 2 Seutlumedrsi g |3
Find discriminant of quadratic equation 6x* - 8x+3 =0 -_ﬁfﬂ“-ﬂ&)f@bpd;m 4
Evaluate W7+ W*.5 W7+WP.5  gemai|s
' ICHTx-11=0 Zp o f S e VPl B LS Sl | 6

Without solving ,find the sum and product of the roots of the equation  3x*+ 7x -11 =0 i

Define joint variation . - LSS |1
Find the cost of 8 kg of mangoes, if 5 kg of mangoes cost Rs. 250  gfr# =/ #87ne 12503 SurTr/ ¥ 5 /1 | 8
Find mean proportion to 20 ,45 20 45 Zpeh o tides | 9
Q. No.3 Write Six short answers to the following 2x6 =12 L SN2 AL e fditn 340y
Resolve into partial fractions :::i N\ ii:: r-f'r sz | 1
What is an improper fraction? . 7 \‘: 2/ feln s | 2
If T=0',Y=2Z" then find YUT O\ ST M YUTIY=Z T=0"/i |3
If A= {0,2,4} B={-1,3} thenfind Bx AandB x B -@'@}ﬁiﬂ #BxA InB={-1,3}.A={0,2,4)} 5la
If Y={-2,1,2} then make two binary relations for Y x¥ -~ Lbit$End LY XY In¥=1{-212} /i |5
Define one — one function. . ’CEUF PSS s | 6
What is curulative frequency? < g Pt | T
" -f."ﬁ"fi_; / bt al S b ernie L P S | 8
Find Arithmetic mean using direct ruetbod for following frequency distribution.
(Number of Heads) X 1 2 3 4 5
| Frequency 3 8 5
Define median and write its formula By e | 9
Q. No.4 Write Six short answers to the following 2x6 =12 E ez Lolrge Llibn 4 Ay
| Verify the identity #2:5%%_ = 1 +n g K Sn0iCe ) 4 tan g tleilele |1
tan’JpJJiq.J&,mr 84° (S laln Ui 12 b K | 2
In a circle of radius 12 cm ,how long an arc subtends a central angle of 84°
' Zp» meB Inc=8cm, # b=15om.a =17cm 2ABCA /1|3
InaAABC,a=17c¢m,b =15cmandc=8 cm .find m2B="7 .
Define chord of a circle. Zw LN : 4
Define non collinear points. Euflwund |5
Define secant of circle oy sl | 6|
Define circum angle. Ay A
Define Reczibie circle ’ Ly fnge |8 |
Divide an arc of any length into four equal parts. = Lo ek LSS | 9 |




LIV CLAOo T laVios
22 20= s (/) P
15= A 5y o/
Sid i 3o L perne Lt sl LD pd082-BEL e D AB,C bz K ldirs  iada
fﬂa:"ﬁwh’.iﬁu{ p1v eSS, 4:“ 2/, ,;f Uik sk -c_‘.fu A apfl
| Adir
A set with no element is called q..t‘!hf:r:-cﬂd:ru:u’-_-{ (1
SuperSet or ¢ (D) SingletonSet (£ (C)  EmptySet 2rJé (B)  Subset wF W I
The number of element in power set {1,2,3} OISl rmL {1,2,3} [ 2
9 8@ 6M® 4@
A data in the form of frequency distribution is called ctlir L PS5 | )
Polygon (s, 2 (D) Histogram 25¥ (©) Ungrouped data siv§s/ 2 (B) Grouped data i) (A)
i =ofi 3 3 | @
' 30° (D) 150° (© 135" (B) 115° (A)
The distance of any point of the circle to its centre is called ;.th_klif_f.}r P L KE Tl | (5)
anarc 7Ll (D) radius s (C) achord Z5Li (B) diameter A (A)
A line which has only one point in common with a circle is called ;,.qu.n..f' 2 B L Le ks 5L | (6)
Cosine of acircle Cosine ¥/ (C) Tangentofacircle  Tangent Ifr_ﬁ{ﬁ&‘ﬁmofncmlc Sin ¥ 7(A)
\_/kecant ofacircle Secant ¥/ (D)
fﬂ-_@ﬂyd;ﬁf(m&w-q_ 60° LSS ¥ i L1 | (D)
If an arc of a circle subtends a central angle of 60 , then the mWWMoﬁhu arc will make the central angle of
’é"\’@ 80° (D) 60°(C) 40° (B) 20° (A)
A line intersecting a circle is called ~N\ ¢ ¥ ﬁ‘..t'l.‘-;fﬁb‘/r&? fe 25| (8)
B s (D) Chord 7 (C) Secamt I (B) Tangent JW(A)
How many common tangents can be drawa . two disjoints circles ? Tmélg;d_rgb’.f}?éf&us}hdﬁju (C))
1@ 4@ 3B 2W)| |
An equation of the type 3* +37*+ 6=0 is a/an | Liee P +37 4620 bl | (10)
Reciprocal equation =is~/5* (C) Radical equation w=is-sie (B) Exponential equation =ti~(li=f (A)
Quadratic equation =lsl~fn (D)
If <,B arctherootsof 7x -x+4=0, then 3 is .;.4!405{5‘?;):&}:;& Txa—x+4¥0 =hiof S 1 an
-4l7 © 74 © 41® -1/7 W
Product of cube roots of unity is e PL A L6 | (12)
3@ 1@ -1 ® oW
In proportion atb ¢ ¢:d, b and ¢ are called AU e b L atkiicid ot | (13)
means 25 (D) fourth proportional 572 (C) extremes 2 (B) third proportional -t (A)
Find x inproportion 4:x :: 5:15 G x L arxi 515 oA | (14)
12 M % (© 4/3 B 75/4 (W
| Partial fractions of 'uf.:ﬁ are of the form . L [ ‘ 2§ m (15)
Tmte feBe Zele Ariw
| /
/ 28 (Obj) ~12018-60000 SEQUENCE -3




ﬁ-...__._._.-...-__:/.";du i L?:"“Jfaﬁ/:)dulé};;,;yuf..ga;.é!r‘u"ii..ﬁzh ((71&“14’1) 1024

SR YV bg ) 2020-22102022-24 ¥ Il
PAPER CODE 7195 s A4S w0 () S

c--_(LéJ/a-qu;Jh(pfhﬁw'JW Lh:r"’-’?!—'—"i-‘;— uﬂu.iﬁhia’:_.,; :.:.-L/LL,I!”'ﬁ,o;{é{L-;r.-?-—ugi%JDJ’FC*BH’\#UJ?,}GJE!Ldlfﬁ:dﬂl’
Je e L1 LS PAPER CODBass 42 1! MUinL Q42 Sz il e §LSGS ML T G o
. 3 4”"—/ . 2’5’ - bfjL,.!li"""fﬂ::ﬁ.ei"llyrﬁJ.—ﬁ_Lrﬁ.;H‘__.-'Ebd;hgifrﬂ;ﬁ.:ur"JJz 'u_'.f

Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle-in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
od 270 Fese & cebmisdial Sg O
Value Rate Scale Place Mean is affected by change in
.:;,Biﬁ.ﬂg ";"ﬁ""g J;Jsli';.u .glr'i;ulfu ..r}‘_l:*i/ fd.}f:uwb'..{l 2
Four points Single point | Ty points | three points | A tangent line touches the circle at
LFLP/j JL?" sl St L.lf';'-dué:Vé:u.;'ﬁ;’df/;,FU‘/fuwg_}b_{l 3
Incongruent | Congruent | Perpendicular Parallel Ihe e posite 1o incongruent central angles -1t
of a circle are always
-k ¥2x° -50=0=bl~ | 4
+5 i +2 + ﬁ-—-—-.‘: S
3} : a (23} The solution set of egation 2x° —50=0 is
: KA, -
t sin 0 sin@ I ;’@}s&c'ﬁ cotf@=————— 5
sin & cos £ cos @ S\
= = . RN ;
JY bk o 3 /;{\\{'\;\_‘,’) ,‘Lb'lkrjlf%’c‘__/lj .6
Arc Segment Boundry Chord  tThecifcumference of a circle is called
o T~ H -
’ -,id:[ﬁ";v _‘4..![.1-1-'(5():’1(}: az’ +bz+ec=0cbl-Fun | .7
4 3 2 1 ('T\Q;_/' | The number of terms in a standard quadratic equation
MA\“V az> +bz+c=0 is
AL p
; ¥ L e PR {2 [
RN Sum of the cube roots of unity is
5] =
s’u.rr(Ruots)uj.uﬁ 3x* =5x+7=0=bs- S« Sl
el 7 28 Rl - L'.rﬁ.,ﬂg}"bb@ﬂ » 2
3 28 lfa,ﬂarethcruotsof3x2——-5x+7-:ﬂ,thcn
product of the roots 2a and 28 is
10
1t = . - r* = 2 2 3
v " =u B t° = ku
FJL;/!J‘ e ui’) o2 gl dmataibiicidart | 11
Concequent Thjr_d Entremes Means Inaproportial a:b::c:d, aanddarc called
proportional
»:-JJL—-'/f el =l ehlsFal i L1 (x+ 3}2 =x?+6x+9 | .12
. An ) Anidentity | Anequation A hm_zar (x+ 3}2 =x2+6x+9is
mequation equation
¢ {¢} {¢,{a}} {a} Power set of an empty setis - Fniralfirde | .13
- (U»DomR #%R={(0,a),(a,b),(b,b),(b, | .14
0,a, ; 1 ;
{0,b,c} ta;be) {0.2,c) {0,a,b) The domain of R={(0,2),(a,b),(b,b),(b,c)}is
e b S P _q.t'Ll{}'JHIsL;f;.)r/J.:d_.}b 15
Secant Circumference Radius Diameter | A chord passing through the centre of a circle is called

B gl
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question

paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
(Jil/r) -:'.-I:L-'Q’rc" il S i SUed ..‘a.fJJy +37* 4+ 6=0 bl 1
il : . =Asl . . Ak al-x

l =
Logrithanic Reciproca Radical ExGonslis] An equation of the typeis 3" +3°" +6=0
eguation equation equation equation
éi.-'-b’dj 33 81.'-&'.»3:6( él.i-l.ﬁ.t-uv_fl KLl - 1t F” I x e 5x* =30x 2
7 7 7 e/ Cancellation of X on both sides of 5x* = 30x
Loss of two Nolossof | Lossofone | Gainofone
roots any root root root e
J!;b":.-? 7
,— _3 2 -3, - o ) : oo 2 ' s 2 "'u-?—,._. . 3
3,—3w, 3w 1,-3w,-3w 33w,-3w* 3,3w,3w Cube toitsof <2T a5
L=k W, w? 1, -w l,w Two square roots_c?[an:!:?f;ﬁrc -LE&/'rJﬁr!:é:(jﬁ 4
i " ” i _%Ali@}u&:ﬁjg;i.,:4:5)1la+3:7+aj’l 5
1t
lfthc;aﬁﬁﬁ&\#‘j :7+aand4:5 are equal then ais
=, xyv .1'_0.". uxl" o (F’?\‘\)J .-q.wh‘.-r'ﬂ;f.ﬂu,ﬁx:y::v:w 6
vy : X v | TheTourth proportional w of x:y::v:wis
el AL | S N (I P @{{@ 2x+1 & G 2x+1 7
. An : A propes An equation rlnip et (x+1)(x-1) T (x+D)(x-1)
inequation fraction <<\ fraction
)
xed xeg A xEAQ\-ﬁJ xed If xeAdn B ,then ixeAnB| 3
and s and ang\l\{éf; and s
xeB x¢ B xeB x¢ B
{¢,a} {¢9.{a}} {a} {9} The power set of an empty setis - Frralfesds | 9
KusF KU i 'Y ¥usly oo ok B¢ 10
Triangles Circles Rectangles Squares A histogram is a set of adjacent.
1+ cos?6 | 1~—tan®d | 1+ tan?§ | 1—sin?@ sec’ @ = 1
4'4;‘9 Y (v e B s 0’( Bl ALl | 12
All equal All unequal Double of &l Radii of a circle are
Half of any
the diameter chord
£ 1 2 F ‘¥ i E - a
¥t Joi St ‘Sine¥e_71’ B unS P send Lol L | 13
Secant Tangent Cosine ) . o ) .
Secantof Tangentof | Cosineof a Sineofa | A line which has two points in common with a circle
circle circle circle circle is called of circle.
1o i1 S S y Lide L Lupusd oS e ,,{-m;e_;u..}_’r 14
: The arc opposite to incongruent Al
P P
erpendicular arallel Congruent | Incongruent shiglesof a circle arc always
_wély:'_hdvuf}“’g&u:fh?_ﬂf_ffu 15
! 4 3 2 How many common tangents can be drawn for two
touching circles?
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ach objective type question as A, B C and D. The choice, which you think, is correct; fill that circle in

front of that question number, Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink rernover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1 |
1—tan?@ | 1+cos%0 | 1 +tan?@ | 1 — sin’@ sec?d = 7 I
Ji..g 7 /!5 WY :F_VLE'KJFE{..«E’.'/(/:.,.B;J(J:J!: 2
An arc Chord Diameter Radius The distance of any point of circle to its centre is called.
Sy y s A ety Ll Kl | 3
Centre Diameter Chord Secant A circle has only one
S ) S S g | Lux FATostZcuim P e iS p S | 4
Over A pair of chords of a circle subtending two congruent
» Parallel lapping Congruent | incongruent | .entral angles is
-Lﬂébdébhdff’é’ﬂu:mﬁw,-“u .5
4 I 3 2 How many comnzﬁ\;\angents can be drawn for
disjoint myg;lqgl
[ XIS
(x+7and | (x-Nand | (x+7Nand | (x-7)and 6‘\;0 7 i BOsLnl P -15x+56 | 6
1S
(x+8) (x-8) (x-8) (x+8) {ya’lm&arfacmrs of x>~ 15X + 56 are
= fadl
le_ﬁ,lrﬂ bl b _,ap.f‘ \L -q_dﬂé/;dbi_.lul.}:_-..ru’ﬂf‘fr £,
Harmonic lg E ~ | The most frequent pccunﬁg observation in a data set
| mean M Made e 7l igcalled.,. - Y ik
S PR, £
¢ ‘J-‘ |". : - Ik .
Ti~1 1, —w I~ | @~ P LOAuenl | 8
Two squaﬁ; roags of unity are.,
\~*-i.' R ha‘{r‘.} -
0 " 1 : 1 e AN Al | o
Sum of cube roots of unity is
1 ke o X |
2 — A3 | - 5 — z —
y2=kxd | yP=x% | y2 = ;,.,z_jc_3 Ify? e = then Iyt /1| 10
by a¥b x4y | a 5 a b _;.;_,:.-f*'f?ﬂa:b*——x:y)’! 11
PR by |a=b 2=y | 505 . .
4 If a:b = x:y,Then invertendo property is:
5 x2+1
- .12
Ax+8 ¢ 8 A Br+cC A B wdﬂJ{‘J ”/d,jJ (x+1)(x-1)
=+l e | Vet | Ve eaEteeT [ rritr—a %R
Partial fractions of —————are of the form
(x+1)(x-1)
o - “ [ e b ABA-1,8)08 | 13
Point (-1, 4) lies in the quadrant.
e 2l L rde et n 0SB S | 14
Subset Smfi:mn Power set Null set The set having only one element is called.
oy Lt ke Sleos et By 2g | 15
Viitiice Mean Mode Mediati The fnealsure. which detefmmes the middle most
observation in a data set is called.
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
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L2002

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
sin @ 1 1 )
- sin @ - sec 8 cot8 = 1
cos @ sin @ cos 6
Ui S0kl L el U Ak £ Lo B L | 2
An arc A chord Diameter Radius The distance of any point of the circle to its centre is called.
a_ﬁ}d‘.;ﬁdf .;.ﬁ.-!-:'f .;H'ﬂ'.u .;Lli"u.; _;.Eb’fc_}uu'b-'..f! 3
Nopointat | Singlepoint | Two points | Three points | A tangentline interects the circle at
all
i _f, Vs J"I.F' /;;' L)'. [ L u:fulfu’;fuw i;.u.r;mc)’-' é_-JU(J:u:‘JJ 4
. A pair of chords of a circle subtending two con, t
Parallel Overlapping | Incongruent | Congruent & égg]‘;nllzz: arad i eneimg gruen
2 L e " . _,q?l_\i-;;?é.l'ﬁ,:slju‘f Seibaid |
5 4 3 2 Angle ifscribed infa semi=circle is -
Py A N
- AN T -
PR YY) ehldied SAslefiie | by o ai}},\{;‘.\fl ELL}U-"(H‘"3X=+ X -3x+2=0=lsls | 6
Quadratic Exponential Radical Reciprocal | An, tion of the form 2x"-3x +7x°~3x+2=0 is
Equation Equation Equation Equation ‘6515\@&*&’ ‘an
[ AN . g
3 -1 1 0 {\:'{\,'~ (j‘,, fmen -ﬁ"_.._.;fvb‘bb/‘..)ﬂbjgém i
(L% | Produet of cube root of unity is.
Real. (P Roots of equation 4X’-4x+ =0 are
Irrational Imaginary Unuah;il Real , equal
FJ{_"‘/"'!J 2 gf) c{_'b': —-ng-u{fc)ﬂbwa:b::c:d\-'ﬂ'—t: 9
rth ;
Consequent pruii:licnal Extremes Means Inaproportiona: b:ic:d,band care called.
x vy xy e wAEZUX iy viw |10
i) xyv - g4
vy x Y The fourth proportional wof X:y:iviw is
Jy{_‘/JF Al /n_-?{!/;’ /..__-al: .rl:.JMJF.{U,LJ‘!!JE}L.?;JLb;g;:ﬁﬁ(ﬁ{ﬂf/ A1
Algebraic A ; An improper A proper A fraction in which the degree of the numerator is greater
relation it i fraction fraction or equal to the degree of denominator is called.
5 5 6 4 _‘LsﬁxlﬂJdﬂFL:{'#‘;L{ 1,23} | .12
The number of elements in power set of {1,2,3} is
-‘L-E‘HJ:D:A U B;UKMJ?‘//?B A )‘I' A3
BuA ) B A
If A and B are disjoint sets, then A U B is equal to
Cueui V-4 11 Jlr’ijuf 2 Jf:"(jur -'é-t‘ljfr ;rm,,tJ’ J [‘-"-” Urad | 14
Paliggen Histogram Un%l‘:tl;ped Grg:tp;ed A data in the form of frequency distribution is called.
¥ le Ll L1 > -cl'_’.":f..f:ﬂ.nff-jlflc.bﬁdpéif ‘X '/:Z‘"{f( 15
Sum of the deviations of the variable ‘X ' from its
Different Same One Zero mean is always

1019- 1022 -55000 (3)
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the siluation.
Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
= o < 5 - rn____,_,,u,j;ga !’L{.JJ.{.‘_}l, 1
90 180 270 360 '

The semi-circumference and the diameter of
a circle both subtend a central angle of

/'4? L& ey A P e b enl Urtun sl 3Lz K | 2
Sector Segment Chord Diameter | The portion of circle between two radii and an arc is called.

The number & SE L i S S e Bon| 3

of methods to solve a quadratic equation is

-b? - 4ac -b’ + dac b® + 4ac b’-4ac' o -¢ {{f;_».::{dﬁb’ax‘+hx+c=0.;,lsu 4

i, w1 1, - L, @ 0,0 JTwosuaerotsoluityare G Ainl 01 | 5
Ifr_’I)'\.> -
. . s o (T v =
u=vk u=wk u=vk :.r—‘rf\ff'.i:_f\_,d If£=—=k.then ,,E:_‘i___k)" 6
(NN L VW
x xyv v o 2\9)_37 Wb Lx yiviwl 7
S\ W . .
vy x J‘-‘T':gv V. The fourth proportional wof x : y : v:wis
LLu#Ed | uHE v | il e x4 25¢ s doxy 16=t1| 8
Three values of x | All values of x | Two Values of x | One value of x| The identity (5x + 4)° = 25x° + 40x + 16 is true for
el X Lk .’.-:6; -& t‘Mn’-’K"L-"I Eul 9
Empty set Set Power set Subset A collection of well defined objects is called
S el i Lo S e tif (xlxeW Ax<101} | 10
Finite set Null set Subset Infinite set | The'set {x|xeW Ax<101} js
. ‘ ; = = I N3 2 e sl Ll bl
u---(.rﬁt E,,-f u;.-"...':—f'.?. 2 J’CP '¢,rfr}':_..’“ JJ yf'y'?{_ SL'{ b3 ,L;L;: 1
- EIEY Sufe AL e
Numrator Denominator Group Number |Arithmetic mean is a measure that determines

the value of the variable under study by dividing
the sum of all the values of the variable by their

2sec’ @ sec’ @ 2cos? @ cosé ST R 12
l+sin@ l-sin@ —
tan & 0 1 i cosec’d —cot’ 0 = 13
® 1 A Z etk 2L St | 14
The symbol for a triangle is denoted by
Afus | Ba - {IBE - B¢ Je by L] 15

No point atall | Single point Two points | Three points |A tangent line interset the circle at

1021-1019- 50000 (3)
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C and D. The cholca which you think Is correct; fill that circle in front of that
the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /=iy A B c D
g b b flesr QL € X" Fald o < . v
1. | Sum ofthe deviations of the variable "X " from Zero One Same Different
its mean is always:
db&bé.ug:tfdf S 2t sl S 7 S 2 &P
2. AT
The arcs opposite to incongruent central
angles of a circle are always: Congruent Perpendicular Incongruent Parallel
3. bl P re i 90° 180° 270° 360°
A complete circle is divided into:
;Uf!i Q{JJ b’.’i#::éﬂ&; ﬁi-s..}l:_fl o 40 E;- b b {f
4. 0P — o)V
Two tangents drawn to a circle from a point A\ e
outside It are of in length: Half " S Q:;\ \ “Equal Double Triple
5. | sec?d= 1<sifl8” | 1+cos’d l+tan’@ | 1-tan’d
n' o [~
il T O
supdbrveBale |0
6. | How many tangents can be drawn from a point, \ [ 1 - 3 4
outside the clrcle? R %
-(f'-—.il‘l;éu.l))b': ax® +bx+c=0 46‘6?@4?&4:::
7. | The number of terms in a standard quadratic J B 3 4
equation ax” +bx+c =0 Is:
8. ‘d-h.""gl"’ré"'i —l —o, ~o* -, o -0 -1, -o, 0 1, —w,—a’
Cube roots of -1 are:
9. ..r.;-,u_‘{V..p‘aI;J;L—{} ) 3 | 1 0
Sum of the cube roots of unity is:
10. -4_w/au: a:bey Cj'ﬁ ‘LLH ,Jg{jf» - -
Intheratio a@: b, aiscalled: Relation Antecedent Consequent Proportion |
11. W FERSE XY VW xy w v X
The fourth proportional w of x:yuviwis v x w
2x+1
i) ———
12. (x+1D(x-1) Al =l A =Hl
2x+1 Is: An improper fraction|  An equation Aproperfraction | Anidentity
(x+1)(x—-1)
13, -Q?ﬂfﬁﬁbdﬁd}b“-{ﬂéﬂ‘ d-!dl-i MG; n-*-'fi L
A set with no element is called: Empty set Sub set Singleton set Super set
14. &b ot orat ¢ a {a
Power set of an empty setis: { ] [é [ }} {ﬁ}
15. _4.|:'Jﬁul?i.:-i.-f ¥ .HJL}L’ £ (_?' g slg ,g.." 1l ]
Mean is affected by change in Place Scale Rate value
111-223-1A-41000 * % &
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Note: ~You have four cholces for each objective type question as A, B, C and D. The cholce which you think Is correct; fill that circle In front of that
question number In your answer book. Use marker or pen to fill tha circles. Cutting or filling up two or more circles will result no mark.

SECTION-A Ui.»

Q.1 Questions /=11 A B c D
o b SHUSRE BN Y o FPi o 4 & o
A frequency polygon Is a many sided: Closed figure Rectangle Square Triangle
2. | cosec’@-cot’@ = . -1 0 tand 1
3. RSV ST Y
The symbol for a triangle Is denoted by: £ 4 - n
B U S 3B L e L S . . .. | secant¥eib
4. | A line which has two points In common with a Moe ... aciRe K2 SNGUE K- 26 secantofa
circle Is called: sineofacircle | cosineofacircle | tangentofa circle clrcle
¥+l , .
; e | | Al v |
i X +1 . AP
m'ﬁ- ke nnlmpmpm‘racuo Anldentity | AConstantterm
. a0l aBestidsal it L Gf \ J’ T 3
* | The measure of the extermal angle of a regular \f_,"] - = gl
hexagon ls: “?” L~ 4 6 3
a-flc;-f’d 3 +3" 46 =00l H,ufu bl =l P bl o
T | An equation of the type 3" +3*"+6= 0 I, E‘monenﬂa! Radical Reclprocal Quadratic
a/an; AN N “equation equation equation equation
8. dézmﬁ“ 1, @ 1,-1 L, -@ @, o
Two square roofs of unityare: .
2a}uﬂu’u£.px’ +gx+r iy, S B.e /i
a 2P0 -4 r 2 -4
If @,/ are the roots of px* +gx+r=0, then P P P 2p
sum of the roots 2 and 24 Is:
in L kN
10. - Ll u=wk’ u=vk* u=wk u=vk
If —=—=k then:
vV W
11, Bl Sl s\ L 1,2, 3) P 8 8 g
The number of elements In power set { 1,2, 3} Is: !
- -4.':#f"'{.r|xEH’Ax510]}.&-r T, agl sl LS
The set {x |x € ¥ Ax <101} s called: Infinite set Sub set Null set Finite set
M i$F K737 ﬁ-fq_, 40° s Uil
13. | Anarc subtends a central angle of 40° then the 80" 60” 40 20°
corresponding ehord will subtend a central angle of:
,-q-HIfLJJ.yd:JLF:f i g (..:J(SM; ’ &ﬂv‘i‘i}'}ﬁ:ﬂ? f!.jlf:ﬁi;r‘f
14. i Cumulative
A table Is called: Desa ettt e iy ey
grouped frequency table Is called: distribution polygon distrd
15. by Fxiy et b prLd PS o1 wE
Inaratio x: y, y Iscalled: _ Relation Antecedent Consequent Proportion

ﬁ? 77 112-223-1A-34000 * * %
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Note: ~You have four cholces for each objective type question as A, B, C and D. The cholca which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A (i)

Q.1 Questions /=fi» A B c D
JE_Y 3 A
L 5 Gt u=wk’ u=vk® u=wk u=vk
if £ =X =k then:
v W
?L‘iaxljf}J”jﬁ’fd{—-le-)(Lfﬁ
4 it B N A BiC | 4x+B C | A B
Partial fraction of —— = areofthe | x+1 x*+2 x+1 x*+2 x+1 X422 | x+1 x*+2
(x+1)(x* +2)
form:
3, gbarlralbor b A ;
Power set of an empty set is: ¢ {a} LGN {ﬁ a} e}
" 4bnds ANBinAcB /i v T
If Ac Bthen A B isequalto: 4 --'\ E’\—-" ¢ 4B
I TR ey 1 4 JOTL P X ¢-\ /J»:Jiuﬂfﬁ £ osb
5. | The most frequent occumring observation in a Mean 1 *_Harmonic mean Median Mode
data set s called: A
6. IO, P g 7 05 ol J,j_?\}\' A 1 o
The symbol for a triangle is denoted by: O
N\ ON
7. ap—T L “'{rﬁ =00 45° 60° 30°
If tan&=+/3 then @ isequalto: _ (;\\
4 bs m{i‘c@dﬂnf' beal S5 RS wk
8. | The spread or scatterness of observations in a Average Dispersion Central tendency Mode
data set Is called:
. bW B ST fe i Uk Ju 7 J
Aline intersecting a circle is called: Secant Tangent Chord Diameter
S p87335% 50 40° ST pHU I
‘é‘b‘“ o -] o o
10.
An arc subtends a central angle of 40° then the| - £ = &
comesponding chord will subtend a central
angle of:
11. -4-kn Ll e b L] SF:H' 73 . 7,
A circle has only one: Secant Chord Diameter Centre
oo EUAS o +bx+e =0 bl an
12. | The number of terms in a standard quadratic 1 2 3 4
equation @x® +bx+c =0 Is:
13, —4-#""&'&'&“’-3“ 0 1 -1 3
Sum of the cube roots of unity is:
2aTun Sl —x-1=0 svira, B /i
14, bt AL N20 -2 2 4 -4
if «,f are the roots of x> —x—~1=0 then
product of the roots 2a and 24 is:
AL " "B S abucid ok o oy g b1 A
15. inaproportion a:b::c:d, "b"and "c"are Means Extremes Fourth proportion | Third proportion
called:

109-222-A-45000 H* %
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Note: -You hlvafumm'hr_omwjmwmﬁ&&cmd D. The choice which you think Is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A s~

Q.1 Questions /=il A B c D
Mg O ownsikped Sin L S8 2t F bl |
‘ x cbldlied bl cbbgf | uddfety)
1. | An equation, which remains unchanged whenx Is |  Exponential | Radical equation Reciprocal None of these
replaced by - s called a/an: equation equation
X
2, : AL A 0 1 -1 3
Product of the cube roots of unity is:
S 2a ;‘u:ruj:;é.':. pxz +gx+r=0cil f,a A
3. teti2p| 4 roa -2 -
If @,/ are the roots of px’ +gx+r=0, then p Q‘j 1 P ?
sum of the roots 2¢ and 23 is: a2
; ™ MEI T
4. bWl at Lahed o ”3*\;\ ;‘) 2 A Pison et
Inaratio a:b, "a"iscalled: Relation—)*|  Antecedent Consequent None of these
5. *4"‘:"’5 fﬁ‘ yl sl % . ,inﬁﬁj xgy; zi l}l
The third proportional of x* and y*is: Ota % x?
6. A3 =GR g f il S el
(x+3)* =x* +6x+9 is: o) a linear equation an equation an identity None of these
7. ol o FaTi S Ll 2k 4 4
The set having only one element is called: Power set Null set Sub set Singleton set
8. (A AL Au(BuC) An(BuC) (AuB)NC An(BNC)
(4uB)UC isequal to:
_.q.-aﬂ-r( #dbd.i'._; ;uk}:—-,fu::ffli{ b ol .I-‘.lfn—ﬁ'fﬁ bl
9. | The most frequent occurring observation in a data Median Mode Harmonic mean Mean
set is called:
ket e S U i Akl 250 i (5 Ll
10. | The observation that divide a data set into four Quartile Decile Percentile Median
equal parts is called:
i sin& 1 1
11. = 5 H = e
mcchoater " " cos8 siné cos
12. ,;z;nuéf_.-_}b&._ﬁ ow‘“’; the Az el Lsfd-.?:tf g Aapld
Radii of a circle are: e Allunequal | Halfofanychord |  All equal
diameter
13. _.;;_L-:r__ﬁ-..ﬁa,-f.:..}b...ﬁ db’b" 73 b ” ,l"
Acircle has only one: Secant Chord Centre Diameter
4k ST E AL T ; . i ;
14. | The semi circumference and the diameter of a 90 180 270 360
circle both subtend a central angle of:
15. ..4.‘;11'(&:"".-}& 73 Y » -y
The circumference of a circle is called: Chord Segment Boundary Area

110-222-A-38000
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Paper : 10 Group: I Objective J:r ua;:.r;/ O: 44
Time : 20 Minutes (M L 20 &J
Marks : 15 PaperCode [ 7 |1 /9| 1 | Swi=G§/-2.) 15: 4

Ty | nﬁﬁfdﬁ/’b&lﬂ'Lvlkyﬂngﬁuﬁbﬁ:@:&b&dfrﬁ.;dﬁix.w.":é,;D #C,B.A ..::.H.t;.-“*ﬁdlrﬁ -ad
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Note: -You have four cholces for each objective typa question as A, B, C and D. The cholce which you think Is comect; fill that circle In front of that
guestion number In your Bnswer book. Use marker or pen 1o fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 QuaallanJ Ity A B Cc D
g Al
1, 4&,@?6 Gan bx+c=0,b20 | ax® +bx+c=0,a20 | ax*=bx,a#0 | ax’=0,a#0
Standard form of quadratic equation is:
_P.,G' bad =1
2, Al -1, ~w, -@" -1, m, -a -1, -w, & l, -, -o*
Cube roots of -1 are:
1 1
'4-'“;*-3 I 1 1 a-pf a+f
3 = E- NG b M
LI T equal to: @ a f af af
a f
Juecv? /i
4 - u=v* u=k'* w' =k w’ =1
if wocv?, then:
g inaib=x:y/l b “_x,?;’;‘ | atb_x+y | a-b_x-y
5. kT 7 T 0D ol -
if a:b=x:y,hen alternando property is: L b (AN < b y x y
N A
?daﬁéfju{:f{jmgﬁ o ‘\,2\:1 I"|I<’
NN A B [N\a B A Bx+C | Ax+B C
6. e A R + +
Partial fractions of are of x=1 x+21\ 2/ x-1 x+2 x-1 x+2 x=-1 x+2
(x-1)(x+2) PNl
the form: (7 v
e form: T,
. (1 l:n.\; \:l\. -
-gbnii dNBIinAC B/ (\,‘f\; 4
7. NV A AUB
If A< B,then A B is gqual to: R
Yy U(Hw(ﬁ\\ o)
8. Qv 7| 4U(BUC) AN(BNC) (AnB)U(ARC) | (4uB)A(4uC)
AU(BNC)is equal to: 2
o & WU RET 01 ol 87 d:w‘ Fi &
’ A frequency polygon is a jnany sided: circle ___rectangle closed figure triangle
O __eeilis /i) e P dy P, b
10. :
A deviation is defined as a difference of Bsinstoait histagram e i
any value of the variable from a:
1 o 1 1 J3
—cosec45s = e R 2o
%12 242 2 2 5
bl F oS ) . .
12. sl 90° 180 270 360
A complete circle is divided Into:
JULGPJUE.#JJdPﬁa!JLQFB_Q '
AL re e 414 £ I';g;f
13. v
Two tangents drawn to a dircle from a half equal double triple
point outside It are of in length.
Mot ai§S ¥4 60° L' (8g (
14, | if an arc of a circle subtends a central angle 20° 40° 60° 80°
of 60°, then the corresporjding chord of
the arc will make the central angle of:
..o:;-hl'.;:h'u“ Ve s n 3 n x
15. 5 g o =
Angle inscribed in a semi-gircle is: 2 3 4 5
5% poA e el pm 108-221-A-49000 *
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Marks : 15 PaperCode |7 | 1|9| 2 | S} =3/ 15: A
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question number in yourianswer book. Use marker or pen to fiil the circles. Cutting or filling up two or more circles will result no mark.
Q1 Questjons /=i ¥ A B C D
. |
1. | An equation which renjains unchanged when x is exponential reciprocal radical equation relation
replaced byi is called a/an: equation equation
X
e S L2 LN
2 0 1 -1 3
Product of cube roots gf unity is:
1 1
sl —+—
a 1 11 a-pf a+pf
3. ¥ T i
LS. equal to: = & f af af
a_ p
.4-*’5‘/4‘ y: M x" yl 1\12L\:;.\1 y‘ yl
The third proportional af x*and y* is: x* a ,;\EQK x* %
N
et g7 Inl =L x5
5 i b d a _,g:-(‘\_‘;- “a _ ¢ ad a-b c-d
a ¢ ?1' AT i = = —
If —=—,then mmponFndo property is: a"{?f‘ _h/*d a-b c-d be b d
b d (a0
- e 41 q0) -
T (x-l)ggﬂ:@ Y RIS A Ty Hu S
6. 3 A
ot is alan: 5:\\“ ) & proper fraction | improper fraction identity constant term
(x-1)(x+2) A~
0
, -rrénuéua)ﬁz_i_fgu&f 1 \
3 4
The different number of ways to describe a set are:
. ledeAnBInAcB /i :
. A
it AC B, then A B id equal to: 2 AVB
o L’*bd{j“rd”’cﬂru} sl = G87, P A5y
' I:;s.zr::dc::;::?mms of observations ina average | range central tendency dispersion
10 o |_SWusmELEN Y 6o P ol b e
) A frequency polygon is g many sided: closed figure rectangle circle triangle
n.|20°= 360 630 1200’ 3600’
g bble Z fe S’ ]
2. EL 9 180° 270° 360°
A complete circle is divided into:
3 -ana-gia/l’;.-ib_ﬁ AT 73 Y. iy
13.
A circle has only one: secant chord diameter cantre
W TLENS I U TS 4P SO0 Da I Je S 2 G o
" The arcs opposite to incgngruent central angles congruent incongruent parallel perpendicular
of a circle are always:
&5 MW Tt ) & S 4’3
15.
The circumference of a circle is called: chord segment boundary tangent

] F W 110-221-A41000  *
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two

Or more ~ie=izs= il emmnll in ==~ ~ark in that question.
1. 1. Aset Q'{;F‘-b € Zhb*o} is called a set of -t ..*..gQ={§fa,bE Zab= 0} 11
natural numbers sl (a3 (B) whole numbers ,lel J‘r (A)
rational numbers st b (D) irrational numbers el Pt Z  (C)
/" 2. The number of elements in power set {1,2,3} is ' ..q...J.ﬂ' Sfukn £ or a £ {1,2.3} -2
9 (D) 8 (C) 6 (B) 4 (A)

3. The extent of variation between two extreme observations of a data - 73L/ J) £ =L J@1 § s ¢ -3
set is measured by
dispersion & (D) quartiles = J.Az (C) range =~ (B) average L~ (A)

37 _ 3z
4 a radian = = ofLs & b

30° (D) 150° (©) 135° (B) 115" (A)
~ Locus of a point in a plane equidistant from a ...:,-..I.'Uf Urg &2 die .B‘H' uffi: < ¥ b8 0 Ly 5

" fixed point is called 4
: r‘\_ _,1‘ ‘
diameter ¥ (D) circumference i# (C) of:?i/ w7y (B) radius e (A)
6. cosec’@—cot’ @ = " i:g“*\\c cosec’ @—cot’ 6= _g
N
tan & 1y N

() 0 (‘-..-:"L‘r@] 1 (8) 1 (A)

7. A tanget line intersects the circle at "'\{‘J‘f - s f‘_zu._.rvs ..{ .

no point at all L& 5% 55" (D) single point ¢ m‘c}.ﬁ (C)two points ¢ 48 1 (B) three points ¢+ <& (A)

8. The length of a chord and the radml {‘iﬂ\)}’a‘ u‘.{r W Ea 2 s ele WS s 23 Ly £ .8
segment of a circle are congrumg \J‘he centrai angle made by the chord will be

75° (SN} N (C) 45° (® 30 (A)
8. The measure of the external angle of a regular hexagon is > J.rr .;I,G'J &ali Jw Py -]
z L L x

2 (D) 6 (<) a (B) 3 (A)

10. Standard form of quadratic equation is ...,-..J’ Uolns g bl a3 =10
ax*=0,a=0 () a’=bx, a#0 () a’+bxr+c=0 , az0 gbx+c=0,b=0 (4

11. Product of cube roots of unity is v P sl S0 11
3 (D) - (C) 1 (B) 0 (A)

12, If b* —dac <0 |, then the roots of Bl Lax +bx+c=0 =i b —dac<0 S _12

ax’ +bx+c=0 are
equal Ssis (D) imaginary ¥ # (C) rational J*t (B) irrational JtZd (A)

1 1
130 ¢ J’z"‘:;‘:" then ?J’z‘*;,'ﬁ -13
1 k
yi=kd o y=x* (¢ V== (@ ¥ =y A)
X
a c ) a c
14. ¢ 3~ 4 then componendo property is et ST I 3= 14
a—b=c-—d .ai a __ ¢ a ¢
b d ® 5% © o F%—ad ® 7 crd ()

15. A fraction in which the degree of the numerator -.,:.Jﬁr"-'.n.cujg ki apn L8 F a0 € 1 LU ~ .15
is greater or equal to the degree of denominator is called a / an

identity wlle (D) equation =i\~ (C) improper fraction ,-f.,.:.u /2 (B) proper fraction / 21y (A)

109 - 219 - 35000 e



e Roll No. SWL _____ Annual 201
Mathematics ( Science Group ) (Ul « IT L f.4L) (IIT) (-f:..?"i.—) "
Paper : II Group: IT Objective ((5%5>) v/l IL: gy
Time : 20 Minutes Code : 7986 < 20 =
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Note:- You have four choices for each objeclive type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles will result in zero mark in that question. _

1 -1. The range of R ={(1)3)|(21 2)-(3;1), (4, 4)} is -{_I}.r! Range R7Y » R= {(1.3). (2,2),(3,1),(4, 4)} j'; 1.1

{1,2,3,4) ©) {1L3,4} (32,4} (g {1,2,4} &
2. Mean is affected by change in U .L/Q.-,F bl Qo -2
place & (D) origin 4l IG:' (C) ratio = (B) value =d A
3. lc038c45' = lt'x)sm::-‘-i»S" = -3
J3 1 1
> ©® 7 © Y2 @ 37 (&)

* 1 1 1 1 4
. -+ = -+ = -
l+sin@ 1-siné& 1+sin@ 1-siné

cos @ (D) sec’@ () 2cos’é@ (B) 2sec’d (A)
5. The symbol used for a triangle is _.q..ljn.-_)lr'-"* e ﬁ_’.l..l-“ =5
- (©) = (©) ¢ A5 ® < ()
6. Two tangents drawn to a circle from a point Sl = nMJ@bVZ .5;‘ e B0s & ik g
outside it are of in length. A\ ©
- < ’g‘x\-} |
tripple ¢ & (D) double &5 (C) I,;;{}_é.&ar £z (B) half - (A)
7. A pair of chords of a circle subtending two mngmnﬁ}’&}ﬁn LA s S ahd ol & 82y Jio o <7
central angles is ,}‘;\v
oy = : =
parallel ($s# (D) over Iappiaq(:\;fll 17 (C) incongruent Jia'-'/-_’ (B) congruent J‘ = (A)
8 Aline intersecting a circle is called \}- et BT S -8
secant 0 & (D) _cldiameter &  (C) chord 7 (B) tangent UV (A)
_-("*". \ o
® The quadratic formula is ) g - Urdi G L9
~b+/b? +4dac b+ Jb* +4ac b+ Jb* —4dac btk —4ac
= (D) *=TR¥5_  (C)*™ B) X =" —5_— (A
2a 2a 2a 2a
10. Sum of the cube roots of unity is -e;_.;rf Fosl s LYK <10
3 (D) -1 (<) 1 (B) 0 (A)
11. 1f @, 5 are the roots of 3x* +5x—2=0 car e @+ B Un Sl 3x +5x=2=02m Bia fi _14
then o + is
S 3 . |2 5
3 (D) 3 (C) 3 (B) 3 (A)
12. The fourth proportional W of X:V I Viw jg - W Buz LXIyn viw 12
vy d xy
. m o — B —
(D) - (€) v (B) u,, ) (A)
u v
i If:"';:k then 7 :zzz‘kﬁ <18
u = wk’ @  u=vik © u=wk (@ u=vk'
2x+1 2x+1 14
W GeDE-1) sefn . % ——f GIDG-D
improper fradtion 2 # (D) properfraction ~ 2 (C) identity =L’ (B) equation =i~ (A)
15. A set with no element is called - rurf-'x.;a: e e <15

empty sat <+ b (D) superset ~»- j (C) singleton set .:-;-Cf (B8) subset L Cf? (A)
110 - 219 - 25000 rirdr



